./// x,vlyzcockr @@ﬂ@ New Leader in

Pneumatic & Automation
Technology




PG2-06

=

//

D=l
% PG2-06
YSV10-DP-L-** YSV11-DP-L-**
2 2

BN BN

PG2-06

** :\Voltage Selection

ORDERING NO.

SPECIFICATION

SERIES YSV10 YSVI1
R FUNCTION 3/2-N.C 3/2-N.O0
Fluids Compressed Air & Inert Gases
Pressure(bar) 1~8.0
Orifice(mm ) P=906, R=080.7
Ambient & Fluid Temp. 5~60°C (41 ~140°F)
Response Time(5bar) 10ms or Less
Max. Working Frequency 30c/sec
Lubrication Not Required(Use 1SO VG324 )
Manual Override Push Button

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

10% of Rated Voltage

Power Consumption

0.65W(24V : 27.0mA / 12V : 54.0mA)

Transition Capacity Graph

30
= % //
€ 20 — —
S —
S5 T
0
1 2 3 4 5 6 7 8
Pressure (bar)
The Material of Parts
Pilot Parts : Glass Filled Nylon
Spring : Stainless
Seals : NBR

Armature : Stainless Steel
Indicator Cap : Polycarbonate

Plug Connector With Clip Blanking Plate (Material : STS304)

==
<

Ordering Code
YMF10 - BLK

Ordering Code
PG2-06 (L @ 600m)
PG2-10 ( L : 1.000mm)

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

oll-HH-H-B

[ [
Valve Series Function

|
Pilot Source Manual Operator Solenoid Coil Type Voltage
YSV] , 0 3/2 Normally Closed D Direct P Push L 90 Degree Plug-in Wire D4 DC 24V
' Spring Return Operated Non-Locking Assembly With LED D2 DC 12V
Solenoid Valve :
1 3/2 Normally Open M 180 Degree Plug-in Wire
Spring Return Assembly With LED




Direct Solenoid Actuated Valves

%%VTNZ

10mm Pico

Manual Button

Manual Button
Red
—— - 7
{4 - er=—" [
9 9 P —_—— A i
o oo
Black
6.0 6.0]
.5 .5
AWG24
J
o U 9
b g
g
g 1
B ,
|
I ]
F;fj i |
e - fon =¥ 9 ol
hil 3 B o g
o ‘ o ‘ 2
| ) 9 |
Iz = | R = | -
‘ ‘
szﬂ.ho.ss//w-I 28.5 )u 28.5
319 2-M1.7x0.35
35.9 600
6.0 6.0 6.0
2.8 1'\ 2.8 2.8 ‘ wﬂu‘ 2.8 2.8 1\'0 2.8
D D P|
F?ﬁ\i,i,EL . F??fp,ij{
(EaEiES, e
af \ b
P(1)- R(3 R(3: P(1 P(1)- “R(3)
WAL @ 5PN AA

YSV10-DP-L-#*
Normally Closed Type

YSV10-DP-M—**
Normally Closed Type

YSV11-DP—t—#
Normally Open Type

Red—‘ '—B\uck

2.8

&1
el
DI
53]
‘
Ly

R(3)-

YSV11-DP-L—#*
Normally Open Type

2 2 2 2
6.0
YSV10-DP-L—** % 2s, 1P 28
T EFRESES
YSV10-DP-M—**
op E I 5
YMF10-BLK 0.5 7.0 0.5
Blanking Plate
Gastet (Sealing Area) ] i . .
Manifold Block Ordering Code Blanking Plate Ordering Code
YMF 10 - 2 YMF10-BLK
YMF10-M04 —
= — @ Blanking Plate.
~otatl (Material: STS304)
YMF10 MANIFOLD BLOCK weo [ o e S
06 6-Station

(YSV10 Solenoid Valve Use) 8

8-Station

10 10-Station
12 12-Station

Manifold Gasket.
(Material: NBR)

§

A=

A0 46 40 40 80 06 o6 Wemyel Butem 14 | 14-Staton
E%IH%%'H% ?H%ﬂ 2-96.0 DP3.0 -
83.2 Hole
_— | =5 =] [Es] B [Ea] B [Es)
© i tr 62:0 o
P### S T e e | |
40 B=(10.5n+11.5) e . w0 Normally Closed Type Normally Open Type
A=(10.5n+19.5)
. AWG24 . AWG24
Red  Black H H
¥ K| K
00 00 00 00 00 00 018 - 8
iblasteslealitlisles
ajunyunfunfunyunfu| [
S I NH NH NH NH £ e . oo .
RN 2 ]2 ) 8 ) ) 8 o 6 ) ) I3 i
b e/ I I ol ¥ R
A A A A A A A A A A A A A A 4 < e 77€ = 2
%66666666066606 118 TR :
P=10.5 __‘ 15.0 o .LO};B 2—M5x0.8(R—Port) 2 ,LO‘?B 2-M5x0.8(P—Port)
25.0 25.0
A2) A(2)
3-PORT MANIFOLD BLOCK DIMENSION n=STATION
e 3 4 5 6 7 8 9 10 [ 11 ] 2] 18| 14
8 | 325 430 | 535 | 64.0 | 745 | 85.0 [ 955 [106.0 | 116.5 [127.0 [ 137.5 | 148.0 | 158.5 P R()
A | 405 | 510 | 615 | 720 | 825 | 93.0 [ 1085 |114.0 | 124.5 [135.0 [ 1455 | 156.0 | 166.5 e P(1)

YPC



YS\QEO—DP—SD—** YS\éZO*DP*SC*CNW i

YSV20-DP-SM-+* YSV20-DP-SL-**

== Voltage Selection

ORDERING NO.

SPECIFICATION

SERIES YSV20
ITEM FUNCTION 3/2-N.C
Fluids Compressed Air & Inert Gases
Pressure(bar) 0~8.0
Orifice(mm ) P=¢1.1, R=0615
Ambient & Fluid Temp. 5~60C (41 ~140°F)

Response Time(5bar)

20ms or Less

Max. Working Frequency

10c/sec

Lubrication

Not Required(Use I1SO VG32#)

Manual Override

Push Button

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

AC:3.5VA(B0Hz) / DC:2.5W

Transition Capacity Graph

60
50
Ex —
Z 2 —1
j=y Il
S 10 — —
0
1 2 3 4 5 6 7 8
Pressure (bar)
The Material of Parts
m Pilot Parts : Glass Filled Nylon m | ead Wire : AWG-no.24
m Spring : Stainless m | ead Wire Packing : Viton
m Seals : NBR
m Armature : Stainless Steel
m |ndicator Cap : Polycarbonate

Plug Connector With Clip Blanking Plate (Material : STS304)

Ordering Code
YMF20 - BLK

Ordering Code
PG2-06 ( L : 600mm)
PG2-10 (L : 1,000mm)

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

J
[ [
P

YSV2:

| |
] ] ]
Solenoid Coail Type Connector Type Voltoge
0 0 0

Solenoid Valve

0 3/2 Normally Closed D Direct Push None None None
| Spring Return | Operated Non-Locking SC |3 Pin Connector Coil CN1 | Normal Connector A2 AC 220V
SG | Grommet /Flying Leads ~ CD1 | Cornnector With LED Al AC 110V
SD | Grommet /Flying Leads ~ CZ1 Cornnector With LED D4 DC 24v
With LED & Surge Suppressor D2 DC 12V

SL | 90 Degree Plug-in
Wire Assembly with LED

SM | 180 Degree Plug-in
Wire Assembly with LED




@gﬁ YP

15mm Micro

{5 o0
B 7 I
INd|
1-8.2 | Manual Button
515 max10.0
9|
9|
2-91.4 H
P
: E
: ]
= <
o : =} V;
i 3 ‘ wir\\
o B of
s 3 | | I I
i | | | i |
i - w
2-M3x0.5 Lﬂ.} 42.0
42.0 15.0 Normally Closed Type YSV20-DP-SC-CN1—%
Normally Closed
2
A@) WA kg
P(1) R(3) T3
- — PG2-06/PG2-10 W
YSV20-DP-SD—** |/~2-3.2 Hole(M3x0.5) ==
Normally Closed
2 3 as|
WAL o P i
13 k2 g |
|
3—981.8 Hole w
42.0
YSV20-DP-SM—*x
Normally Closed
Sealing Area 2
a T3
o \
24 |
|
42.0 . - a o
Manifold Block Ordering Code Blanking Plate Ordering Code
YSV20-DP-SL—*
Normally Closed - YMF20-BLK
) YMF 20 2
h
02 | 2-Station /
YMF20 3 Way Blanking Plate
04 | 4-Station (Material: STS304)
YMF20 MANIFOLD BLOCK e S
08 | 8-Station @
—_— / =
q o 10 | 10-Station
(\¢ SV20 Solenoid Valve Use) g 2 osmion Marifold Plate Manifold Gasket.
H _— (Material:STS304) (Material: NBR)
14 | 14-Station
22045 Holom |
ol of
3 E
q|
o 4
g
45 B=(16.0n+18.0) 45
A=(16.0n+27.0) 56.0 max10.0
of
= 6l /a(P(w)—Poro\ ﬁb o
5
|
o !
< T RL!‘T’V*
E @ 1
RS @\ il
S Sy
n—M5xD.8(A(2)—Port) F=16.0 215 5.9 13.2 ‘ N-G1,/8(R(3)—Port)
34.0
3-PORT MANIFOLD BLOCK DIMENSION n=STATION
e 2 4 6 8 10 12 14
8 | 50.0 | 820 | 114.0 | 146.0 | 178.0 | 210.0 242.0
A | 59.0 [ 910 [128.0 [ 155.0] 187.0 | 219.0 [ 251.0




YSV200. M5

R(3)PORT

A(2) PORT

YSV211-DP-SM1—*x YSV211-DP-SC1-CN1—*x

AN AN
31 31

P (1) PORT

A(2) PORT

YSV221-DP- YSV221-DP-SD1-** YSV221-DP-SL1-+* YSV221-DP-SC1-CN1=**
31 31 31 31

*x:\Voltage Selection (see page 80)

ORDERING NO.

Ysv2 1

J
[ [
Valve Series Function

| —

SPECIFICATION

SERIES YSV211 YSV221
R FUNCTION 3/2-N.C 3/2-N.0
Fluids Compressed Air & Inert Gases
Pressure(bar) 0~8.0
Orifice(mn ) P=91.1, R=012 | P=012 R=011
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

20ms or Less

Max. Working Frequency

8c/sec

Lubrication

Not Required(Use I1SO VG32#)

Manual Override

Push Button(Standard), Lever Lock(Option)

Cail Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

AC:3.5VA(60Hz) / DC:2.5W

60

Transition Capacity Graph

50
40

30

20

Qn (¢ /min)

10

4 5
Pressure (bar)

Valve Body : Aluminium

Pilot Plate :
Spring : Stainless
Seals @ NBR

The Material of Parts

Pilot Parts : Glass Filled Nylon
Zinc Pressure Die-Cast

m Armature : Stainless Steel
m Armature Seals : Viton

Plug Connector With Clip

i
N1

Ordering Code
PG2-06 ( L @ 600mm)
PG2-10 (L : 1.000mm)

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

|—I
0

YSV2:

| |
] ] ]
Port Size & Thread Pilot Source Manual Operator [l Solenoid Coil Type  Connector Type
P 0 0

Solenoid Valve

1 3/2 Normally Closed 1 M5x0.8 D Direct Push None None None
Spring Return 2 | 10-32 UNF Operated Non-Locking Override  SC1[3 Pin Connector Coil ~ CN1| Normal Connector A2 | AC 220V
2 3/2 Normally Open L | LeverLocking Override ~ SG1| Grommet/Flying Leads  CD1| Cornnector With LED Al [ AC 110V
Spring Return SD1| Grommet/Flying Leads ~ CZ1| Cornnector With LED A4 | AC 24V
— With LED & Surge Suppressor D4 | DC 24V
SL1|90 Degree Plug-in D2 | DC 12v
Wire Assembly with LED
SM1| 180 Degree Plug-in
Wire Assembly with LED




‘/// YPC

Direct Solenoid Actuated Valves Port Thread M5 X 0.8

il
7.

\4}23
i

o1 NC | NO
—r U ‘ X P(1) | R(3)
2-03.5 Hole e Y A | AQ) 2-93.5 Hole L1 4.0
z R(3) P(1) 60.0
9
=
34.3 ) 400+10.0 ﬂ%}i
, <
RNINAN g T |
S 1O
E ! E ‘ 3
P | Manual Button 3 | i MX0.8
‘ 1 ‘ 1 2-M3x0.5 Y
0 | ) |
I P EA ) w3 Pl E=4 ) A
A e & N (BE & B
7 === i =N P 2]
3 E
2-M5x0.8 "X” 16.0 ! 25 2-M5x0.8 "X~ 16.0 “ 25
31.0 310
60.0
YSV211-DP-SG1—* YSV221-DP-SG1-** YSV211-DP-SC1-CN1-»* YSV221-DP-SC1-CN1-**
Normally Closed Normally Open Normally Closed Normally Open
31 31 31 31
PG2-06/PG2-10 PG2-06/PG2-10
37.5 ) 400£10.0
4 15
4 1 [T oo
m— | = |
3 3 ; 3 Y
. \‘ . \‘ i . \‘ i
o A o Pl Qo =
5 ) = 3 =
- | 7 P 7 A= |
3 2 e
2-M5x0.8 X" |-16.0 | 25 2-M5x0.8 X" 160 | 2-M5x0.8 "X -16.0 | !
31.0 31.0 31.0
39.5
YSV211-DP-SD1—x* YSV221-DP-SD1—x YSV211-DP-SL1-**  YSV221-DP-SL1-*x YSV211-DP-SM1—»* YSV221-DP-SM1-x+
Normally Closed Normally Open Normally Closed Normally Open Normally Closed Normally Open
2 2 2 2 2 2
QAN WA T QAN AN WIANS I AN
31 31 31 31 31 31
A=(18.0x(n—1))+20.8
6.8 B=(18.0x(n—1))+8.0 6.0
&
T |
ad ‘ ! : : ! !
| i
o ( i |
T LHdldlelelelelelele
[ ; T T i [
BB EE ‘ i i i \n—M5xD 8"z
gg gg Y¢ 0d
o ] .
S E
g g
9
o 9
3 5
3
gl
|
B3] P=18.0 n=M5x0.8 " 150 2-M5x0.8 "X"
A, B = DIMENSIONS n = STATION
TEm—0 p 3 7 5 6 7 8 9 10
A 38.8 56.8 74.8 92.8 110.8 128.8 146.8 164.8 182.8
B 26.0 44.0 62.0 80.0 98.0 116.0 134.0 152.0 170.0




YSV300. 1/8

R(3) PORT

YSV311-DP- YSV311-DL-SG2-#* YSV311-DP-SD2-* YSV311-DP-SC2-CN2—#*
31 31 31 31
P(1)PORT

*x:\Voltage Selection (see page 80)

ORDERING NO.

[ [
Function Port Size & Thread

YSV321-DP-SD2-*

YSV321-DP-SC2-CN2-#*

YSV311-DP-SG2-#*
YSV311-DP-SD2-#*
YSV311-DP-SC2-CN2-#*

SPECIFICATION

SERIES YSV311 YSV321
R FUNCTION 3/2-N.C 3/2-N.O0
Fluids Compressed Air & Inert Gases
Pressure(bar) 0~8.0
Orifice(mn ) P=915 R=015 | P=015 R=015
Ambient & Fluid Temp. 5~60°C (41~140°F)

Response Time(5bar)

20ms or Less

Max. Working Frequency

8c/sec

Lubrication

Not Required(Use I1SO VG32#)

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

AC:3.5VA(60Hz) / DC:2.5W

120

Transition Capacity Graph

100

80
60

40

Qn (I /min)

20

4 5 6 7 8
Pressure (bar)

m Valve Body : Aluminium
m Pilot Parts :
m Pilot Plate :
m Spring @ Stainless
m Seals : NBR

Glass Filled Nylon
Zinc Pressure Die-Cast

The Material of Parts

® Armature : Stainless Steel
® Armature Seals : Viton

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

vova (41 14 - 01 B - 5 - o - e

1

YSV3:

3/2 Normally Closed
Spring Return

| |
]
Pilot Source Manual Operator
P

|
] ]
Solenoid Coil Type  Connector Type Voltage
0 0 0

lenoid Valve
Solenoid Valve Z

3/2 Normally Open
Spring Return

1 G1/8 D Direct Push Non-Locking None None None
2 | NPT1/8 | Operated Override SC2| 3 Pin Connector Coll ~ CN2| Normal Connector A2 | AC 220V
L Lever Locking SG2| Grommet/Flying Leads CD2 | Cornnector With LED ~ Al AC 110V
Override SD2| Grommet/Flying Leads CZ2 | Cornnector With LED A4 | AC 24V
— With LED & Surge Suppressor D4 | DC 24V
% DC 12v




Direct Solenoid Actuated Valves

‘/// YPC

Port Thread 1/8

M5x0.8 "Z"
2-04.5 Hole
[
N m} 0 = ! e[ NG N.O
RN \\j 1| === & PORT ! I
*’F} L . X P(1) R(3)
i
‘ Y A(2) | A2)
2.5 21.5 7 R(3) P(W)
400£10.0
[TNIHINN] [TTLTT
= 00
3 |
o Manual Button
I
9 ‘ L ! G1/8 "Y"
) ‘ j} 27M3x0,5\ (b M5x0.8 "Z"
| } I 2-64.5 Hole
9 @P =i J R @A ‘
B g 2 \
il s el % :
SE Bl 8
o1/8 0] 23.0 13.5 ‘ h 75 L\\J
41.5 = ‘
2.5 21.5 50.0
YSV310-DP-SD2-** YSV320-DP-SD2—** 74.0
Normally Closed Normally Open
2 2
WIAN. UANIN. 9
31 31 s % 22,0
£
[TTTTT
400£10.0 ==
1
[TTRITT (T [T |
| = |
! % Manual Eu((or\\ ! ! D Manual Bu(mn\
| g | | e
g G1/8 "Y" g IN G1/8 "Y”
) \ \ ) \ N
; o 2-M3x0.5 1 | h 2-M3x0.5 &
T F . I -
i 1 Py =S 1 Py
1 T e = e
23.0 13.5 ‘ 23.0 13.5
ci/8 ></ 41.5 61/8 ></ 41.5
YSV310-DP-SG2-* YSV320-DP-SG2-*x YSV310-DP-SC2-CN2—** YSV320-DP-SC2-CN2—x*
Normally Closed Normally Open Normally Closed Normally Open
31 B 31 31
A=(24.8n+4.0)
6.5 B=(24.80—11.2)
il |
T
P JUPU U] U U] :
o5 ﬁR 3R 3R 3[R 3R 3|R 3R 3[R 3R 3R
1 Rle 9)(e)|(e
==t=t=T="=1T A o e Y I Y s O A
il YY 7y
wor/ YW TY T % %
& &
o 9|
g E 74.0
g g
O n o0 Ord Ooren O0rnd [TTTTD
= == = =4 &4 =
T 1 il sl il M —
(LT (L0 (LI T (T (T ‘]J\j/LJ‘w‘/LL\VLJ‘VLJ\j/l ‘ RRTHAAE
olo olo olo @E o E ‘
lolo|e|e ()]
Ci | o e O G O A D O | D i
dllolldlollolldllollo]ollo '
n n n n t | | | | ‘ | )
¢>@A @AQ}@/MD Ad}@Ae} AR KA AR AR LA g p@ E
il id i id id id id d id 1 i
a6 J& [ I I I I ‘
n-G1/8 "Y' — N 2-c1/8 x"
13.5 P=24.8 41.5
A, B = DIMENSIONS n = STATION
ITEm—2 2 3 4 5 6 7 8 9 10
A 53.6 78.4 103.2 128.0 152.8 177.6 202.4 | 227.2 252.0
B 38.4 63.2 88.0 112.8 137.6 162.4 187.2 212.0 236.8







MOCS serics

MCS100
SF1000, SF2000
Solenoid Valve
MOUNTED

EMCS100
EMCS200
mEMCS400

LA
P

=
g

MCS200
SF2000
Solenoid Valve
MOUNTED

\ o MCS400
SF4000

A Solenoid Valve
MOUNTED



Wire Color | | Soienod
Black 01| s-01
Brown 02 | s-02
Red 03] s-03
Orange 04 s-04
Yellow 05| s-05
Green 06 | S-06
Blue 07 | s-07
Purple 08 | S-08
Gray 09| s-09
White 10 | s-10
Pink 1] s-1
Light Green 2] s-12
Black/White 13| s-13
Brown/White 14| S-14
Red/White 15
Orange/White | 16
Green/White 17
Blue/White 18
Purple/White 19
Red/White 20
Orange/Black | 21
Yellow/Black 22 = }=
Green/Black 23 = }—
Gray/Black 24
Pink/Black 25] oM =-[COM}—==
D-Sub Connector Pin No.
I MF1500-10
)
Sol 1 (Black D @ Sol 14 (Brown/White)
Sol 2 (Brown) 2 . i
) ® Red/White)
Sol 3 (Red ©) ¢ )
) ©® Orange/White)
Sol 4 (Orange @ . !
) @ Green/White)
Sol 5 (Yellow) ® . :
) (€ Blue/White)
Sol 6 (Green) ® . ’
) @ Purple/White)
Sol 7 (Blue) @) .
) @ Red/Black)
Sol 8 (Purple) ® .
) @ Orange/Black)
Sol 9 (Gray; © .
ite) @ (Yellow/Black)
Sol 10 (White © & (elow Back
Sol 11 (Pink) D4 reen/Blac
Sol 12 (Light Green) ©® % com
E)

Sol 13 (Black/White)

of

(24-Gray/Black)
(25-Pink/Black)

Terminal Box /
MCS100 -T14-D4 /

Terminal Box
MCS100 -T14-DA

94.0 3.0

o o

\_LH

24.0

2-M3x0.5
2-82.5 Hole \

[ o0 &9 oo o9 oo oo oo Gt o))
Y (s e s 0

Eo s el gy

100.0 19.0 1.75
107.0 24.0
114.5

SF1101-IP-SM1—*x
SF1200-IP—SM1—**
SF1303-IP-SM1—*x

With Clip
PG2-01-D
PG2-02-D

Terminal Box
+ Manifold Block
Fixed Bolt

Single D-SUB v

Connector Cable

Ordering Code
MCS100 ~T14-#x

MCS100-SC-10
Terminal Box Plug Connector With Clip Single D-Sub Connector Cable IP40
17.0
fs_q‘ 35.0
Femdle ~ &§— —|[——=

14

Ordering Code
MCS100-SC-1

Ordering Code
PG2-01-D (100mm)

0 (1m)

L=(Cable Length)

UNC NO.4-40

ORDERING NO.

McS1 [0 [0 - [Ti4 - D4
e .

[ [ ]
D—Sub Connector Multipole Wireway Box

Voltage

MCS1:

Multi Connector
Solenoid Valve Mounted

0 Single Module

0 25 Pin D-Sub
Connector

T14 | 14 Station 0 None
D4 | DC 24V
D2 | DC 1V

Plug Connector



@/// YPC

Multi Connector System Solenoid Valve Mounted

SF1000 Series Mounted

2n—M5x0.8
(AB—Port)
148.0
139.5(3—Position) .
o 131.5(Double) b (A=Port)
F —& [ &/ | I |
= Y Bl A% ) ]
RN P YA & =
e Yl | o —
B P ® | g =
Y 4 i T —u
Bl m = & [
Y & 5 o 5
= o R =] 3 5 2 ]
93 Sy = EE g ;
=k =% [ o :
3| Y e — 23 © i
= R = T T A i
X ERrY — | ) I
R ! t
g Y% r—'#:/E P 4% i
I Tt e : &) i
I 14 i L e¥Y 5l —f
Bl = rd d © E:
ERrY i X =
RN i L [t
o[ ==
< g ‘15_0‘ 14-4.5 Hole o 9 soo\f¥27%3 Holel
45.5 < 78.0
87.5

48.0

<
q
9

,7,$ S —
& ol
58 75

T Sol 14
17.0 com
300
4-61/8

104.0 1,000 (P,R—Port) B9.5 1,000
(P.RW,RE:P;{(&)‘
n=STATION n=STATION
w8 |10 | 12| 14 el 8 |10 ] 12 | 14
B |136.0|168.0|200.0 | 232.0 B |136.0 | 168.0 | 200.0 | 232.0
A |144.0]176.0|208.0 | 240.0 A |149.0|181.0 | 213.0 | 245.0
SF2000 Series Mounted
2n—G1/8
(AB—Port)
166.0
162.0(3—Position) n=G1/8
o| 150.5(Double) o (A—Port)
A ] |
e Y BT (Y
BT b P = ¥
i oA o N
BT [P ¥ [[TH i
Al [T Y
i [ & =
Y [T Y
_ Q¥ [ 5 _ ® ¥
25 b [T EE Y
HE AR L del Herw
a2 PanuiF Al I a| 2 i
o 59 e g 29
AT L Y
i I R
o DY ; o Y
< e ‘VU [ & 2 Ia *’u
| %) af X
Ol ER —43
AT — [ Y
R ¥ [T &4 =
& $ ™
| hd
o g ‘ZD’D‘ 4-104.3 Hole o g |29~ N-2-045Hole
s 61.0 R 42.0
105.5 B9.0
= =
4 + + ¢
wowes 0% = =5
. @ 2 J @ @ ) = G

|
o H : t H
S[ A= Sol 14 - Sol 14
cam
? 39.0 oou f 22.0 ‘
42.0

6-G1/4 61.0 470*/4/.—‘ 1,000

(P.R1.R2—Port) (P,R—Port) 005 :

118.5 1,000
n=STATION n=STATION
ol 8 [0 2] 14 ol 8 [0 2] 14
B |161.0]199.0[237.0 2750 B |161.0]199.0[237.0 2750

A |173.0]211.0|249.0 | 287.0 A |173.0]211.0|249.0 | 287.0




Pin | Solenoid

Wire Color No.|  No.
Black 01 | s-01
Brown/White 14 | S-02
Brown 02 | S-03
Red/White 15 S-04
Red 03 | s-05
Orange/White | 16 | S-06
Orange 04 | s-07
Green/White 17 | S-08
Yellow 05 | $-09
Blue/White 18 S-10
Green 06 | S-11
Purple/White 19 | s-12
Blue 07 | s-13
Red/White 20 | S-14
Purple 08 | S-15
Orange/Black | 21 | S-16
Gray 09 | 8-17
Yellow/Black 22| S-18
White 10 S-19
Green/Black 23 | S-20
Light Green 12 | s-21
Gray/Black 24| s-22
Pink/Black 25
Black/White 13 com
Pink 11

Single D-SUB
Connector Cable
MCS25-SC30

Single Module IP40

Coil Fix Plate

Double D-SUB
Connector—-Cable
MCS25-DC-10

/'/ < <
e =)
o QU ‘

%)
)
“9)
!
ﬁ}@‘(@
N2
\ V7

)

7
')
©

=ap%
SUEG)
Y
'\.
\D\V/

SF2303-1P-SC1-D4-MSF200-JC

Blank Station Kit

MSF200-BLK \

MF2500-10

D - SUB Jump Module
MCS200-JM

Single D-SUB /

Connector Cable

Ordering Code
MCS221-T10-D4

(Material : Zinc)

Ordering Code
MCS200-JM

MCS25-SC-10
MCS211-T10-D4
Ordering Code Ordering Code
MCS211-T10-D4 MCS200-CP
Double Module P40 D-Sub Jump Single D-Sub Double D-Sub Blank Station Kit Jump Connector
Module IP40 Connegg__[_gqble P40 Connector Cable IP40 (Material : Zinc) Kit IP40

Blanking Block

Ordering Code

Blanking Plate. %

MCS25-SC-10 (1m) Manifod Gastet

MCS25-SC-30 (3m) Ordering Code

MCS25-SC-50 (5m) MCS25-DC-05 (0.5m) Ordering Code Ordering Code
MCS25-SC-100 (10m) MCS25-DC-10 (10m) MSF200-BLK MSF200-JC

ORDERING NO.

wcse (4 (4 - [To4 - B4
=HH--

SF2000-1/8-5Port
Solenoid Valve Ass'y

[ [ ] ]
D—-Sub Connector Multipole Wireway Box Voltage
0 0

MCS2:

0 None None None 0 None
1 Single Module 1 25 Pin D-Sub TO4 4 Station D4 DC 24v
2 Double Module Connector TO6 6 Station D2 DC 12V
T08 8 Station
T10 10 Station
T12 12 Station
T4 14 Station




N %/ YPC

Multi Connector System SF2000 Sol V/V Mounted

MCS211-T10-D4 MCS221-T10-D4
Manifold Assembly Manifold Assembly
19.0 A=(19.0n+4.5) 25 19.0 A=(19.0n+4.5) 19.0_
1.5 P=19.0 ‘ o 1.5 P=19.0 ‘ o
® o P 7 ©
E DYV VoV YoV Ve B E N A 0
g = ; ; s : s : : kil = : : . : : : : I 3
OO QOOD] |, DO 0ROy i
\zs—Pm D-sub Connector(Male) n—LED Lamp 250 | \—zsfpin D—sub Connector(Male) n—LED Lamp. ‘ ;f‘
3.0 C=(19.0n+21.0)
6. B=(19.0n+9.0) 6.0
ko oo A @mﬂ Blank Station Kit Ordering Code
MSF200-BLK MSF200—JC 26.0 MSF200-BLK
Blank Station Kit N Jump Connector’ 16.0] Blank Station Kit
4-04.5 Hole é,T—GP‘u/j) L@ | u/(x;ﬂ/:ﬂ) (Material: Zinc)
L S NEELTT | g S
Bl Rl B B P ) 5 = *
A IR RR v ]
G & blaol 4 £ o 7§ - (=
) e 14 j}c Dc D@é} i el
8 Ej ® ©
28 e . o
\~ 25-Pin D—Sub Connector(Male) n—LED Lamp Jump Connector Cable Ordering Code
n=STATION MSF200-JC
EW n 4 6 8 10 12 14 Jump Connector
A 80.5 118.5 156.5 194.5 232.5 270.5
B 85.0 123.0 161.0 199.0 237.0 2750
C 97.0 135.0 173.0 211.0 249.0 287.0
D-Sub Connector Pin No.
/an
Y
/\ Single D-Sub Connector Cable Ordering Code
Sol 1 (Black .
Szl 3 EBréci)(\;Nr)l) % @) Sol 2 (Brown/White) 0
Sol 5 (Red) o) (B Sol 4 (Red/White)
Sol 7 (Orange) o) (©) Sol 6 (Orange/White)
Sol 9 (Yellow) & @ Sol 8 (Green/White) .
Sol 11 (Green) & ® Sol 10 (Blue/White) ool
! ® Sol 12 (Purple/White) e
Sol 13 (Blue) ©) 13
Sol 15 (Purple) & @ Sol 14 (Red/Black)
Sol 17 (Gray) ® Q) Sol 16 (Orange/Black) e Noaso | Lot Ly |
Sol 19 (White) @) Sol 18 (Yellow/Black) :
0 ite © @ Sol 20 (Green/Black) MCS25-SC-10 (1m)
Ground (Pink) D@ s
@ Sol 22 (Gray/Black) MCS25-SC-30 (3m)
Sol 21 (Light Green) 2 0 ray/blac
g ® MCS25-SC-50 (5m )
(COM / : @’@ MCS25-SC-100 ( 10m)
13-Black/White
(25-Pink/Black) — o . )
Coil Fix Plate Ordering Code Double D-Sub Connector Cable Ordering Code

35.0

Female &

About 285

/Fema\e

L=(Cable Lengtr)

MC825-DC-5 ( 0.5m )
MCS200-CP MCS25-DC-10 ( 1 m)

YPC



Pin | Solenoid
Wire Color No. No.

Black 01| $-01
Brown/White 14| S-02
Brown 02| $-03
Red/White 15| S-04
Red 03| S-05
Orange/White | 16 | S-06
Orange 04| s-07
Green/White 17| S-08
Yellow 05| S-09
Blue/White 18| S-10
Green 06| S-11
Purple/White 19| s-12
Blue 07] s-13
Red/White 20| s-14
Purple 08| s-15
Orange/Black | 21| $-16
Gray 09| s-17
Yellow/Black | 22 | S-18
White 10| S-19
Green/Black 23| S-20
Light Green 12| s-21
Gray/Black 24| S-22
Pink/Black 25

Black/wnie | 18] °OM
Pink 11

Single D-SUB
Connector Cable
MCS25-SC-30

Single Module IP40

Coil Fix Plate

Blank Station Kit

MSF400-BLK  ~_ »

MF4500-10

Single D-SUB /(

Connector Cable

Double D-SUB
Connector Cable
MCS25-DC-10

D - SUB Jump Module
MCS400-JM

Ordreing Code
MCS421-T10-D4

(Material : Zinc)

Ordering Code
MCS400-JM

Ordering Code
MCS25-SC-10 (1m)
MCS25-SC-30 (3m)
MCS25-SC-50 (5m)
MCS25-SC-100 (10m)

Ordering Code
MCS25-DC-05 (0.5m)
MCS25-DC-10 (1m)

Blanking Block

Blanking Plate % .

Manifold Gasket

Ordering Code
MSF400-BLK

MCS25-SC-10
MCS411-T10-D4
Ordering Code Ordering Code
MCS411-T10-D4 MCS200-CP
Double Module IP40 D-Sub Jump Single D-Sub Double D-Sub Blank Station Kit Jump Connector
Module IP40 Connig_gg9 Cable IP40 Connector Cable IP40 (Material : Zinc) Kit IP4

Ordering Code
MSF400-JC

ORDERING NO.

MCS4

|
[

ub Connector

[
Series

MCS4:

SF4000-1/4-5Port

Solenoid Valve Ass'y

c B

J
0

None 0 None 0 None 0 None
1 Single Module 1 25 Pin D-Sub TO4 4 Station D4 DC 24v
2 Double Module Connector TO6 6 Station D2 DC 12V
T08 8 Station
T10 10 Station
T12 12 Station
T4 14 Station




o %/ YPC
Multi Connector System SF4000 Sol V/V Mounted

MCS411-T10-D4 MCS421-T10-D4

Manifold Assermbly
19.0 A=(27.0n+5.0) 2.0 18.0 A=(27.0n+5.0) 19.0
149 P=27.0 140 P=27.0
wf

69.0

25—Pin D—sub Connector(Male) n—LED Lamp 25-Pin D—sub Connector(Male) n—LED Lamp
6.0 €=(27.5n+28.5)
6.0| B=(27.5n+16.5) 6.0
29.0 P=27.0
M§F4007JC
Jurny onnector - - -
s el Blank Station Kit Ordering Code
(2.4—Port) 27.0 6-G1/4
s /(1,3,57Pm)
4-05.5 Hole JSFA0_BLK S o MSF400-BLK
\ Blank Station Kit - Blank Station Kit
—— — _ - (Material: Zinc)
T B B : o “
d d £y D D D HIE o &
8y & A AE A SE I ¢ 3
@ A AR AREARS HiE =
L ~g) @] T-m o {é—
) E EACAIK I -
ko o T L -
25-Pin D—sub Connector(Male) n—LED Lamp Jump connector Cable Ordering code
n=STATION MSF400-JC
TN n 4 6 8 10 12 14 Jump Connector
A 113.0 167.0 221.0 275.0 329.0 383.0
B 126.5 181.5 236.5 291.5 346.5 401.5
C 138.5 1935 248.5 303.5 358.5 413.5
D-Sub Connector Pin No.
Sol 1 (Black) ® Single D-Sub Connector Cable Ordering Code
Sol 3 (Brown) o) (@ Sol 2 (Brown/White)
Sol 5 (Red) o) @ Sol 4 (Red/White)
Sol 7 (Orange) & (@] Sol 6 (Orange/White) 80
Sol 9 (Yellow) o) (@ Sol 8 (Green/White) —
Sol 11 (Green) & ® Sol 10 (Blue/White) ~ %
Sol 13 (Blue) - o0 Sal 12 (Purple/White) i 5 — *ﬂ% &
Sol 15 (Purple) & ©0) Sol 14 (Red/Black)
Sol 17 (Gray) o) @) Sol 16 (Orange/Black) ;%
Sol 19 (White) ® @ Sol 18 (Yellow/Black) NG NOA—40 L=(Cable Lengt)
. @3 Sol 20 (Green/Black)
Ground (Pink) @) @ Sol 22 (Gray/Black) MCS25-SC-10 (1m)
Sol 21 (Light Green) @ ° ray/blac MCS25-SC-30 ( 3m )
)

MCS25-SC-50 ( 5m
MCS25-SC~100 ( 10m )

com
(13-Black/White)
(25-Pink/Black)

Coil Fix Plate Ordering Code Double D-Sub Connector Cable Ordering Code

o (&

Fema\ew §/Fema\e

L

‘
About 9B.5

-

v
|

L=(Cable Lengi)

MCS25-DC-5 (0.5m )
MCS25-DC-10 (1 m )

MCS400-CP







(FLEXIBLE) Series

s SF1000

Body wetn-15mm s SF2000
e %ﬁz%/tg-wmm a SF3000
3 s SF4000

s SFS5000
s SFG6000

SF3000

Body Width-23mm

Thread-1/8
SF4000
Body Width-26mm
Thread-1/4

SF5000
Body Width-32mm
Thread-3/8

e
SF6000

Body Width-36mm
Thread-1/2



SF1601-IP-
A \ TF
il.n.} l_x

SF1601 —IP-SD1—**

) \u

SF1703 —IP-SC1-CN1—#x

WL\ ko
3

**:Voltage Selection (see page 80)

ORDERING NO.

SF1III Il - CU l

SFP1 601

M
5““ e!:/

SPECIFICATION

SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION | 5, 3 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 20~10.0
Eff. Section Area(mi)-5bar 36 3.0

Ambient & Fluid Temp.

5~60"C(41~140°F)

Response Time(5bar)

25ms or Less 35ms or Less

Max. Working Frequency

5c/sec 3c/sec

Lubrication

Not Required(Use ISO VG321 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

Holding-AC:3.5VA(60Hz) / DC:2.5W

Transition Capacity Graph

500
= 400
E 300 = e
-~ /4____ -t
g 200 /ﬁ_‘-\r/ = 51232 [
100 —1— =1 —-—5/3 |
” [ 11
1 2 3 4 5 6 7 9 10
Pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
® Spool @ Aluminium ® Armature : Stainless Steel
m Seals ! NBR m Armature Seals @ Viton
m Spring @ Stainless
m Cap : Zinc Pressure Die-Cast

Plug Connector With Clip

Ordering Code

PG2-06 ( L :
PG2-10 ( L :

600mm)
1,000mm)

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

1 [5/2 Singe M5x08 0 1 [ internal Piiot
Solenond Valis 2 | 5/2 Double 1 [ 10-32 UNF 1 r+Spr|ng P Push SCI 3 Pm Connector Coil CNr Norma! Connector A?. AC 220V
3 | 5/3 Closed Center 2 |Ar Non-Locking 561 | Grommet/Flying Leads D1 Cornnector With LED A1 | AC 110V
a |53 Open Center 3| Spring L | Lever Locking SDI1| Grommet/Flying Leads With LED CZ1 | Cornnector With LED A4 | AC 24V
SFP1: 5 | 5/3 Pressure Center _ SLI | 90 Degree Plug-in Wire Assembly With LED & Surge Suppressor D4 | DC 24v
Preumatc Vae 6 | 3/2 Normally Closed SM1| 180 Degree Plug-in Wire Assembly With LED D2 |DC 1V
7_ 3/2 Normally Open —




‘/// YPC

Port Thread M5 X (.8

SPort 2Position Solenoid Valve
Single Solenoid I z 5
SF1101-IP-SC1-CN1=+ ' R

v 7 1/ lodl

Double Solenoid
SF1200-1P-SC1-CN1—#* N N

\ Fl

5Port 3Position Solenoid Valve i

Closed Center
SF1303-IP-SM1-** =

v i
1 1

Exhaust Center
SF1403-IP-SM1-+=

v )
ply vl 0 /o L

Pressure Center
SF1503-IP-SM1-*»

3Port 2Position Solenoid Valve L 3

Normally Closed
SF1601-IP-SD1-#*

i
\

Normally Open T !
SF1701-IP-SD1-*+ B

MF1000 MANIFOLD BLOCK

(SF1000 Solenoid & Pneumatic Valve Use)

5-Port :
Manifold Block MF1500-4

24 ¢ MF1500-BLK
b Blanking Plate
Manifold Gasket

MF1500-02
Manifold Block

Hole

SPORT MANIFOLD BLOCK DIMENSION n=STATION
B R D
8 | 400/ 720 [1040 [136.0 | 168.0
A 48.0 | 80.0 | 112.0 | 144.0  176.0

5Port 2Position Pneumatic Valve

Single Pneumatic
SFP1101

\ 7

Double Pneumatic
SFP1200

\ i

5Port 3Position Pneumatic Valve

Closed Center Exhaust Center
SFP1303 SFP1403
\ i’ ¥

' ' tlicy

3Port 2Position Pneumatic Valve

Normally Closed
SFP1601
i
A
Normally Open
SFP1701
i

Manifold Block Ordering Code

Pressure Center
SFP1503

‘ \ I ‘

Blanking Plate Ordering Code

MF1500-BLK
MF 1500 7z 2 Blanking Plate.
| (Material : SCP1)
Manifold Gasket
MF1500 | 5Way 02 [ 2-Station
MF1 W. 4 4-Station
X0 | chu L ol MF1500-BLK
06 6-Station
08 8-Station Blanking Plate.
e (Material : SCP1)
10 | 10-Station
FRTiaRitERRkIItRIELILs Manifold Gasket
(Material : NBR)
Manifold Block MF1300-4
ws S5 MF1300-BLK
Blanking Plate
Manifold Gasket 7
MF1300-02
Manifold Block
T r‘
i st
F 3
i -5
' i b
Hole-
3PORT MANIFOLD BLOCK DIMENSION n<STATION
EuRE 4 6 [ 10
8 | 40.0 | 720 | 104.0 | 136.0 | 168.0
A 53.0 | 85.0 | 117.0 A 149.0 | 181.0




SF2000. 1/8

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
SF2101-1P- ITEM FUNCTION | 5, 3 Port 2 Position 5 Port 3 Position
7
> yhf [y % Fluids Compressed Air & Inert Gases
: Pressure(bar) 15~10.0 2.0~100
Eff. Section Area(mi)-5bar 12,6 9.0
Ambient & Fluid Temp. 5~60°C (41~ 140°F)
Response Time(5bar) 25ms or Less 35ms or Less
Max. Working Frequency 5c/sec 3c/sec
Lubrication Not Required(Use ISO VG32#)
Manual Override Push Button(Standard), Lever Lock(Option)
Coil Insulation Class F-Class or Equivalent
Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage AC:20% or Less / DC:10% or Less
Power Consumption Holding-AC:3.5VA(60Hz) / DC:2.5W
Transition Capacity Graph
1500
/
1200
= —
£ 1000 = 1
Z 750 =
L1 e
& 500 — -1 H
T =T 5/2,3/2
250 — s == ——— 5/3 -
0 [ T T T
1 2 3 4 5 6 7 9 10

Pressure (bar)

The Material of Parts

m Valve Body : Die-Cast Aluminium = Pilot Parts : Glass Filled Nylon
m Spool : Aluminium ® Armature : Stainless Steel

m Seals : NBR ® Armature Seals : Viton

m Spring : Stainless

m Cap : Zinc Pressure Die-Cast

Plug Connector With Clip

Y]

WL

SF2703-IP-SC1-CN1—**

2

AN Ordering Code

AL 1] AN PG2-06 (L : 600mm)
PG2-10 (L : 1,000mm)

*=*:Voltage Selection (see page 80)

#* The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

ORDERING NO.

Slell ll - oNt - l

1 | 5/2 Single GlorR)1/8 O | Internal Pilot
Solen0|d Vilie Z 5/2 Double iStanda_rd G I_ A|r+Spr|ng P Push SC1 3 PII‘I Connector Coil CN1 Normal Connector A2 AC 220V
3 | 5/3 Closed Center XOpton :R 2 |Ar Non-Locking  sG1 | Grommet/Flying Leads CD1| Cornnector With LED ~ A1 | AC 110v
4 | 5/3 Open Center 1 |NPT1/8 3 | Spring L | Lever Locking SDI | Grommet/Flying Leads With LED CZ1| Cornnector With LED A4 | AC 24V
SFP2: 5 | 5/3 Pressure Center SL1 | 90 Degree Plug-in Wire Assembly With LED & Surge Suppressor g [ DC 24V
Phtmatk: Yaive "6 [ 3/2 Normaly Closed SWI| 180 Degree Plug-in Wire Assembly With LED D20 12V
7_ 3/2 Normally Open -



i
Solenoid & Pilot Actuated Spool Valves

‘/// YPC

Port Thread 1/8

5Port 2Position Solenoid Valve - -
Single Solenoid [ of = ;
SF2101-1P-SC1-CN1—** M \

. i

Double Solenoid
SF2200-IP-SC1-CN1-**

\ i T

5Port 3Position Solenoid Valve '

Closed Center
SF2303-1P-SM1-**
\ Fl
Ll L ; i -
Exhaust Center .
SF2403-1P-SM1-*» - T

v i
plocile /5[ 1

Pressure Center
SF2503-1P-SM1-+*

3Port 2Position Solenoid Valve o =Y .
Normally Closed
SF2601-IP-SD1-+ | 250 |

q

\

Normally Open
SF2701-1P-SD1-** Y| 1

MF2000 MANIFOLD BLOCK

(SF2000 Solenoid & Pneumatic Valve Use)

5-Port
Manifold Block MF2500-4
< L MF2500-BLK : Terree] i g i T i
¥ Blanking Plate T
Manifold Gasket
=3 MF2500-02
Manifold Block ¥
7, )
¢ T
VL 4 B ,
Hole: [ 1 1
1 1 . B
_ < B =

SPORT MANIFOLD BLOCK DIMENSION n=STATION
0
Siatirrmtia sttt tattiieeg
8 47.0 | 85.0 123.0 | 161.0 | 199.0
A 59.0 | 97.0 | 135.0 | 173.0 | 211.0

5Port 2Position Pneumatic Valve

Single Pneumatic
SFP2101

\ i

Double Pneumatic i
SFP2200

\ 7 i

5Port 3Position Pneumatic Valve

Closed Center Exhaust Center

SFP2303 SFP2403
8 7 v .
' ' HETI
3Port 2Position Pneumatic Valve

Normally Closed
SFP2601

0
\

Normally Open

SFP2701

Pressure Center
SFP2503

Manifold Block Ordering Code Blanking Plate Ordering Code

ME25000 - |2

it |

MF2500 | 5Way 02 [ 2-Station
MF2300 | 3 Way 04 | 4-Station
06 6-Station
08 | 8-Station
710 | 10-Station

MF2300-4

MF2300-BLK
- Blanking Plate
N2 Manifold Gasket

MF2300-02
Manifold Block
<z
i -
¢ Hole
TS
3PORT MANIFOLD BLOCK DIMENSION
n
men~| 2 e 6
B | 47.0 850 | 1230
A | 590 970

MF2500-8LK
S Blanking Plate.
(Material : SCP1)
T Manifold Gasket.
— (Material : NBR)
MF2300-BLK
Blanking Plate.
(Material : SCP1)
Manifold Gasket.
(Material : NBR)
!
- IR i
'
i
'
i
0 '
[
i jrass
n=STATION
8 10
161.0 | 199.0

1350 | 173.0 | 211.0




SF3000. 1/8

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Sheig=ir Fluids Compressed Ar & Inert Gases
MW T
L S Pressure(bar) 1.5~10.0 20~10.0
e Eff. Section Area(mi)-5bar 135 1.0
;ﬁ—f‘r; P Ambient & Fluid Temp. 5~60°C (41~ 140°F)
o Response Time(5bar) 25ms or Less 35ms or Less
Max. Working Frequency 5c/sec 3c/sec

Lubrication Not Required(Use ISO VG321 )

Push Button(Standard), Lever Lock(Option)

Manual Override

Coil Insulation Class F-Class or Equivalent
+10% of Rated Voltage
AC:20% or Less / DC:10% or Less

Holding-AC:5.5VA(60Hz) / DC:2.5W

Permissible Voltage Variation
Off Min. Residual Voltage

SF3101 IL-SC2-CN2-#*

Power Consumption

LJJ. /1 1KY

Transition Capacity Graph
1500
1250 —]
po —T_
€ 1::3 ot 2
< 500 =1L o~ f n
& 250 o =T l —n —/3
0 |
1 2 3 4 5 6 7 8 9 10
Pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
® Spool @ Aluminium ® Armature : Stainless Steel
m Seals ! NBR m Armature Seals @ Viton
m Spring @ Stainless
m Cap : Zinc Pressure Die-Cast

* The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

**:Voltage Selection (see page 80)

ORDERING NO.

SFslll Il - -N

|

SF3: 1_|5/2 Singe G1/8 0 | [ ntemal Piot 0 0 | None
2 | 5/2 Double 1 | \eT 18 1 Alr+Spnng P Push 5C2| 3 Pin Connector Col CN2| Normal Connector A2 | AC 220V
Sokenoud et 3 | 5/3 Closed Center z |Ar Non-Locking SGz| Grommet/Flying CD2| Comnector With LED AT | AC 110V
4 |5/3 Open Center "3 | Spring U [ Lever Locking Leads 22 Cormnector With LED A4 | AC 24V
SFP3: "5 | 5/3 Pressure Center _ SD2| Grommet/Flying & Surge Suppressor D4 | DC 24V
Pneumatic Valve - Leads With LED D2 | DC 12v




Solenoid & Pilot Actuated Spool Valves

%/ YPC

Port Thread 1/8

SPort 2Position Solenoid Valve (20220

Single Solenoid ;
SF3101-IP-SD2-++ 2

\ i

SF3101-1P-SC2-CN2-**

\ i

Double Solenoid
SF3200-1P-SC2-CN2-*

\ i

5Port 3Position Solenoid Valve

Closed Center
SF3303-1P-SC2-CN2-**

\ i
1 1

Exhaust Center
SF3403-1P-SC2-CN2-**
\ i

tlprtly

Pressure Center
SF3503-1P-SC2-CN2—**

MF3000 MANIFOLD BLOCK

(SF3000 Solenoid & Pneumatic Valve Use)

5-Port
Manifold Block MF3500-4

i MF3500-BLK (

Blanking Plate

Manifold Gasket

MF3500-02

Manifold Block

4.5 Hole

5Port 2Position Pneumatic Valve ;

Single Pneumatic '
SFP3101

\ i

Double Pneumatic
SFP3200

\ i

BPort 3Position Pneumatic Valve

Closed Center Exhaust Center
SFP3303 SFP3403

\ i \ i

Manifold Block Ordering Code

Pressure Center
SFP3503

Blanking Plate Ordering Code

MF3500 - 2

‘_l

MF3500 | 5 Way 02 | 2-Station
04 4-Station
06 | 6-Station
08 | 8-Station
10 |_10-Station

MF3500-BLK

Blanking Plate.
(Material: SCP1)

Manifold Gasket
(Material: NBR)

- 5PORT MANIFOLD BLOCK DIMENSION  -s7ATiON

n
ITEM 2

4 6 8 10

B | 5551035 1515 1995 | 247.5
A 675 | 1155 | 163.5 211.5 | 259.5




SF4000. 1/4

SF4101-IP-
AN """'_["
;9”13—&“{_&% A

SPECIFICATION

SERIES SOLENOID, PNEUMATIC
R FUNCTION | 5, 3 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 20~10.0
Eff. Section Area(mi)-5bar 19.0 1.5
Ambient & Fluid Temp. 5~60°C (41~ 140°F)
Response Time(5bar) 25ms or Less 35ms or Less
Max. Working Frequency 5c/sec 3c/sec

Lubrication Not Required(Use ISO VG321 )

Push Button(Standard), Lever Lock(Option)

Manual Override

SFP4103
2 4

24 Coil Insulation Class
Miviival

F-Class or Equivalent
+10% of Rated Voltage
AC:20% or Less / DC:10% or Less

Holding-AC:5.5VA(60Hz) / DC:2.5W

SF4101-IL-SC2-CN2-** <
2 4

y Permissible Voltage Variation
MY
5 1;\ [T{7 )

Off Min. Residual Voltage
Power Consumption

Transition Capacity Graph
2000
= 1600 - ] -
E 1200 — — | =1
< 8w — =1 .
o 400 /‘_f:" —5/2,3/2
SFP4303 " i B
2 4
WY TTE ITT 7 0 —T T T
S::wo?.._ZE‘TSD—Z-_" RRL L. ;;j,l_l f b 1 2 3 4 5 6 7 8 9 10
AR YA Pressure (bar)
318
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
® Spool @ Aluminium ® Armature : Stainless Steel
m Seals ! NBR m Armature Seals @ Viton
m Spring @ Stainless
m Cap : Zinc Pressure Die-Cast

SFP4703

W

* The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

SF‘}703—IP—SC2-CN2-”
r — T
A\sz,{,—x\,\!gi\a
**:\Voltage Selection (see page 80)

ORDERING NO.

<~ HHNE-HH-B- BN -
e o

| | |
] 1 |
m Portsize&Thread | RetumMethod |  int/Ext.Pilot | Manualoperator [ solenoid CoilType | Connector Type
SF4' 0 None None 0 0 | None

1 |5/2 Single Glor R) 1/4 0 | | Internal Pilot 0 None 0 | None
_ 2 [s/2Dobe | #Stencera:G 1| Air+Spring P [Push 5G] 3 Pin Connector Coil _CNg[ Normal Comnestor A2 | AC 220V
Solenoid Valve "3 [5/3 Closed Center *Option : R 2 |l Non-Locking 62| Grommet/Flying CD2| Cornnector With LED ~ A1 [ AC 110V
4 |5/3Open Center 1 | NPT 1/4 3 | Spring "L | Lever Locking Leads Cz2 | Comnector With LED A4 [ AC 20v
SFP4 ; 5 | 5/3 Pressure Center 02| Grommet/Fiying & Surge Suppressor D4 | DC 24V
Pneumatic Valve "6 | 3/2 Normally Closed Leads With LED D2 [ DC 12v
7| 3/2 Normally Open _ _




T X
} 10t
e

Solenoid & Pilot Actuated Spool Valves

.
£
e

%/ YPC

Port Thread 1/4

5Port 2Position Solenoid Valve a1

Single Solenoid
SF4101-IP-SC2-CN2-+»

\ ]

Double Solenoid f
SF4200-IP-SD2—#*

\ 7

5Port 3Position Solenoid Valve

Closed Center e sris
SF4303-IP-SC2-CN2-#+
\ i
1 '
Exhaust Center
SF4403-1P-SC2-CN2-**
\ i 1l I
AR FEEE]
Pressure Center
SF4503-IP-SC2-CN2-#+

\ [} i
1 '

3Port 2Position Solenoid Valve |

Normally Closed
SF4601-IP-SD2-*+ & -

\

Normally Open - - -
SF4701-IP-SD2-#+ 1 T |

MF4000 MANIFOLD BLOCK

(SF4000 Solenoid & Pneumatic Valve Use)

Manifold Block MF4500-4

\ ¢ MF4500~BLK Ep L ]
< Blanking Plate

Manifold Gasket

MF4500-02
Manifold Block ‘

Hole

SPORT MANIFOLD BLOCK DIMENSION  -staTioN
n

o 2| 4 6 8 10

B | 71.5|1265 | 181.5 | 2365 | 291.5

A | 8351385 1935 | 2485 | 3035

BPort 2Position Pneumatic Valve

Single Pneumatics
SFP4101

\ i

Double Pneumatic

SFP4200
v i -
i
5Port 3Position Pneumatic Valve
Closed Center Exhaust Center
SFP4303 SFP4403
3Port 2Pgsition Pneumatic Valve

Normally Closed
SFP4601

i
\

Normally Open
SFP4701

Manifold Block Ordering Code

Pressure Center
SFP4503

Blanking Plate Ordering Code

MF4500 - 2

MF4500 | 5Way 02 | 2-Station
MF4300 | 3 Way 04 | 4-Station
06 6-Station
F 8-Station
10 | _10-Station

MF4500-BLK

Blanking Plate
(Material: SCP1)

Manifold Gasket.
(Material: NBR)

MF4300-BLK

] Blanking Plate.
(Material: SCP1)

Manifold Gasket.
(Material: NBR)

3-Port
Manifold Block MF4300-4
TV MF4300-BLK
5 . =/ Blanking Plate

Manifold Gasket

MF4300-02
Manifold Block

Hole

3PORT MANIFOLD BLOCK DIMENSION  r-sTATioN

n
Fass 2 4 6 8

8 | 6601200 1740 | 2280 | 2820
A | 77.0[131.0 1850 | 239.0 | 293.0




SF5000. 3/8

SFP5101

=ERIyAR

SPECIFICATION

SERIES SOLENOID, PNEUMATIC
R FUNCTION | 5, 3 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Section Area(mi)-5bar 36.0 30.0
Ambient & Fluid Temp. 5~60°C (41~140°F)
Response Time(5bar) 30ms or Less 40ms or Less
Max. Working Frequency 5c/sec 3c/sec

Not Required(Use ISO VG321 )
Push Button(Standard), Lever Lock(Option)

Lubrication

Manual Override

Coil Insulation Class F-Class or Equivalent
+10% of Rated Voltage
AC:20% or Less / DC:10% or Less

Holding-AC :5.5VA(60Hz) / DC:2.5W

Permissible Voltage Variation
Off Min. Residual Voltage

Power Consumption

Transition Capacity Graph
4000
3500 e
~ 3000 — -
£ 2500 — e
= 2000 S
- 1500 -/ —
& 1000 — = —5/2,3/2
500 - — e —/3
0 (o, e
1 2 3 4 5 6 7 8 9 10
Pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
® Spool @ Aluminium ® Armature : Stainless Steel
m Seals @ NBR m Armature Seals @ Viton
m Spring : Stainless
m Cap : Zinc Pressure Die-Cast

# The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

SFP5703
2

AVQJLS ! <
13

SF5703—|P—SG2—"
2

N

*x:Voltage Selection (see page 80)

SFSIII ll - !-I

| |_|

1 | 5/2 Singe G(or R) 3/8 0 [lnternal Pilot 0 None
= 2 [5/2 Doudle %Standard : G 1 Nr+Spr|ng P Push Non-Locking SCZ 3 Pin Connector Coil CN2 Normal Connector A2 AC 200V
S°|e"°'d Valve "3 |5/3 Closed Center *Opton : R 2 |Ar L | Lever Locking SG2| Grommet/Fiying 2| Comnector With LED AT | AC 110V,
4 | 5/3 Open Center 1 | NPT 3/8 3 | Spring — Leads CZ2| Cornnector With LED A4 | AC 24V
SFP5 : 5 | 5/3 Pressure Center “soz) Grommet/Flying & Surge Suppressor D4 | DC 24
Prieumatc Valve "6 | 3/2 Normally Closed Leads With LED Dz | DC 12V
7| 3/2 Normally Open _




Solenoid & Pilot Actuated Spool Valves

%/ YPC

Port Thread 3/8

SPort 2Position Solenoid Valve

Single Solenoid I - g
SF5101-IP-SC2-CN2-+% :

\ i '

Double Solenoid
SF5200-IP-SC2-CN2-#*

\ i
(iR}

5Port 3Position Solenoid Valve

Closed Center
SF5303-IP-SC2-CN2-#+

\ i
1 '

Exhaust Center
SF5403-IP-SC2-CN2-+*

1y 7
tleeple

Pressure Center
SF5503-IP-SC2-CN2-+x

3Port 2Position Solenoid Valve T
Normally Closed WA
SF5601-IP-SD2-+* - <

i
) g & :

Normally Closed
SF5701-IP-SD2-#* i

i ¥ I N 1

MF5000 MANIFOLD BLOCK

(SF5000 Solenoid & Pneumatic Valve Use)

MF5500-4

« MF5500-BLK

Blanking Plate

Manifold Gasket

MF5500-02 T £ T PR E 7 i

Manifold Block

Hole- ; — [ e [ '
e
F NS SPORT MANIFOLD BLOCK DIMENSION 1-5747.01
o\ ¢ mey 2 [ 4] 6] 8] 10
L} ] 80.0 | 146.0 | 212.0 | 278.0 | 344.0

A 83.0 | 159.0 225.0 | 291.0 | 357.0

5SPort 2Position Pneumatic Valve ,

Single Pneumatic
SFP5101 '

\ i

Double Pneumatic

SFP5200
\ i
A% ] 1 d
i
5Port 3Position Pneumatic Valve
Closed Center Exhaust Center Pressure Center
SFP5303 SFP5403 SFP5503
\ i \ i N1 177
1 | LN B3 RS | 1 1
3Port 2Position Pneumatic Valve

Single Pneumatic '
SFP5601 i '

Manifold Block Ordering Code Blanking Plate Ordering Code

MF5500-BLK
Blanking Plate.
MF 5500 - 2 (Material: SCP1)
o
(@) Manifold Gasket.
- (Material: NBR)
MF5500 [ 5Way 02 | 2-Station
MF5300 | 3 Way 04 4-Station MF5300-BLK
iM Blanking Plate.
08 8-Station (Material: SCP1)
gl 65 0ol iiBeens Manifold Gasket.
= (Material: NBR)
3-Port
Manifold Block MF5300-4
L > MF5300-BLK
N Blanking Plate 2 &
\\ + {
3 Manifold Gasket : i
MF5300-02
Manifold Block
A S
o
| -
Hole i peiii
| =, ==
0 d
3PORT MANIFOLD BLOCK DIMENSION -57ATION
mene| 2 4 6 8 10

B | 80.0|146.0 | 212.0 | 278.0 | 344.0
A | 830 |159.0 | 225.0 | 2910 3570




SF6000. 1/2

SF6101-IP-SD2-++

4
N 1TT 7]
A Wv Pidca

|
SFP6303

24
M el £1%

15

SF6200-1P-SG2—**
T 71
Maviiya®

**:\Voltage Selection (see page 80)

ORDERING NO.

SPECIFICATION

SERIES SOLENOID, PNEUMATIC
R FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 20~10.0
Eff. Section Area(mi)-5bar 65.0 50.0
Ambient & Fluid Temp. 5~60°C (41~ 140°F)
Response Time(5bar) 30ms or Less 40ms or Less
Max. Working Frequency 2c/sec lc/sec

Lubrication

Not Required(Use ISO VG321 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

Holding-AC:5.5VA(60Hz) / DC:2.5W

Transition Capacity Graph

Qn (I /min)
g

\

4 5 6 7 8 9 10

Pressure (bar)

Spool : Aluminium
Seals @ NBR
Spring : Stainless

The Material of Parts
Valve Body : Die-Cast Aluminium = Pilot Parts : Glass Filled Nylon

Cap : Zinc Pressure Die-Cast

® Armature : Stainless Steel
® Armature Seals : Viton

* The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

sl H-HE-B-
— ' '

——

|
| 1 |
PortSize &Thread | Retum Method |  Int/Ext. Pilot | Manual Operator | Solenoid CoilType [ Connector Type
SF6 0 None None 0 e 0 [Nore

1_|5/2 Singe G(or R) 1/2 0 | [ ntemal Piot 0 None 0 | Non
= 2 |5/2 Double *Standard : G 1| Air+Spring P | Push Non-Locking  SC2| 3 Pin Connector Coll CN2| Normal Connector A2 | AC 220V
Sokenoud et "3 | 5/3 Closed Center *0pton : R 2 |Ar L | Lever Locking SG2| GrommetFlying CDZ| Comnector With LED AT | AC 110V
A [5/30pen Center 1 [NPT1/2 3 | Spring — Leads 22| Cornnector With LED A4 | AC 24V
SFP6 : 5 | 5/3 Pressure Center 502 Grommet/Fiying & Surge Suppressor D4 | DC 24V
Preumatic Valve - Leads With LED D2 | DC 12v




‘/// YPC

Solenoid & Pilot Actuated Spool Valves Port Thread 1/2

SPort 2Position Solenoid Valve SPort 2Pasition Pneumatic Valve
Single Solenoid i, e 7 . Single Pneumatic 2 I
SF6101-IP-SD2-4+ i 2 SFPG101 4 Y §
< 7 1 4 | | H
Al | ¢ { \ i
14
f i = \ . i : | 1
| 3 ’ "
b ! |
i - : R 1 5
T 3 G A
| i ) 2 Double Pneumatic
SFP6200
20l - 3 7 |
)
Double Solenoid | |
SF6200-IP-SC2-CN2-++ .
\ 7 ; . = "
i
L . BPort 3Position Pneumatic Valve
Closed Center Pressure Center
2 Exhaust Center
BPort 3Position Solenoid Valve SFP6303 SEPBALE SFP6503
\ 7 S i T
Closed Center ' ' tleeyls 1 !
SFB303-1P-SC2-CN2—*x
\ i %10, ngx1(
1 1
Exhaust Center .
SFE403-IP-SC2-CN2-++
v v : , o & . L
AR ARl Manifold Block Ordering Code Blanking Plate Ordering Code
| ]
Pressure Center 4 MF8500-8LK

SF6503-IP-SC2-CN2—+*

Blanking Plate
(Material: SCP1)

MF6500 | 5 Way 02 | 2-Station

04 4-Station

06 6-Station 4

e Gasket O-Ring
MF6000 MANIFOLD BLOCK % | ssuton
10 10-Station

(SF6000 Solenoid & Pneumatic Valve Use) =

Manifold Block MF6500-4 i £ 5

5 si: il ¥
T
MF8500-BLK
Blanking Plate s S 3 b
Gasket O-Ring ‘ 1
> . 6.5 Hole: ¥ 1t
MF6500-02 1T XS flaee X i35
Manifold Block g ey 3 118.0l

5PORT MANIFOLD BLOCK DIMENSION  -s7ATION

"
e 2 4 6 8 10
B | 880 |1630 | 238.0 | 313.0 | 388.0

A | 1030 |178.0 | 253.0 | 328.0 | 403.0







SI1V:-SIE 1so) Series

SIV300

weemers 1 SINV 200
e SIV300
e SIV400
e SIV500

SIV200
1SO-0/Width-18mm
Sub Base Thread-1/4

SIV400
ISO-1/Width-40mm SIV500

Sub Base Thread-1/4, 3/8, 1/2 1S0-2/Width-50mm

Sub Base Thread-1/2, 3/4

e SIE 200
e SIE 300

s
SIE200 3 R @ SIE300
1SO-0/Width-18mm - @ 1SO-0/Width-26mm
Sub Base Thread-1/4 \ Sub Base Thread-1/4

\.=



Siv200

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Section Area(md)-5bar 12.0 8.5
Ambient & Fluid Temp. 5~60C (41 ~140°F)

Response Time(5bar)

25ms or Less

35ms or Less

Max. Working Frequency

5c/sec

3c/sec

Lubrication

Not Required(Use I1SO VG32#)

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

Holding-AC:3.5VA(60Hz) / DC:2.5W

Transition Capacity Graph
1500

1250 — |
§ 1000 — — =
o — -
50 = T —_ _:Z

0 | I T T T

1 2 3 4 5 6 7 8 9 10
Pressure (bar)
The Material of Parts

m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
® Spool : Aluminium B Armature : Stainless Steel
m Seals : NBR ® Armature Seals : Viton
m Spring @ Stainless
m Cap : Zinc Pressure Die-Cast

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

SIV233-IP-SC1-CN1—*x

2 4

315

*x:\oltage Selection (see page 80)

ORDERING NO.

S'VZII EE-EH-E

Return Method Int/Ext. Pilot Manual Operotor Solenoid Coil Type Connector Type VoIToge
|

S|V2 1 5/2 Single 0 None Internal Pilot None None None None
2 5/2 Double 1 Air +Spring E | External Pilot P Push Non-Locking SC1| 3 Pin Connector Coil ~ CN1| Normal Connector A2 | AC 220V
Solenoid Veive 3 | 53 Closed Center 2| AT L | Lever Locking SG1| Grommet/Fiying Leads CD1| Cormnector Wih LED A1 | AC 110V
4 5/3 Open Center 3 Spring SDI1| Grommet/Flying Leads CZ1| Cornnector With LED A4 | AC 24V
SIp2: 5 | 5/3 Pressure Center With LED & Surge Suppressor D4 | DC a4V
Preumatic Valve - SL1| 90 Degree Plug-in Wire Dz | oo v

Assembly With LED

SM1| 180 Degree Plug-in Wire
Assembly With LED




Solenoid & PiIZ); Actuated Spool Valves

@gﬁ YP
18mm Body Width

BPort 2Pasition Solenoid Valve

(Lever Locking): g
Single Solenoid Manugl Button §
SIV211-IP-SG1-** ¥
> 4 (External Pilot—M5x0.8). 5 |
T o
3 o o
RS
External Pilot s “
| g
SIV211-EP-SG1-# uu
2 4
A /
»x“llﬂm\ 2-M3x0.5
315 68.0
© 81.0
28.0
21.0
140
ol o 20 2.4 DP5.0
43 |
i taty, I g
SN b U119
22zl |5 R
49.0
moxt 0.0 113.0 ‘ moxt 0.0
Double Solenoid ‘ J‘
SIV220-IP-SC1-CN1-**
2 4
s AVIA: q
315 &l
=
{55
o
T A

2-M3x0. 5)
7

105.5

SPort 3Position Solenoid Valve

Closed Center

SIV233-IP-SC1-CN1-*%

2 4
375 mMox10.0 114.5 mox10.0
Exhaust Center ‘
SIV243-IP-SC1-CN1-**
315 o
Bl

Pressure Center
SIV253-IP-SC1-CN1-**
2 4

315

88.0

105.5

SIB20 SINGLE, DOUBLE SUB BASE

(SIV200 Solenoid & Pneumatic Valve Use Sub Base)

Blanking Plate

Manifold Gasket
Single Station Sub Base Dimension
2-M3x0.5 DP5.0-
220 35.0
9.5 125 9.5
< o
of of Sﬂ & A
{} 2 8 S e S E
@ P
§ SN
e
13—§‘ 2-04.3 Hole

5-G1/4-
(1.2.3.4.5-Port)

5Port 2Position Pneumatic Valve

Single Pneumatic

sIp211 | P @ o
2 4 d a7 a el
aNIIvASS j 0
315 j [V}
2-M3x0.5-
68.0
Double Pneumatic HH \'Fv ol
S1P220 o 9
gl
2 4 &
Bzt
315
—M}xo.s/
77.0

Closed Center
SIP233

2 4
N
st Cont i L W N

SIP243 a
2 4 ’

YOI :

> <

: 315 i
Precame ot

SIP2s3 8.0

2 4
315

<)
L]

7
oIS

67.5
29.5
455
3

Sub Base Ordering Code

SIB2 1 - S
SIB2 0 None S Single Station Sub Base,
SIV200 Solenoid Valve 1 G 1/4 Port Without Pilot Ports
2 NPT SP | Single Station Sub Base,
1/4 Port With Pilot Ports
DB | Single Station Sub Base,
1/8 Port Without Pilot Ports
DC6| Double Modular Sub Base,
@6 One-Touch Fitting
E End Cover, 1/8 Port
EB | End Blanking Cover
Ordering Code
SIB20-BLK
é? Blanking Plate
(Material: STS304)
_ . Manifold Gasket.
Double Modular Sub Base Dimension @ (Material: NBR)
Ordering Code
24.0 P=19.0 125 s SIB21-E
2n—M3x0.5 4—04.5 Hole .
A @/ T End Cover, 1/8
Fo Fol Do 5 DS (Material: Al)
o D ©| © | o ol
9 ETE|TETS E ( Bl
fa < ja) ja! Ay a
B L=l = =] 4 B,i‘ < Ordering Code
Ei Eﬁ g - B SIB20-EB
3’ End Blanking
36 B=(19.0+20.8) 36 < Cover
A=(19.0n+28.0) MEAN (Material: Al)
21.4
24.0 P=19.0
=GB Ordering Code
= = siB21-08
I |
¢l ek
N7 ANTAES ° Sub Base, 1/8
/ o ] (Material: Al
26 One-Touch Fitting ol

Ordering Code

DOUBLE MODULAR SUB BASE DIMENSION 577108 SIB20-0C6

Double Modular

o~ 2 + 6 8 10
588 | 968 | 1308|1728 | 2108 Sub Base
. - . i @6 one-touch
A 66.0 | 104.0 | 142.0 | 180.0 | 218.0 fitting
] (Material: Al)




SiIv300

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Section Area(mi)-5bar 18.0 11.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
Response Time(5bar) 25ms or Less 35ms or Less
Max. Working Frequency 5c/sec 3c/sec
Lubrication Not Required(Use 1SO VG324 )
Manual Override Push Button(Standard), Lever Lock(Option)
Cail Insulation Class F-Class or Equivalent
Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage AC:20% or Less / DC:10% or Less
Power Consumption Holding-AC:3.5VA(60Hz) / DC:2.5W
Transition Capacity Graph
2500
2000 —
£ 1500 = /j__ i
~ L L o
= 1000 — e
s /__/—/—‘ - ——_T
500 | - —enn —5/3
0 T T T 71
1 2 3 4 5 6 7 8 9 10
Pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
m Spool @ Aluminium ® Armature : Stainless Steel
m Seals : NBR ® Armature Seals : Viton
m Spring : Stainless
m Cap : Zinc Pressure Die-Cast

kS

The specification on each item can be amended without any prenotice to improve a performance.
The specification on each item can be different from actual specification.

kS

SIV333-IP-SC1-CN1—#x

2 4

*x:Voltage Selection (see page 80)

ORDERING NO.

-HEN-HN-IH-1N-B

| | |
— | | | L
Retum Method ni/Ext, Pilot ManualOperator [l Solenoid CoilType | Connector Type Voltage
0

I
| Internal Pilot

SIV3: 1 5/2 Single 0 None | None 0 | None 0 None 0 None

' 2 5/2 Double 1 Air +Spring E | External Pilot P Push Non-Locking SC1| 3 Pin Connector Coil ~ CN1| Normal Connector A2 | AC 220V
Solenaid Valve 3 | 5/3Ciosed Center 2 | Ar L | Lever Locking SGI| Grommet/Fiying Leads CD1| Cormector Wih LED Al | AC 110V
4 5/3 Open Center 3 Spring SD1| Grommet/Flying Leads CZ1| Cornnector With LED ~ Ad | AC 24V
SIP3: 5 | 5/3 Pressure Center With LED & Surge Suppressor D4 | DC 24V
Preumatic Valve _ SL1| 90 Degree Plug-in Wire D2 | e i

Assembly With LED

"SM1| 180 Degree Plug-in Wire
Assembly With LED




@gﬁ YP
Solenoid & Pilot Actuated Spool Valves 26mm Body Width

BPort 2Position Solenoid Valve SPort 2Position Pneumatic Valve
. o
Single Solenoid (Lever Locking) % Single Pneumatic = H [ A
SIV311-1P-SG1 -+ Manual Button E SIP311 BN
2 4 (External Pilot—M5x0.8) 2 4 2 9
)i o @ a
315 1 315 0
-—- U
External Pilot EE i 3 0.0 | se0 |
EEM
SIV311-EP-SG1-*+ 14 a
24 LI 1 o
NN T j Double Pneumatic —‘
315 _
) 207/ S\nggi J E
Nivina mw
285 315
19.0 99.0
25 #2.7 DP5.0
3 |
3
. ¥
1 Pt ﬂ £
E g - -
-t - BPort 3Position Pneumatic Valve
elsolll ] ss X
55.0
67.0
Closed Center
max10.0 1125 max10.0
‘ ‘ SIP333 2 4
,{>,
Double Solenoid Tt
SIV320-IP-SC1-CN1-**
2 4 Exhaust Center ~
Miviipas o F | ©
315 - o 2 4 J L‘é
ST I o 3 &
i d o 315 3 9]
B Pressure Center ®
i SIP353 il | b HN.
: = oD ]
SIS 00
105.5 s 315 12,0

5Port 3Position Solenoid Valve

Sub Base Ordering Code

Closed Center
SIV333-IP-SC1-CN1-#
2 4

%Qr 11T r %@ mox10.0 125 mox10.0 |

315 ‘ ‘
Exhaust Center
SIV343-IP-SC1-CH1-*x % E SIB3 0 None S Single Station Sub Base,
24 SIV300 Solenoid Valve 1| G 1/4 Port Without Pilot Ports
315 -—- -—- 2| 2 NPT SP [ Single Station Sub Base,
Pressure Center o = b 1/4 Port With Pilot Ports
SIV353-IP-SC1-CN1-+x B hid
2 4 3 4 DB | Double Modular Sub Base,
AT B [ - 1/4 Port Without Piot Ports

315 F_/\/\_j DC8| Double Modular Sub Base,
@ @ #8 One-Touch Fitting

120 B End Cover, 1/4 Port
EB | End Blanking Cover

SIB30 SINGLE, DOUBLE SUB BASE p—

(SIV300 Solenoid & Pneumatic Valve Use Sub Base) < e 00

@ Manifold Gasket.
= = (Material: NBR)
Double Modular Sub Base Dimension
Ordering Code
28.5 P=27.0 19.0 - 1
2n-M4x0.7 SR R 3-c1/4 SIB31-E
\ End Cover, 1/4
Blanking Plate S So| SPe = (Material: Al)
(@) (@i o |a @\M
& D D D | O
o N c5.0-6-C56.6.c56 o °
g 2 b4 P19 @ 15} =
D) D) D) ) |
i - Ordering Code
Maniold Gasket
G g g G ;@7 SIB30-EB
[ famn) [} [y j :
S S O
TE‘ End Blanking
Cover
40 B=(27.0n+22.0) 4.0 1901 o (Material: Al)
Single Station Sub Base Dimension A=(27.01+300) 255 |
46.0 Ordering Code

=]
o

2-84.3 Hole. SIB31-DB
245 —380 2-M4x0.7 DP5.0 205 _ P=270 =
‘ oo 1os 4n-G1/4 AQQQ.\
. 105 e S Double Modular
L] | 7 VaNI/a DS Sub Base, 1/4
—RL =ik RIS =i Wi e (Material: Al)
%) - o 9 2 3 VED) -
D[ g /AT 2 U
{} ) o o > ! 9| - !
g
Ordering Code
) 8 One~Touch Fitting: SIB30-DC8
Double Modular
L. 3 @ DOUBLE MODULAR SUB BASE DIMENSION  ,—s77(01 [ e Sub Base

i

E3]

21.0

41.0

69.0
1

|

S
=]
n()

] 2 | 4 6] 8]0 28 one-touch
fitting
(Material: A

p A 76.0 | 130.0{ 184.0 [ 238.0 | 292.0
5-G1/4
(1.2.3.4.5-Port) 8 84.0 | 138.0(192.0 | 246.0 | 300.0




Siv400

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Section Area(mi)-5bar 30.0 25.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
Response Time(5bar) 30ms or Less 40ms or Less
Max. Working Frequency 3c/sec 1c/sec
Lubrication Not Required(Use 1SO VG324 )
Manual Override Push Button(Standard), Lever Lock(Option)
Cail Insulation Class F-Class or Equivalent
Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage AC:20% or Less / DC:10% or Less
Power Consumption Holding-AC :5.5VA(60Hz) / DC:2.5W
Transition Capacity Graph
3500
o -
— e
£ 2000 — =
= 1500 e
= 1000 e 2
< 500 — =7 —mmn —5/3
0
1 2 3 4 5 6 7 8 9 10
Pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
m Spool @ Aluminium ® Armature : Stainless Steel
m Seals : NBR ® Armature Seals : Viton
m Spring : Stainless
m Cap : Zinc Pressure Die-Cast
x The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

*x:\Voltage Selection (see page 80)

ORDERING NO.
Sva 1 1 -1 [P -sC2 - CN2 - A2
=R . . —

’—l ’_l | |
]
Refum Method Int/Ext. Pilot ManualOperctor [l Solenoid CoilType | Connector Type Voltage
0 0

SIV4 1 5/2 Single 0 | None I internal Piot 0 | None None None 0 [ None
Solenoid lVaIve 2 | 5/2 Double 1 Air +Spring E | External Pilot P | Push Non-Locking SC2| 3 Pin Connector Coil ~ CN2| Normal Connector A2 | AC 220V
3 | 5/3 Closed Center 2 | Ar L | Lever Locking SG2| Grommet/Flying Leads CD2| Cornnector With LED A1 | AC 110V
4 5/3 Open Center 3 Spring SD2| Grommet/Flying Leads CZ2| Cornnector With LED A4 | AC 24V
SIP4: 5 | 5/3 Pressure Center With LED & Surge Suppressor D4 | DC 24V
Pneumatic Valve - D2 | oc 12v




r

Solenoid & Pilof Actuated Spool Valves

@%%4

YPC
40mm Body Width

SPort 2Position Solenoid Valve

S
S
(Lever Locking) é
Manual Button 5
Single Solenoid
SIV4A11-IP-SD2-#* T
2 4 (Extbrnal Pilot—M5x0.8)
315 |
N —= 2
F O h
External Pilot o o
SIV411-EP-SD2-* A |
24 L]
<AVIIVA
Pl [qu u
315 ©
4-M5x0.8
100.0
1185
max10.0 152.0 max10.0

Double Solenoid
SIV420-IP-SC2-CN2—**
2 4

315

36.0

102.5

144.5
max10.0 152.0 max10.0
40.0
5l [ 1H
El [
8
o
O E
— | I —
Joe ]
3 ]L%@{
3
& @
~| I
+ + )
2 4 ‘ ‘
125.0
SPort 3Position Solenoid Valve
Closed Center Exhaust Center Pressure Center
SIV433-IP-SC2-CN2-#* SIV443-IP-SC2-CN2-#* SIV453-IP-SC2-CN2-#*

SIB40 SINGLE SUB BASE

(SIV400 Solenoid & Pneumatic Valve Use Sub Base)

Single Station Sub Base Dimension

Sub Base Gasket
(Material: NBR)

Sub Base
(Material: Al)

SPort 2Position Pneumatic Valve

Single Pneumatic
SIP411
2 4

AVIITARS
315

Double Pneumatic

250
Plate 1 /A
s TR |
1] O 1 it ° o 3] 3]
; —— 1 “ 9|
;/ R Il
1] 1]
100.0

SIP420 2

2.4 ”
I ]

315

U 1]
108.0
g|
36.0

125.0

5Port 3Position Pneumatic Valve

Closed Center
SIP433

2 4
315

Exhaust Center
SIP443

2 4
315

Sub Base Ordering Code

Pressure Center
SIP453

2 4
SOITET7
315

SIB4 0 None S Single Station Sub Base,
SIV400 Solenoid Valve 1 G 1/4 Without Pilot Ports
2 G 3/8 SP | Single Station Sub Base,
3 G 1/2 With Pilot Ports
6 NPT 1/4
7 NPT 3/8
8 NPT 1/2
62.0 37.0
50.0
380
4—27.0 Hole
2B.0 /
4-M5x0.8 DPB.O X{} Fort Wead\
=
4=
= o J
83 =ou> o 88 E
=i o
=19 4= |-
H =% o
& 1 4 -
5
Port Thread
2-61/8 Port Thread
[—/FLI: MODEL A(4).B(2) P(1) R1(5).R2(3)
; sIB41-8(P) | G1/4 Gl/4 G/8
g 9.0 SIB42-S(P) G3/8 G3/8 G3/8
L ] siga3-sP) | G1/2 Gz | el




Siv500

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Sectional Area(mi)-5bar 65.0 50.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
Response Time(5bar) 35ms or Less 45ms or Less
Max. Working Frequency 3c/sec 1c/sec
Lubrication Not Required(Use I1SO VG32# )
Manual Override Push Button(Standard), Lever Lock(Option)
Cail Insulation Class F-Class or Equivalent
Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage AC:20% or Less / DC:10% or Less
Power Consumption Holding-AC :5.5VA(60Hz) / DC:2.5W
Transition Capacity Graph
8000
7000
S 6000 — |
£ 5000 ]
= 4000 T | =T
= 3000 — | et
< 2000 — .= —n [
1000 =1 =T — 53
0 | T I 1 I
1 2 3 4 5 6 7 8 9 10

Pressure (bar)

The Material of Parts

m Valve Body : Die-Cast Aluminium = Pilot Parts : Glass Filled Nylon
m Spool @ Aluminium m Armature : Stainless Steel

m Seals : NBR ® Armature Seals : Viton

® Spring : Stainless

m Cap : Zinc Pressure Die-Cast

SIV533-IP-SC2-CN2—**

2 4 % The specification on each item can be amended without any prenotice to improve a performance.

% The specification on each item can be different from actual specification.
315

*x:\oltage Selection (see page 80)

ORDERING NO.

SIVs 1
,_I

I—I

HE-l-H- B

: | —

. -
I_| |
Return Method Int/Ext. Pilot Manual Operator J Solenoid Coil Type i Connector Type Voltage
0 0

SIV5 1 5/2 Single 0 None | | Internal Pilot 0 None None None 0 None
Solenoid Valve 2 5/2 Double 1 Air +Spring E | External Pilot P Push Non-Locking SC2| 3 Pin Connector Coil ~ CN2| Normal Connector A2 | AC 220V
3 5/3 Closed Center 2 Air L Lever Locking SG2| Grommet/Flying Leads CD2| Connector With LED Al AC 110V
, 4 5/3 Open Center 3 Spring SD2| Grommet/Flying Leads CZ2| Connector With LED A4 | AC 24V
SIP5 N 5_ 5/3 Pressure Center With LED & Surge Suppressor W DC 24v
Pneumatic Valve - i oC v




4

-
=l

Solenoid & Pilof Actuated Spool Valves

‘/// YPC

50mm Body Width

5Port 2Position Solenoid Valve

Single Solenoid
SIV511-IP-SD2-#+
2 4

315

External Pilot

SIV511-EP-SD2-**

2 4
AV
315 s

82.0

49.5
46.0

(External Pilot—M5x0.8)
P\ate\ \

9|
=
(Lever Locking) 2-02.4 el
g|
Manual Button H Kl
I
Cor o E g
U

max10.0

4-M6x1.0 }

115.5

130.5

159.5

max10.0

Double Solenoid

il

Hia

[ ]

SIVS20, 1P-SC2-CN2-1+ WE—‘ ”ﬂ»w
315 - - 2
[ q
HMH E
U g
EER\EN| R
) Y s E
® © @ @
B (8
L &
: %
O B A
M= B
g - R | @
E m =
ofe | 1Y [%

140.0

SPort 3Position Solenoid Valve

Closed Center

SIV533-IP-SC2-CN2—** Bl

Exhaust Center

V543-IP-SC2-CN2—#*

CRIIVE R IR

Pressure Center
SIV553-IP-SC2-Ch2—*+
4

NI K

315

SIB50 SINGLE SUB BASE
(SIV500 Solenoid & Pneumatic Valve Use Sub Base)

Single Station Sub Base Dimension

Sub Base Gasket
(Material: NER)

Sub Base
(Material: Al)

5Port 2Position Pneumatic Valve

Single Peneumatic
SIP511
4

/P\ate

CANIIYAS
315

64.5

27.0

Zy
g

[

55.5

L+ =]

)

=]

115.5

Double Peneumatic
SIP520

2 4 E
ANIIVAY =i
315 1 |
U U
121.5
4-MEx1.0 240
ARV IS
1]
i
i e @
@& ® I W &
80 415
i i %
Lo 3
) g ‘X &
oo | |1 | °
I
140.0
SPort 3Position Pneumatic Valve
Closed Center Exhaust Center Pressure Center
SIP533 SIP543 SIP553

2 4
ST T
315

2 4
ST
315

Sub Base Ordering Code

2 4
SO
315

— |

SIB5 1

SIB5 _0 | None S Single Station Sub Base,
SIV500 Solenoid Valve 2 G 3/8 Without Pilot Ports
3_ G 1/2 SP | Single Station Sub Base,
4 G 3/4 With Pilot Ports
7 NPT 3/8
8 | NPT 1/2
o [ etz

75.0

48.5 62.0 D
B 38.0 23.0
4-M6x1.0 DPQ.D\
|
2 9 g — [l <l
< T <7 S I — um**}*”
mn @
D
N ehe =D B fany
&
o |+
2-87.5 HU\E/
Thread A B @ D Ja
SIB52-G3/8 | 36.0 19.0 |60.0 29.0 o
SIBs3-G1/2 | 31.0 | 23.0 (632 [32.0 100 l
2-61/8— —
SIB54-G3/4 | 36.0 | 23.0 |67.2 26.3

@2 vec



(2]

IE211-IP-
2 4

*x:\oltage Selection (see page 80)

ORDERING NO.

SIE2
’—l

HEH- B
= —

SPECIFICATION

SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 20~10.0
Eff. Sectional Area(mi)-5bar 12.0 8.5
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

25ms or Less 35ms or Less

Max. Working Frequency

5c/sec 3c/sec

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

Holding-AC:3.5VA(60Hz) / DC:2.5W

Transition Capacity Graph

1500
1250 —. —
£ 1000 —
= 750 ] -r
: kT
& 500 I 5/2

//-— - -
250 — = ! e —5/3
0 I N E—
1 2 3 4 5 6 7 8 9 10
Pressure (bar)
The Material of Parts

Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
Spool : Aluminium ® Armature : Stainless Steel
Seals : NBR ® Armature Seals : Viton

Spring : Stainless

Cap : Zinc Pressure Die-Cast

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

I I—I

|
Manual Operator @ Solenoid Coil Type i Connector Type
0 0

Valve Series Function Retum Method Int/Ext. Pilot Voltage
SIE2 1 5/2 Single 0 None | | Internal Pilot 0 None None None 0 None

Sl dl\/ | 2 5/2 Double 1 Air +Spring E | External Pilot P Push Non-Locking SC1| 3 Pin Connector Coil ~ CN1| Normal Connector A2 | AC 220V
clenoc Yale 3 | 5/3 Closed Center 2| Ar L | Lever Locking SG1| Grommet/Flyng Leads CD1| Comnector With LED AT | AC 110V
. 4 | 5/3 Open Center 3 | Spring SD1| Grommet/Flying Leads CZ1| Connector With LED ~ A4 | AC 24V
S|EP2‘ . 5 5/3 Pressure Center With LED & Surge Suppressor D4 | DC 24V
Prieumatic Valve SL1| 90 Degree Plug-in Wire D2 | DC12v

Assembly With LED

SMI[ 180 Degree Plug-in Wire
Assembly With LED




@gﬁ YP
Solenoid & Pilot Actuated Spool Valves 18mm Body Width

18.0

SPort 2Position Solenoid Valve SPort 2Position Pneumatic Valve
Single Solenoid

Single Pneumatic
ingle Pneumati E o T
SIEP211 3 © o0
SIE211-IP-SG1-*x === 2-93.2 Hole 2 e E e Bee ||
(Manifold Hole)
v o [T/ —w2e [ Nowe
\ )

400410.0

315 Manual Button

(External Pilot—M5x0.8)

]
|
=

External Pilot i . J»
SIE211-EP-8G 1%+ A =
2 4 72.0
NI b
315 2-M3x0.5
© 1055
SIE211-IP-SM1-* q o g E Double Pneumatic
v L= E——
2 4 anl
315
RS AVIITARS T
E S|
SIE211-IP-SC1-CN1-** p 85.0
=t E g SPort 3Position Pneumatic Valve
315
max10.0 Closed Center
SIEP233
2 4 I 78.0 |
g SN IIATY s
d 3 375 ﬂ—’,
[ Exhaust Center
T o
= 11 Seress T T H
0 > 315 a @_@
] 1 Pressure Center o
Double Solenoid SEP2S3
SIE220~IP-SL1—+* - SN TTITT /-
2 4 g 5 35
315
156.5(Double)
Sub Base Ordering Code
BPort 3Position Solenoid Valve
SIB2 1 - S
Closed Center
SIE233-1P-SC1-CN1-+x
2 4
a1 05— poriton) SIB2 0 None S Single Station Sub Base,
Exhaust Genter meas I ) T SIE200 Solenoid Valve 1 | G 1/4 Port Without Pilot Ports
SIE243-I1P-SC1-CN1-* 2 NPT SP | Single Station Sub Base,
2 4 RS R —
. 1/4 Port With Pilot Ports
315 H:%:ﬂ o DB | Double Modular Sub Base,
h 1/8 Port Without Pilot Ports
Pressure Center
SIE253-IP-SC1-CN1-*x % DC6| Double Modular Sub Base
2 4 $6 One-Touch Fitting
T 162.5(3-Posttion) E End Cover, 1/8 Port
EB | End Blanking Cover

SIB20 SINGLE, DOUBLE SUB BASE s

(SIE200 Solenoid & Pneumatic Valve Use Sub Base) % (Materil: STS304)

= Manifold Gasket.
a = = (Material: NBR)
Double Modular Sub Base Dimension
Ordering Code
24.0 _p=19.0 12.5 SlESE
= = 4-04.5 Hole 3-G1/8
2n—M3x0.5°
Blanking Plate | / E€nd Cover, 1/8
c@ == = =y IS (Material: Al)
< 3° 3°|3° a et
= o D O © |© o e o
g 9 g B <
Manifold Gasket S LNy S @ ’J 4 -
) R = = = 7 4 Ordering Code
g v
. ESEEEEES g SIB20-€8
End Blanking
3.6 B=(19.0n+20.8) 56 ] Cover
A=(19.0n+28.0) REAN (Material: Al)
21.4
2210 350 2-M3x0.5 DP5.0 260 p=194 4n—C1/8 Ordering Code
3 122 3 siB21-D8
|| g H [
— s
£ b/ Jo S >< >,< %”L q dJ 2 Double Modular
E[ ( @ F Sub Base, 1/8
{} 9 o o e = o ENZANZ|INYANTAR (Material: Al)
2 8 B 2 8§ /el /
d 5 One-Touen Fing
oLl By
135] DOUBLE MODULAR SUB BASE DIMENSION -s747i0n Ordering Code
eak H22] \ ™ . SIB20-0C6
(1.2.3.4,5-Port) 2-94.3 Hole TEN 2 4 6 8 10 Double Hodular
8 | 588 | 96810481728 | 2108 Sub Base
— @6 one-touch
A 66.0 104.0 | 142.0 | 180.0 | 218.0 i
itting

(Material: Al)




SIE311-EP-SC2-CN2-**
2 4
315 )
**:\oltage Selection (see page 80)

ORDERING NO.

SIE3

SPECIFICATION

SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 20~10.0
Eff. Sectional Area(mi)-5bar 18.0 11.0
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

25ms or Less 35ms or Less

Max. Working Frequenc

5c/sec 3c/sec

Yy

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

Holding-AC :5.5VA(60Hz) / DC:2.5W

Transition Capacity Graph

2500
2 2000 ——
= 1500 — =
— | T
Z 1000 1 - 1.
& P e 5/2

R — 5/3 tt—

0 - —
1 2z 3 4 5 6 1 8 9 10

Pressure (bar)

Spool : Aluminium
Seals : NBR
Spring : Stainless

Valve Body : Die-Cast Aluminium = Pilot Parts :

The Material of Parts

Glass Filled Nylon
® Armature : Stainless Steel
® Armature Seals : Viton

A -0 P - se2 -
o

Cap : Zinc Pressure Die-Cast

% The specification on each item can be different from actual specification.

]
nt/Ext. Pilot Manual Operator

% The specification on each item can be amended without any prenotice to improve a performance.

—

S|E 3 . 1 5/2 Single 0 None | | Internal Pilot 0 None 0 None 0 None 0 None
SOIenowdl valve 2 5/2 Double 1 Air + Spring E | External Pilot P Push Non-Locking SC2| 3 Pin Connector Coil ~ CN2| Normal Connector A2 | AC 220V
3 5/3 Closed Center 2 Air L Lever Locking SG2| Grommet/Flying Leads CD2| Connector With LED A1 | AC 110V
4 5/3 Open Center 3 Spring SD2| Grommet/Flying Leads CZ2| Connector With LED ~ A4 | AC 24V
SIEP3: 5 5/3 Pressure Center With LED & Surge Suppressor D4 | DC 24V
Pneumatic Valve - D2 | 0C 12v




Solenoid & Pilot Actuated Spool Valves

@gﬁ YP

26mm Body Width

SPort 2Position Solenoid Valve

Single Solenoid
SIE311-IP-SD2-*+
2 4

315

External Pilot

SIE311-EP-SD2-**

26.5

2- 94.3 Hole
(Manifald Hole)

(Lever Locking Type)

Manual Button

220.0

il

2 4 53]
A )l
S AVIIVAY 2 Q’ I H 4][% 3
315 | o
© &
2-M50. aju
1525
380
285
190, ||, so0
25 93.2 DP5.0
|
o z
SE
BE.Ei gy
o solll 55 |
55.0
67.0
0.0 202.0(0ouble) max10.0
Double Solenoid B i
SIE320-1P-SC2-CN2-+x El [H s
24
)
AV IIA: —e— 5
315

L1

U

193.5(Double)

SPort 3Position Solenoid Valve

Closed Center
SIE333-IP-SC2-CN2—**
2 4

v AN IA:

315
maxi0.0

o
xOW

O

es@@

214.0(3-Position)

maxi0.0

Exhaust Center
SIE343-IP-SC2-CN2-#*
2 4

315

kg
lsa]

Pressure Center

SIE353-IP-SC2-CN2-*
2 4

AN LK

315

L b

206.0(3—Posttion)

SIB30 SINGLE, DOUBLE SUB BASE

(SIE300 Solenoid & Pneumatic Valve Use Sub Base)

SPort 2Position Pneumatic Valve

Single Pneumatic
SIEP311
2 4

CAVIIASS
315

Double Pneumatic
SIEP320

2 4
SSANIITAR
315

SPort 3Position Pneumatic Valve

Closed Center
SIEP333

2 4
NS

315
Exhaust Center
SIEP343

110.0

175

CANIIRIAS
315
Pressure Center
SIEP353

==

=R

60.3

0%

Sub Base Ordering Code
SIB3 1| - |S
— | —

SIB3 0 None S Single Station Sub Base,
SIE300 Soleroid Valve 1 | G 1/4 Port Without Pilot Ports
2 NPT SP | Single Station Sub Base,
- 1/4 Port With Pilot Ports
DB | Double Modular Sub Base,
1/4 Port Without Pilot Ports
DC8| Double Modular Sub Base,
88 One-Touch Fitting
E End Cover, 1/4 Port
EB | End Blanking Cover

Double Modular Sub Base Dimension

Ordering Code
SIB30-BLK

=4
===

Blanking Plate
(Material: STS304)

Manifold Gasket.
(Material: NBR)

Ordering Code
SIB31-E

=]
o

2-94.3 Hole \ .

|
2

D
&%

1.0
69.0

5-G1/4
(1,2,3,4,5-Port)

285 _ P=27.0 19.0 4-84.5 Hole
2n-M4x0.7 End Cover, 1/4
(Material: Al)
Blanking Plate — . =5 =, =
(@ (@ (@ (@i
| Lo O O P J
Manifold Gasket g PRS00 o 4 Ordering Code
D O b O = E SIB30-£8
(@ (@ (@ @ )
d IR | | > 3 End Blanking
; i 1 o Cover
[SERSERES =0 e A)
40 B=(27.0n+22.0) 40 18.01 =
46.0 A=(27.0n+30.0) 25.5
38.0 Ordering Code
2-M4x0.7 DP5.0
‘ 19.0 ‘ * _ 105 29.5 P=27.0 4n—G1 /4 SIB31-DB
= ] Double Modular
[— Sub Base, 1/4
Els }g 9 a o ElE (Material: Al
9|
= o > E ® 2
@ d @8 One-Touch Fiting Ordering Code
Fle SIEeE-0 Double Modular
DOUBLE MODULAR SUB BASE DIMENSION -57AT/011 Sub Base
e 4 6 8 10 ©8 one-touch
ITEM fitting
A | 760 [ 130.0 | 184.0 | 238.0 | 292.0
ﬂﬁ ‘ (Material: Al)
B 84.0 | 188.0 [ 192.0 | 246.0 | 300.0







M C S Series

EMCS100

MCS100
SC200
Solenoid Valve
MOUNTED

MCS100
SC300, SCE300
Solenoid Valve
MOUNTED

MCS100
SC400, SCE400
Solenoid Valve
MOUNTED



com

Wire Color | fi | Sejenoid

Black 01 S-01

Brown 02| s-02

Red 03 | s5-03

Orange 04 | sS-04

Yellow 05| 505

Green 06 | S-06

Blue 07 | s-07

Purple 08 | s5-08

Gray 09 | s-09

White 10| s-10

Pink T s11

Light Green 2| s-12

Black/White 13| S-13

Brown/White 14| s-14

Red/White 15

Orange/White | 16

Green/White | 17

Blue/White 18

Purple/White 19

Red/White 20

Orange/Black | 21

Yellow/Black 22

Green/Black 23

Gray/Black 24

Pink/Black 5] oM

D-Sub Connector Pin No.
—
) f\
Sg: ; E:I:)i:n) % @ Sol 14 (Brown/White)
Sol 3 (Red) o) ® (Red/White)
Sol 4 (Orange) D @ (Orange/W'hlle)
Sol 5 (Yellow) B} @ (Green/Whlte)
Sol 6 (Green) ® (€ (Blue/White)
Sol 7 (Blue) 0 (& SPurple/Whlte)
Sol 8 (Purple) D) @ {Red/B'ackJ
Sol 9 (Gray) D) @ Orange/Black)
Sol 10 (White) ® @ (Yellow/Black)
Sol 11 (Pink) 0@ (Green/Black)
@ &

Sol 12 (Light Green)
Sol 13 (Black/White)

@

#§

(24-Gray/Black)
(25-Pink/Black)

SCB31-D-M06

Terminal B

Terminal Box
MCS100 -T14-D4

94.0

3.0

2-M3x0.5
2-62.5 Hole \

o o

Wﬁ i

S o] G o ol o ool ] e Go?

o =

BTN 2 e o
oo} foo) fao) faoy

o]
=

23.0
min
L.
23.0

100.0

107.0

114.5

o 7

MCS100 -T14-D4 /

Terminal Box
+ Manifold Block

Fixed Bolt

Single D-SUB v

Connector Cable

SC311D-F5-P-L-+
SC321D-F5-P-L-x
SC333D-F5-P-#

Plug Connector
With Clip
PG2-01-D
PG2-02-D

Ordering Code
MCS100 —T14—#x

PG2-01-D (100mm)
PG2-02-D (200mm)

MCS100-SC-10 (1m)
MCS100-SC-30 (3m)

MCS100-SC-10
Terminal Box Plug Connector With Clio Single D-Sub Connector Cable IP40
35.0
Female 5
R=i
L=(Cable L: th
Ordering Code Ordering Code UNC NO4—4p |- t=(Cable Length) |

ORDERING NO.

McS1 [0 [0 - [Ti4 - D4
e .

[ [ ]
D—Sub Connector Multipole Wireway Box

Voltage

MCS1:

Multi Connector
Solenoid Valve Mounted

0 Single Module

0 25 Pin D-Sub
Connector

T14 | 14 Station 0 None
D4 | DC 24V
D2 | DC 1V




‘/1/ YPC

Multi Connector System Solenoid Valve Mounted

SC200 Series Mounted

2n—M5x0.8 2n—M5x0.8
(AB—Port) (AB—Port)
133.5 136.0
111.5(3—Position) 111.5(3—Position)
9| 95.0(Double) 9 95.0(Double) w) B0
7 < L (A—Port)
Ty 5 3 T h
-—JeHE oHof = ~—JoHa S = E
= B el = o = = E
2} o) )
e E fol NE: ECS = B e
i E 5 = 3 5 5 = ot E
5w = 5|6 56
glgl q 2 1o ElEI SN = ElEI s
Tzl &l 19 T I < & = TIZl S =
<% & B lof <%l & E = <|®l 4 E
5 Tol 5 5
= Tol 5 5 = 5
Fo el [P Fe & (—
d 9 [isd] Ne-ga Hoe n=sraon EE |200]18.0] \Juge 2 fole n=smon A [ 1) N n=staTon
A 47.0 ml| 10 12 14 ~ 52.0 m~l| 10 12 14 - m~l| 10 12 14
75.0 B | 1145 [ 1355 1565 76.5 B [ 1145] 1355 [ 1%65 B [ 1125] 1335 [ 1545
A |1225] 1435 | 1645 A [1225] 1435 | 1645 A [ 11951405 | 1615
LR
=y e 5
@ selne EER @ sone
cam T
9 s coM ‘
4-M5x0.8 .0 B84.5 1,000
6-G1/8 106.5 1,000 6-G1/8 115 1,000 (P.R-Port)
(P.R1,R2—Port) (P,R1,R2—Port)
2n-G1/8 2n-G1/8
(AB—Part) (AB—Part)
153.0 155.0
133.5(3-Position) 133.5(3-Position)
9 123.5(Double) kel 123.5(Double) | n—M5x0.8
| | | (A—Port)
el e 1
;% e = ~SZACZC e =
e == o | = < :
&)
[TEe 2C ==
"W I e )
3|5l KD 3T DHD === 3= 5 =
2 L= L 3|2 L LI 212
g% MRde 3E i 3%
£l s 4 L = s L[S A\l s &l s
3| e 2 S| e 2l
o =N il 2l L& G o d
e i La 1 e o
2 LS L =« P Ll gl | g
¢ ,‘%, ¢ I Vs <
d ,@g NIl d ,% 7| d g
= 2 = q =
liolc s & g
i
= (& l]
o o ‘ n=STATION ol F04.5 Hle = sTATION ol 9 = sTATON
o ! o & o -
] 8 w0 [ 12 ] 8 o | 12 | 14 ——s680 | ] 8 0 | 12| 14
B | 1360 1680 | 2000 | 2320 1390 [ 1710 | 2030 [ 2350 B [ 1360 1680 | 2000 | 2320
A [ 1490 1810 2130 | 2450 A | 1520 [ 1840 | 2160 | 2480 A [1490 ] 1810 [ 2130 | 2450
o al |
g =
3| 3|
Y 4-G1/8
6-G1/4 68.0 (PR—Port)
(P.R1,R2—Port) 1205 1,000 6-ci/4
1275 1,000
(P.R1.R2=Port)

SC400 Series Mounted

2n-G1 /4 2n-61/4
(AB—Port) (A,B—Part)
160.0 161.5
—| i 151.0(3—Positi
151.0(3—Paosition) (3-Position) n—c1/8
o 138.0(Double) o 138.0(Double) ) (A-Port)
T—s 5/ e =71 | =/
S = | VarWan's T st Dﬁz
i _ £ —
[T = 1 =
1265 e > 2
A y = 5 =
Vas e = 4
Bk ! BB © 3|5 i
g% o6 e 33 : 3% & =
£l s LLES [ & © ] £s
e 128 S K J - d|e £ =
T R T ¥y 5 s B
* 1O/ . &la . % e —
= i
9 9 o o
E - ol N = E £
2 = 2 2 D =
d 4 © 4 +=
e g b 5 =
PEess e & fpe—
S &
[
o g l4—04.3 Holl n=STATION o 4-94.3 Hole n=STATION o g 4-24.5 Hole n=STATION
o o] s [w]we] u @l o] 8 [0 2] 14 @ s 39.0 ] 8 [ 2]
30 B | 1600 | 1980 | 236.0 | 2740 1075 B | 1630 | 201.0 [ 2390 [ 2170 55 79.0 5 [ 1600 [ 1980 [ 2360 | 2140
1730 | 211.0 | 2490 | 2870 A | 1760 | 2140 | 2520 | 2200 A | 1730 211.0 | 2490 | 2870
r =
fl
9 ol o L 1
o :
5 3 a2 2\
o 199
g =
9.5 zo.o‘
4-61/8 39.0
6-G1/4 P.R—Port;
(P.R1,R2—Port) 1245 1,000 6-Gl/4 (PiR=Port) 98.5 1,000
(P,R1,R2—Port) 130.5 1,000




Terminal Box

MCS100 -T14-D4

; Pin | Solenoid 3.0 94.0 3.0
Wire Color No. No. I I
Black 01 | s-ot =, ;
Brown 02 | s-02
Red 03] s-03 ’ﬁ i
Orange 04 | S-04
Yellow 05| 505 2-M3x0.5
Green 06 | S-06 2-92.5 Hole B
Blue o[ 507 ] IS
Purple 08 | S-08 ‘) o om0 [P m
Gray 09 | s-09
White 10 | s-10
Pink 1] s
Light Green 12| s-12
Black/White 13| s-13
Brown/White 14| s-14
Red/White 15
Orange/White 16
Green/White 17
Blue/White 18
Purple/White 19
Red/White 20
Orange/Black | 21
Yellow/Black 22
Green/Black 23
Gray/Black 24
Pink/Black 25 com
D-Sub Connector Pin No.
((——
)
Sol 1 (Black \ D (i3 Sol 14 (Brown/White)
Sol'2 (Brown) DG (Red/White)
Sol 8 (fied) 9 ® (Orange/White)
Sol 4 (Orange) O) . §
| @ (Green/White)
Sol 5 (Yellow. 5 @ (Blus/White)
)
gg: 3 Eglrf:\” % ® (Purple/White) Torminal 5 /
\ @ (Red/Black) erminaf Box
Sol 8 (Purple) B @ (Orange/Black) MCS100 -T14-D4
Sol 9 (Gray) 9 5 .
Sol 10 (White) ) @ (Yellow/Black)
S N @ (Green/Black) Terminal Box
ol 11 (Pink O = .
Sol 12 (Light Green) ) é |—— com + Mamfold Block
Sol 13 (Black/White) Q (24-Gray/Black) Fixed Bolt
\/ (25-Pink/Black)
@ Single D-SUB /
Connector Cable
NS MCS100-SC-10
Terminal Box Plug Connector With Clip Single D-Sub Connector Cable IP40
17.0
35.0
Female s
<
I
)
RS
L=(Cable Length
) Ordering Code Ordering Code UNC NO.4-40 | L= (Coble Length) |
Ordering Code PG2-01-D (100mm) MC$100-SC-10 (1m)
MCS100 ~T14-x PG2-02-D (200mm) MCS100-SC-30 (3m)

ORDERING NO.

McS1 [0 [0 - [Ti4 - D4
e .

[ [ ]
D—Sub Connector Multipole Wireway Box

Voltage

MCS1:

Multi Connector
Solenoid Valve Mounted

0 Single Module

0 25 Pin D-Sub
Connector

T14 | 14 Station 0 None
D4 | DC 24V
D2 | DC 1V

SCE311D-F5-P-L—**
SCEB21D-F5-P-L—**
SCE333D-F5-P—*x

Plug Connector
With Clip
PG2-01-D
PG2-02-D



‘/1/ YPC

Multi Connector System Solenoid Valve Mounted

SCE300 Series Mounted

2n—G1/8 2n—G1/8
(AB—Port) (AB—Port)
164.5 169.0
158.0(3—Position) 158.0(3Position)
ol 148.0(Double) n—M5x0.8
2 148.0(Dauble) b (1 ) 2 (amport)
Hoel e/l Hoe o] /1
A1 e Bl BT e gl e 7 I
] i Tt fi-1e &) 1t =
B Ll | = B |l = —
BTG = BT = =
(2o = = =
53 =, = i
L = = 2
5 HEOH = ol £ s Fi
& T8 &= &l B
£ E O gz N5 = = fHE = = | =
S| < T S| S S| e
HE HED! = gle = gL £
T [Tt 7 T T T8 3
e oo sie |1 14, = g4l =
e T 3| P
0 [ = i = 1 £
of T of o ®
= = =
= E = = =
T — = Fe
o = o = =
= + o
| 4-04.5 Hol o £-64.5 Hole o 9

0|
) B
B N
|
o
ElE]
1 17.0 K
68.0 4-G1/8
6-C1/4 120.5 5,000 (P,R=Port)
P,R1,R2—Port] - = 6-G1/4
@ ort) (P.R1R2—Port) 122.5 5,000
n=sTATION n=STATION n=sTATION
w8 10 12 14 | 8 10 12 14 w8 10 12 14
B [ 1360 1680 [ 2000 | 2320 B | 1390 [ 171.0 [ 2030 | 2350 B [ 1360 1680 [ 2000 [ 2320
A [1490 | 1810 [ 2130 | 2450 A | 1520 1840 | 2160 | 280 A [1490 1810 [ 2130 | 2450
SCE400 Series Mounted
2n—-G1/4 n—G1/4
(AB—Port) (AB—Port)
1700 1740
— | i 175.0(3—Positir
N 175.0(3—Position) " (3—Position) —ci/8
o 163.0(Double) | 163.0(Double) | (A=Port)
Hogsiddl o Ho el B
1 ar\ - | a>\ 3 ist
B 1 O\ Il HS = 1T BT R ® [¥
f5-1] 7an) = g5 1 D 1= 0
E:—‘_Liix:é% Fl1T = EiLf,::T% [ CT5H ® f
i = i O P
MASNY) 1 SN 1 @ ¥
fa = fa =] £
9 5 x:‘ji% 5 [ ol 5 IS S 1= Sz i
8|7 O P iz eler HE »
1 HeErnE 1 e 1y e
¢l o @) o EIE ik
2| : 2 2|2 d 2 2| i
T = — |0 o — [
5 ; e i e
o §W/ il of >\u< o i
il T o T T
g @) g . o i
— 1 b i e
i = O i
HISSY S 1 IS 5 1 i
D) | D) M8 3}
9 RIS 5 E Lo \S% ol 1 il
al BN 5 —¢ <
] ‘2410‘ #—24.3 Hole ) 30.0 ‘QOYO 4-94.3 Hole | [4-94.5 Hole
©l 65.0 <l 71.0 i 39.0
3.0 112.0 120.0 65 91.0
9
I % Sol1 g Sol1
= Sol 2 sol 2
L=
o D = 2
E S S @ sare I e S @ sone
] cou EEE P . cou
19.0] 210|200 _ /| a0
s-ci/4 65.0 © ;751/3 ‘
(P,R1,R2—Part) 126.0 5,000 s-c1/a 71.0 »R—Por 98.5 5,000
(P,R1,R2—Port) 130.5 5,000
n=STATION n=STATION n=STATION
w8 10 12 14 m| 8 10 12 14 w8 10 12 14
B | 1600 | 1980 [ 2360 | 2740 B | 1630 [ 201.0 [ 2390 | 277.0 B | 1600 | 1980 | 2360 | 2740
1730 [ 211.0 | 2490 [ 287.0 A [1760] 2140 2520 [ 2900 A [1730] 2110 [ 2490 [ 2870







SC:SCE covmpacn Series

ESC200

A F -F 188333

SC200 SC300 SC400
Body Width-10mm Body Width-15mm Body Width-18mm
Thread-M5, M3 Thread-1/8, M5 Thread-1/4, 1/8

e SCE300
nSCE400
R SCESO0O0O

SCE300 SCE400 SCES500
Body Width-15mm Body Width-18mm Body Width-26mm
Thread-1/8, M5 Thread-1/4, 1/8 Thread-3/8



*x:Voltage Selection (see page 10)

ORDERING NO.

sc2 1 1 D -
I_\

SC271D-F-P-L-xx
2

AN

13

il

SCP261D-F
2

AT e

13

SPECIFICATION

SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5, 3Port 2Position 5Port 3Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 20~7.0 25~70
Eff. Sectional Area(mi)-5bar 2.3 1.8
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

20ms or Less 30ms or Less

Max. Working Frequency

10c/sec 8c/sec

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

DC:10% or Less

Power Consumption(DC)

Holding-DC: 0.65W (24V:27.0mA/12V:54.0mA)

Transition Capacity Graph

300 ‘ ‘

200

5/2,3/2
5/3

150

Qn (I /min)

— 1. ="
T —

100

=
—

50

3 4 5 6 7 8
Pressure (bar)

Spool : Aluminium
Seals : NBR
Spring : Stainless

The Material of Parts
Valve Body : Die-Cast Aluminium = Pilot Parts :

Cap : Zinc Pressure Die-Cast

Glass Filled Nylon
® Armature : Stainless Steel
® Armature Seals : Viton

3Port M5 Bottom Port Plate

Port Plate Ordering Code (Material : Zinc)

g SC200-B

Blanking Plate

SC200-FC5
5-Port ¢4 One-Touch Fitting

SC200-FC3
3-Port ¢4 One-Touch Fitting

SC200-E
External Plate

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

Voltage

Solenoid Coil Type

]
Retum Method Port Type Port Plate & Thread Monual Operator
0

SC2: 1 5/2 Single 0 None D | Manifold 0 None None 0 None 0 None
' 2 | 5/2 Douvle 1 Air +Spring B | Sub-Base F5 | 5-Port M5x038 P | Push L 90 Degree Plug-in Wire D4 | DC 24v
Solenoid Vlve 3 | 5/3 Cosed Center 2 | Ar F3 | 3-Port M5X08 Non-Locking Assembly with LED AR
4 5/3 Open Center 3 Spring FN5| 5-Port NPT M5X0.8 L Lever Locking M 180 Degree Plug-in Wire
SCP2 : 5 5/3 Pressure Center FN3| 3-Port NPT M5X0.8 Assembly with LED
Preumatic Valve 6 | 3/2 Normaly Closed FC5| 5-Port 94 One-Touch Fitting
7 3/2 Normally Open FC3| 3-Port 84 One-Touch Fitting

YPC

E External End Plate, Plate M3x0.5
B Blanking End Plate




-

Solenoid & Pilot Actuated Spool Valves Port Thread M5, M3

5Port 2Position Solenoid Valve (Manifold) SPort 2Position Solenoid Valve (Sub-Base) BPort 2Position Pneumatic Valve
Single Solenoid Single Solenoid Single Pneumatic
SC211D-F5-P-L—** SC211B-B-P-L-** SCP211D-F5

2 4 2 2 4
ST ke ANIIPAZS

315 315 315

Single Pneumatic
60.7 SCP2118-8

66.0 2 4
CANIIVASE
315

Double Solenoid

SC220D-F5-P-L-*x Double Pneumatic ‘

24 |
) SCP220D-F5
mm Double Solenoid
315 External Pilot

2 4
LVIIVASE
315

SC220B-E~P-M-**

5Port 3Position Solenoid Valve (Manifold) MME%S
315

Closed Center
SC2330-F5-P-M-#+

BPort 3Position Pneumatic Valve

Closed Center 5.5
SCP2338 5 \ |

5Port 3Position Solenoid Valve (Sub-Base) SN P %

3158
315
Exhaust Center Closed Center | ea0 |
5C243D-F5-P-M-+x SC233B-B-PL-r Exhaust Center
2 4 il SCPZASB;B
315 D= <
315
Pressure Center Exhaust Center 515
Pressure Center

SC25SD>2F5;F’-M-** SC243B-B-P-L—+x
scP2538-8

LRVIEHIVA.. oA TIIIVALS i SR

315

3Port 2Position Solenoid Valve (Manifold) Pressure Center

i ; SC253B-B-P—L—++ o .
fggg'gfg'iﬁﬁ'd L us0s(-Por) 5 s 3Port 2Position Pneumatic Valve

2 315 Single Pneumatic . 7337&‘ M3x0.5(2—Port)
m Sgpzem T M5x0.8

13

AN e
1 3

35.0

Eg’]: Foad = 2—M3x0.5(1,3—Port)
: W
—M3x0.5(1,.3—Port) adls 7.0

Manifold Ordering Code
SCB20 SINGLE, DOUBLE MANIFOLD BLOCK — o
(SC200 Solenoid & Pneumatic Valve Use)
Manifold Block Dimension
SCB2 0 | None 0 None MO2 | 2-Station
SC20 Solenoid Valve 1 G S Single Station Sub Base, MO04 | 4-Station
2 NPT 1/8 Port Without Pilot Ports ~ MO6 | 6-Station
2 SEER-ELX SCB20-BLK Double Modular D Manifold, Port 1/8 M08 | 8-Station
Blanking Plate Blanking Plate Manifold Block Dimension DB | Double Modular Manifold Block, M10 | 10-Station
@ P=10.5 14.0 M5 Port
s @ DC4 | Double Modular Manifold Block,
Manifold Gasket Base Gasket 16.8 @4 Fitting
B N D3 | Manifold, M5 Port
4-84.2 Hole
w3051 — / Ir = Without Pilot Ports(3/2Way)
L | a
—] o]
i j“‘ﬁ 8 NER
e < v o o
P=10.5 14, o 0 9
* sl ol
| o-ci/8 ‘ B d Single Station Sub Base
. o & I v o = =
%2.4’@2% 1 (1.3.5-Port) (1.35—Port) zalﬁil B Dimension (SCB21-S)
H o 40 || B=(10.5n+9.5) 4.0 60.5
& Ooxe jo A=(10.5n+17.5)
NS0 fi E s DOUBLE MODULAR DIMENSION STATION
AR & el 2 4 6 8 10
\47l4.2 Hole e“ g“@‘ » o E A 30.5 51.5 | 72.5 935 | 1145
% \ 2,9,9, ?.74" 87 8 | 385 | 595 | 805 | 1015 [ 1225
P=10.5 __.‘_\z_g_ u,_[
40 || B=(105n+9.5) 4 & /Q’szo»“
A=(10.5n+17.5) . _ . —
Manifold Block Dimension J J Jda
o | g <
5PORT MANIFOLD BLOCK DIMENSION _g 170y o 125 3 ALl
el 2 4 6 8 10 o
A 305 | 515 | 725 | 935 | 1145 [F1FF 5-G1/8/| EJ_‘ \2,9,34
B | 85 | 595 | 805 | 1015 | 1225 50 AR =R 20
~ /’2*?35 Hole o “ 4—M5x0.8
gsiii P‘B;K n-M5x0.8_ [} g = (=Rt Ordering Code Ordering Code
3PORT MANIFOLD BLOCK DIMENSION _g. 17 0, @mror) N4 3 ECEZERRS ECEZ0aE A
= (s Ik | & Blanking Plate Blanking Plate
e 2 9 g g LY @ Material: STS304) @ (Material: STS304)
A 285 | 495 | 705 | 915 | 1125 35 B=(10.5n+7.5) 35 Manifold Gasket.
B | 355 | 565 | 77.5 | 98.5 | 119.5 Manifold Gasket A=(10.5n+14.5) \, Manifold Gasket. << Base Gasket.
(Material: NBR) S (Material: NBR)




SC300. 1/8

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5, 3Port 2Postion 5Port 3Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~7.0 20~7.0
Eff. Sectional Area(mi)-5bar 9.0 75
Ambient & Fluid Temp. 5~60°C(41~140°F)
Response Time(5bar) 25ms or Less 35ms or Less
Max. Working Frequency 8c/sec 5c/sec
Lubrication Not Required(Use I1SO VG32# )
Manual Override Push Button(Standard), Lever Lock(Option)
Coil Insulation Class F-Class or Equivalent
Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage DC:10% or Less
Power Consumption(DC) Holding-DC: 0.65W (24V:27.0mA/12V:54.0mA)
Transition Capacity Graph
1200
eI
£ 5/2,3/2
g w0 T —
Z 600 — =
— e ="
& 400 e e
L ——FT
200 ——
0
1 2 3 4 5 6 7 8
Pressure (bar)
SCP3610-F
M e The Material of Parts
ne m Valve Body : Die-Cast Aluminium m Cap : Zinc Pressure Die-Cast
m Spool : Aluminium m Pilot Parts : Glass Filled Nylon
m Seals : NBR m Armature : Stainless Steel
m Spring : Stainless m Armature Seals : Viton
Port Plate Ordering Code (Material : Zinc)
@5@045 SC300-FC5 SC300-E
5Port G1/8 Bottom Port Plate 5-Port $6 One-Touch Fitting External Plate
é SC300-F3
3Port G1/8 Bottom Port Plate 3-Port $6 One-Touch Fitting
**:\Voltage Selection (see page 10)

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

ORDERING NO.

’—l | |
] ]
Retun Method Port Type Port Plate & Thread Manual Opera Solenoid Coil Type Voltage
0

SC3: 1 5/2 Single 0 None D | Manifold None 0 None 0 None 0 None
! 2 5/2 Double 1 Air +8Spring B | Sub-Base F5 | 5-Port G1/8 P Push L 90 Degree Plug-in Wire D4 | DC 24V
Solenoid Valve 3 [ 55 coa Coner 2 | Ar F3 | 3Potol/s Non-Locking Assembly with LED D2 | oo v
SCP3: 4| 5/3 Open Center 3 | Swing FN5| 5-Port NPTI/8 L | Leverlocking M | 180 Degree Plug-in Wire
Pneumatic Valve 5 | 5/3 Pressure Center FN3| 3-Port NPTI/8 Assembly with LED
6 3/2 Normally Closed FC5| 5-Port 86 One-Touch Fitting
7 3/2 Normally Open FC3| 3-Port @6 One-Touch Fitting
_ E | Extemal End Plate, Plate M5%08




®°

\ =

Solenoid & Pilot Actuated Spool Valves

Q%fé%ﬁ# YPC
Port Thread 1/8, M5

BPort 2Position Solenoid Valve (Manifold)

Single Solenoid
SC311D-F5-P-L-+x
2 4

315 -
(Manifold Hole)

=

)
s

PS.0(back)

Double Solenoid
SC320D-F5-P-L—x
2 4

315

5Port 3Position Solenoid Valve (Manifold)
Closed Center

SC333D-F5-P-M—**
2 4

315
Exhaust Center
SCB43D-F5-P-H-x

T T

STS
Pressure Center
SC353D-F5-P—M—**

315
3Port 2Pgsition Solenoid Valve (Manifold)
Single Solenoid

SC361D-F-P-L-x*
2

M5x0.8(2—Port)

| 68.0 ‘

2-M5x0.8(1,3-Port)

Manifold Ordering Code
SCB30 SINGLE, DOUBLE MANIFOLD BLOCK
. ; SCB3 1 - D - Mo4
(SC300 Solenoid & Pneumatic Valve Use)
Manifold Block Dimension
SCB3 0 | None 0 None M02 | 2-Station
SC300 Soenoid Vahe 1| G S | Single Station Sub Base, M04 | 4-Station
SCB30-BLK ; ; o6 | estation
i ‘ SCB30-BLK Double Modular 2 NPT 1/4 Port Without Pilot Ports ~ M06 | 6-Station
— Blankino Plate Manifold Block Di - D | Manifold, Port 1/4 M08 | 8-Station
= = &l P:‘gcm_u . sSion DB | Double Modular Manifold Block, M10 | 10-Station
== 1/8 Port
Manifold Gasket B G t
’ e Gase o DC6 | Double Modular Manifold Block,
200 1 75 port) .
3_9{ @6 Fitting
AenE 5 D3 | Manifold, Port 1/8(3/2Way)
P=16.0 18.5 M5x0.87Y yz
5t
= & & &, @/ o -
NIEE 1R &%
g EF
g 1 ons o o | FL b 15T S Single Station Sub Base
3 ole .3.5—Porf (%) (%) | H H
2nc1/6_ (VK == S E Dimension (SCB31-S)
(2,4—Port) T — ‘ T
J N J S 15.9
i ql q o 330 |
]l o 3| 65.5
D 6.5 B=[16.0n+11.0] 6.5
(D A=[16.0n+24.0]
2610 P=16 14.0
R DOUBLE MODULAR DIMENSION -
— -
@ @ \@ @77, ol ITE 2 4 ° o 10 2-M3x0.5 2-04.4 Hole
6.5 B=(16.0n+8.0) 6.5 AT A g A | 430 [ 75.0 [ 107.0 | 132.0 \ =
A=(16.0n+21.0) '@_ @ @, @_ B8 | 56.0 | 88.0 [ 1200 | 152.0 = K
P=16.0 ‘ 26.0 | o g Ej o o
5PORT MANIFOLD BLOCK DIMENSION _s7a7ion h EREIESImEE
2 4 6 8 10 - - . @S]
ITE} |
A 40.0 | 72.0 [ 104.0 | 136.0 | 168.0 ManﬁOId BIOCK DlmeHSIon = [T H—
B | 53.0 | 85.0 [117.0 | 149.0 | 181.0 E=610 M !.;_-% 2.5]
3PORT MANIFOLD BLOCK DIMENSION . 57 0n SCB36-BLK "MV [S [/ BB Ordering Code Ordering Code
T 7 5 5 T Blanking Plate SCB36-BLK SCB30-BLK
ITEM — @ R B B / q Blanking Plate Blanking Plate
A 1400 | 720 1104011560 | 1680 ol gld |9 |3 (Material: STS304) (Material: STS304)
8 53.0 85.0 |117.0 | 149.0 | 181.0
- _ &> Manifold Gasket.
Hanirold Gastet 6.5 B=(16.0n+8.0) 6.5 Manifold Gasket. Base Gasket.
A=(16.0n+21.0) (Material: NBR) NS (Material: NBR)

5Port 2Position Solenoid Valve (Sub-Base)

Single Solenoid
SC311B-0-P-L-**

2 4
=RVIIVA:Y bes
2-93.2 Hole,
315 (Manifold Hole)

ol ]
o
9

Manual
@[Bunon

Double Solenoid

External Pilot
SC320B-E-P-M-#+

315

5Port 3Position Solenoid Valve (Sub-Base)

Closed Center
SC333B-0-P-L—*+
2 4

315
Exhaust Center
SCSABBE()*E*L*H

315
Pressure Center
SC3538-0-P-L-**

2 4

s RVIERIIPA

315

BPort 2Position Pneumatic Valve

Single Pneumatic
SCP311D-F5
2

4
ANIITARY
315

M5x0.8

Single Pneumatic
ScPaiiB
2 4
CAVIIVARS
315

Double Pneumatic
SCP320D-F5
2 4

Eiviiyaxs
315
5Port 3Position Pneumatic Valve

Closed Center
SCP3338
70.5

2 4
i3

Exhaust Center
SCP3438

2 4

315
Pressure Center
SCP3538

2 4
315

3Port 2Position Pneumatic Valve

Single Pneumatic
SCP361D

2
PN
13

M5x0.8(2—Port)

M5x0.8

2-M5x0.8 (1,3-Port)
e
_Jad_ |10




SC400. 1/4

&=
Sl

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5, 3Port 2Position 5Port 3Position
I Fluids Compressed Air & Inert Gases
SCHIDFEPohmes SCH 1B-0-P e Pressure(bar) 15~7.0 20~7.0
Eff. Sectional Area(mi)-5bar 16.0 12.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
Response Time(5bar) 25ms or Less 35ms or Less
Max. Working Frequency 5c/sec 3c/sec
Lubrication Not Required(Use I1SO VG32#)
Manual Override Push Button(Standard), Lever Lock(Option)
Coil Insulation Class F-Class or Equivalent
Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage DC:10% or Less
Power Consumption(DC) Holding-DC: 0.65W (24V:27.0mA/12V:54.0mA)
Transition Capacity Graph
2000 T 11
£ 1600
1S —_—5/2,3/2
S 1200 ———s = —
5 8o e ey
400—— =T
o)
1 2 3 4 5 6 7 8
Pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Cap : Zinc Pressure Die-Cast
m Spool : Aluminium m Pilot Parts : Glass Filled Nylon
m Seals : NBR m Armature : Stainless Steel
m Spring : Stainless m Armature Seals : Viton
Port Plate Ordering Code (Material : Zinc)
L <
SC400-F5 DU—E
5Port G1/4 Bottom Port Plate External Plate
SC400-F3
3Port G1/4 Bottom Port Plate 3-Port $8 One-Touch Fitting
*x:Voltage Selection (see page 10) % The specification on each item can be amended without any prenotice to improve a performance.

% The specification on each item can be different from actual specification.

ORDERING NO.

I—' I_I 1
Retun Method Port Type Port Plate & Thread Manual Operator Solenoid Coil Type Voltage
0

SC3: 1 5/2 Single 0 None D | Manifold 0 None None 0 None 0 None
! 2 5/2 Double 1 Air +8Spring B | Sub-Base F5 | 5-Port G1/4 P Push L 90 Degree Plug-in Wire D4 | DC 24V
Solenoid Valve 3 | 5/3 Closed Cemter 2| A F3 | aPotGI/d Non-Locking Assembly with LED D2 | oC v
SCP3: 4| 5/3 Open Center 3 | Swing FN5| 5-Port NPTI/4 L | Leverlocing M | 180 Degree Plug-in Wire
Pneumatic Valve 5 | 5/3 Pressure Center FN3| 3-Port NPTI/4 Assembly with LED
6 3/2 Normally Closed FC5| 5-Port #8 One-Touch Fitting
7 3/2 Normally Open FC3| 3-Port @8 One-Touch Fitting
_ E | Extemal End Plate, Plate M5%08




Solenoid & Pilot Actuated Spool Valves

Port Thread 1/4,1/8

BPort 2Position Solenoid Valve (Manifold)

Single Solenoid

2- 61/4(2,4—Port)

140 42.0
SC411D-F5-P-L—** f Red
p
o 255 | 19.0 2-04.2 Hole Bk
5 (Manifold Hole)
&
T + = Th—
ol i o
3 2 of B [ i
NESI m B H 3
(- | N
M zss Tras] Ny DPF.0(back)
82.5
104.0

Double Solenoid
SC420D-F5-P-L-+* —IT

ort)

5Port 2Position Solenoid Valve (Sub-Base)

Single Solenoid
SC4118-0-P-L-*x
2

Manual
Button

Double Solenoid

M5x0.8
2 4 External Pilot
| 138.0 ;1 5 T @ ‘
5Port 3Position Solenoid Valve (Manifold) 1520

Closed Center
SC433D-F-P-M-*x

315
Exhaust Center
SC443D-F5_P-h-1x

i

SPort 3Position Solenoid Valve (Sub-Base)
Closed Center
SCABBB*ZO;)PfoH

Exhaust Center

BPort 2Position Pneumatic Valve

Single Pneumatic
SCP411D-F5
2 4

LANIARS
315

i

Single Pneumatic
SCP4118

Double Pneumatic
SCP420D-F5

2 4
et uIvASS
315
SPort 3Position Pneumatic Valve

Closed Center
SCP4338 2

315
Exhaust Center
SCP4438

4

31
Pressure %emer

=
122.0 SC4438-0-P-L-*x B
Ty 144.0 2 4 F° of SCP4538
3| 2 4
Pressure Center : VMEN .
SCA453D-F5-P-M—xx 515 @»@ v — <
274 Pressure Center
S04588-0-P-L=x e 3Port 2Position Pneumatic Valve
o1 . ' BN T A, ' Single Pneumatic
3Port 2Position Solenoid Valve (Manifold) l 5k l SCP41D
Single Solenoid 280 G1/8(2-Port) 2
SC461D-F-P—-L—++
: NI
CANIE v
13
SCB40 SINGLE, DOUBLE MANIFOLD BLOCK i
)
(SC400 Solenoid & Pneumatic Valve Use) SCB4 1 - D - Mo
Manifold Block Dimension
Double Modular SCB3 0 | None 0 |[None M2 | 2-Station
Manifold Block Dimension | SC00SewdVale 1 | G S | Single Station Sub Base, M4 | 4-Station
SCB40-BLK 2 | NPT 1/4 Port Without Pilot Ports  M06 | 6-Station
CEIDEED - D | Manifold, Port 1/4 M08 | 8-Station
— DB | Double Modular Manifold Block, M10 [ 10-Station
SSS=g w0 1/4 Port
CLEDELEE %r(«s,s—w DC8 | Double Modular Manifold Block,
4—94.3 Hols [ it
J € A ®8 Fitting
[ R E D3 | Manifold, Port 1/8 (3/2Way)
9 = M
P=19.0_20.0 60.0 & = JT o ;
% — _ O Single Station Sub Base
an—ci/e 7 R E Dimension (SCB41-S)
(2.4—Pang 5 4-94.3 Hole ?1?::;,‘5/}%() o —~
1 38.0
SRS GZ 2 f 77.0
> G — B Ef 65 B8=[19.0n+11.0] 6.5
\\ 2 A=[19.0n+24.0]
of |H) S
&5@ (‘Z&SL{;‘) P=19.0143
|| ! E Double Modular Sub Base Dimention A el T
= S ” s
I % =9l e 2 4 6 8 10 £
:QE @ @ 3\ “ = B | 49.0 | 87.0 [125.0( 163.0| 201.0 7 @
@ @ ga A S’ A 62.0 [100.0 [ 138.0 [ 176.0 | 214.0 —
6.5 B=(19.0n+8.0) 6.5 o ol o o
A=(19.0n+21.0) pP=19.0. 267 g 1( @7 < o &
Manifold Block Dimension Y
SPort Manifold Block Dimention . I |47 E=
e 2 4 6 8 10 =+l [F] [= 5-61/4_/I0.g ‘ 1
B | 46.0 | 84.0 |122.0 | 160.0| 198.0 an . (1.2,3,4,5-Port) | 250 |
n- "
A | se.0 | 97.0 [135.0 [ 173.0] 211.0 (2-Port) raUr-alry s oe3 Hole (1,3—Port)
3 E on A
o e S - L1 I° ) Ordering Code Ordering Code
Port Manifold Block Dimenti - ® SCB46-BLK = rdering =
Sor azm o 4Uc Te" m: o Blanking Plate oD D |D ra ElE SCB46-BLK SCB40-BLK
ITE = & Blanking Plate Blanking Plate
5 | 40 | 840 [1220] 1600|1880 L S S| £ o (Material : STS304) @ (Material : STS304)
A | 59.0 | 97.0 [135.0 [ 173.0] 211.0 ‘L‘—FL’IA Manifold Gasket.
65 A=(19.0n+8.0) 65 17.0 5 -
Manifold Gasket 5=(19.01721.0) 20 Manifold Gasket. Base Gasket.
(Material : NBR) <& (Material : NBR)




SCE300.1/8

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
SCE318-0-P-501-++ ITEM FUNCTION 5, 3Port 2Postion 5Port 3Postion
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 20~10.0
Eff. Sectional Area(mi)-5bar 95 75
Ambient & Fluid Temp. 5~60°C(41~140°F)
Response Time(5bar) 25ms or Less 35ms or Less
Max. Working Frequency 8c/sec 5c/sec
Lubrication Not Required(Use I1SO VG32# )
Manual Override Push Button(Standard), Lever Lock(Option)
Cail Insulation Class F-Class or Equivalent
Permissible Voltage Variation +10% of Rated Voltage
Off Min. Residual Voltage AC:20% or Less / DC:10% or Less
Power Consumption Holding-AC:3.5VA(60Hz) / DC:2.5W
Transition Capacity Graph
1200
E\ 1000 g
E 800 — — -
Z 600 L= L=t
c — 1 _—+-—T -
S 400 == 5/2,3/2 [
200 ——=— = R
[ [ [ [ ]
0 1 2 3 4 5 6 7 8 9 10
Pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
m Spool @ Aluminium ® Armature : Stainless Steel
m Seals : NBR ® Armature Seals : Viton
m Spring : Stainless
m Cap : Zinc Pressure Die-Cast
Port Plate Ordering Code (Material : Zinc)
SC300-F5 SC300-FC5 SC300-E
5Port G1/8 Bottom Port Plate 5-Port $6 One-Touch Fitting External Plate
S
*x:\Voltage Selection (see page 80) SC300-F3 = SC300-FC3
3Port G1/8 Bottom Port Plate 3-Port $6 One-Touch Fitting

x The specification on each item can be amended without any prenotice to improve a performance.

ORDERING NO. % The specification on each item can be different from actual specification.

| | |
| IJ I_\ 1 1 1 I—l I—l |_I
Retum Method Port Type Port Piate & Thread || Manual Operator Solenoid Coil Type Connector Type Voltage
0 0 0 0

SCE3: 1 5/2 Single 0 | None D [ Manifold None None 0 None None None
Soenoid vlalve 2 | 5/2 Doudle 1 Air + Spring B | Sub-Base F5 | 5-Port G1/8 P | Push SCT| 3 Pin Connector Coll CN1| Normal Connector A2 | AC 220V
3 5/3 Closed Center 2 Air F3 | 3-Port GI/8 Non-Locking  SG1| Grommet/Flying Leads CD1| Connector With LED Al | AC 110V
SCEP3 . 4 5/3 Open Center 3 Spring FN5| 5-Port NPT1/8 L Lever Locking  SD1| Grommet/Flying Leads CZ1| Connector With LED ~ A4 | AC 24V
o 5 5/3 Pressure Center FN3| 3-Port NPT1/8 With LED & Surge Suppressor | D4 | DC 24V
PreamEte Ve T 12 Nomally Closed FC5 | 5-Port 96 One-Toueh Fiting SLT| %0 Degree Plug-in Wire D2 | oC 12v
7 3/2 Normally Open FC3| 3Put 96 One-Touen Fiting Assembly with LED —
_ E_ External End Plate, SM1| 180 Degree Plug-in Wire

Plate M5x0.8 Assembly with LED
1 5) -



Solenoid & Pilot Actuated Spool

Valves

Q%fé%ﬁ# YPC
Port Thread 1/8, M5

SPort 2Position Solenoid Valve (Manifold)
Single Solenoid 0.

SCE311D-F5-P-SD1-#x
2 4 E
(Manifold Hole)
315
o = o
el Y
18 e o y
o 220038 N 505 0pg0(back)
= 102.7

Double Solenoid
SCEB20D-F5-P-SM1—**

2 4
A Ll
315

BPort 3Position Solenoid Valve (Manifold)

Closed Center
SCE3IAD_FH-P-SLI-+t

139.5

315
Exhaust Center
SCEB43DF5-P-SL1-+x

HEEEES NN

‘ 1580 |

315
Pressure Center
SCEB530-F5-P-SL1-#

315

3Port 2Position Solenoid Valve (Manifold)

Single Solenoid JLQ‘ M5x0.8(2—Part)
SCE361D-F-P-SM1—* —R¥ [ 0
> Ertplre=
14.5| B.5

SCB30 SINGLE, DOUBLE MANIFOLD BLOCK

(SCE300 Solenoid & Pneumatic Valve Use)

Manifold Block Dimension

SPort 2Position Solenoid Valve (Sub-Base)
Single Solenoid

SPort 2Position Pneumatic Valve

Single Pneumatic
SCEP311D-F5

2 4
M7
315
=
mewf.o [

Single Pneumatic
SCEP3118
2 4

SCE3118-0-P-SC1-CN1-#
2 4
315 (Monfio\d Hole)
106.5
0
of B
a4
102.7

0 156.0

— e
315

Double Pneumatic
SCEP320D-F5

Double Solenoid

External Pilot
SCE320B-E-P-SC1-CN1-+x
2 4

e

2 4
Mz

315

SPort 3Position Pneumatic Valve

SCEP3338

315 g

SPort 3Position Solenoid Valve (Sub-Base)

Closed Center
SCE333B-0-P-SC1-CN1-x

mex10.0 166.0

Exhaust Center
SCEP3438

2 4

mox10.0

315

Exhaust Center
SCE3438-0_P-SC1-CN1-x

315
Pressure Center
SCEP3538

2 4

315

T T

STE\
Pressure Center

3Port 2Position Pneumatic Valve
Single Pneumatic

SCE353B-0-P-SC1-CN1-#*
4

315

SCEP361D

2
AT
13

Closed Center ‘L

|
SR f——it

86.0

M5x0.8 (2-Port)
M5x0.8

2-M5x0.8 (1,3-Port)
jsé 1.0

Manifold Ordering Code

,—l

B3 1 - Mo4

|—|-

SCB3 0 | None 0 None M02 [ 2-Station
SC300 Solenoid Vale 1 G Single Station Sub Base, MO04 | 4-Station
Double Modular 2 | NPT 1/4 Port Without Pilot Ports ~ M06 | 6-Station
) = = = Manifold, Port 1/4 -Stati
G b Manifold Block Dimension D 2 i M0 | GRS
P SCB30-BLK SCB30-BLK DB | Double Modular Manifold Block, M10 [ 10-Station
Blanking Plate Blanking Plate =16.0_20.0 ]/8 Port e
g 2 TITC
‘_& DC6 | Double Modular Manifold Block,
Manifold Gasket Base Gasket | @6 Fitting
. D3 | Manifold, Port 1/8 (3/2Way)
M5x0.8- 4-@4.5 Hol
(1,3,5—-Port)
'=16.0_18.5
! A
[trmoim R g . "
] s Single Station Sub Base
] 9 S A
g,,, D |8 E Dimension (SCB31-S)
2-61/8 4-94.5 Hol 16.0, /~(1,3,5-Port) - - §
(2,44("/1) 4‘7 ‘ o ol o == 8
T g |
>
EDME
N
&
NSNS STl Double Modular Sub Base Dimention
6.5 B=[16.0n+11.0] 65 -
- A=[16.0n+24.0] PN 2 b ° ° o
B 43.0 | 75.0 [ 107.0| 139.0| 171.0
79.0 2n—G1/8, P=16.014.0, A | s6.0 | BB.O | 120.0{ 152.0 184.0
(24—Fort)
u Y j
OITm @‘® “®*7EE 'Lg
65 B8-(16.0n+8.0) 6.5 P=16,0.18.5 @ @ @ @ b
A=(16.0n+21.0) m m m - = = =
16.0 26.0
3 5-G1/4.
SPort Manifold Block Dimention ]_\‘JL‘JL‘J Manifold Block Dimension (1.2,3,4,5-Port)
o] 2 4 6 8 10 T
\TE!
B 40.0 | 72.0 [104.0 | 136.0 | 168.0 s ?‘E?léirt)
A | 530 | 85.0 |117.0 [148.0| 181.0 MSxO.8 Hole 3
=i - Ordering code Ordering Code
SCB36-BLK SCB36-BLK SCB30-BLK
amzn Manifold Block Dimention oy ro&( 2 Blanking Plate Blanking Plate Blanking Plate
Sl 2]« e & 10 o B L ‘ & (Material : STS304) (Material : STS304)
B | 40.0 | 72.0 | 104.0 | 136.0| 168.0 B=(5.0n75.0) T i el i . 'a» Manifold Gasket.
A | 530 | 85.0 [117.0 [149.0 1810 A=(16.0n+21.0) 7.0 ‘ ‘ Manifold Gasket Manifold Gasket > Base Gasket

(Material : NBR)

(Material : NBR)




SCE4A400.1/4

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5, 3Port 2Postion 5Port 3Postion
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 20~10.0
Eff. Sectional Area(mi)-5bar 16.0 12.0
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

25ms or Less 35ms or Less

Max. Working Frequency

5c/sec 3c/sec

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

Holding-AC:3.5VA(60Hz) / DC:2.5W

Transition Capacity Graph

2000 -
S 1600 T =
£ [ —
> 1200 — ==
~ // T =
5 800 T 5/2,3/2 |
400 —1— = —-—5/3 |
0 I
1 2 3 4 5 6 7 B 9 10

Pressure (bar)

Valve Body : Die-Cast Al
Spool : Aluminium
Seals : NBR

Spring : Stainless

The Material of Parts

Cap : Zinc Pressure Die-Cast

uminium ® Pilot Parts : Glass Filled Nylon
® Armature : Stainless Steel
® Armature Seals : Viton

g SC400-F5

SPort G1/4 Bottom Port Plate

SC400-F3
3Port G1/4 Bottom Port Plate

**:\Voltage Selection (see page 80)

Port Plate Ordering Code (Material : Zinc)

SC400-E
External Plate

SC400-FC3
3-Port $8 One-Touch Fitting

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

ORDERING NO.
= HHE-H-H-lN-IH-B

IJ | |
] ]
Retumn Method Port Type ort Plate & Thread Manual Operator Solenoid Coil Type Connector Type Voltage
0 0 0

P
SCE4: 1 5/2 Single 0 None D | Manifold 0 None None 0 None None None
Soenaid vlalve 2 5/2 Double 1 Air +Spring B | Sub-Base F5 5-Port G1/4 P Push SC1| 3 Pin Connector Coil CNT| Normal Connector A2 | AC 220v
3 5/3 Closed Center 2 Ar F3 | 3-Port G1/4 Non-Locking ~ SG1| Grommet/Flying Leads CDI1| Connector With LED Al [ AC 110V
SCEP4 4 5/3 Open Center 3 Spring FN5 | 5-Port NPT1/4 L Lever Locking  SD1| Grommet/Flying Leads CZ1| Connector With LED A4 | AC 24V
o 5 5/3 Pressure Center FN3 | 3-Port NPT1/4 With LED & Surge Suppressor D4 | oc v
Preurtc Ve 51372 Normaly Ciosed FC5 | 5-Port 08 One-Touch Fiting SLI | 90 Degree Plug-in Wire b2 | bc v
7| 3/2 Normally Open FC3 | 5ot 08 One-Tou Fiting Assembly with LED —
E External End Plate, SM1| 180 Degree Plug-in Wire
| Plate M5x0.8 Assembly with LED




@‘éa Y

Solenoid & Pilot Actuated Spool Valves

Q%fé%ﬁ# YPC
Port Thread 1/4,1/8

SPort 2Position Solenoid Valve (Manifold)

Single Solenoid AM‘ 420
SCE411D-F5-P-SG1—** |

24 C

3-G1/4(2.4-Port)
|

=
I
2

43.0
310
27.2
Lo E
3 o=

.0(back)

Double Solenoid
SCE420D-F5-P-SM1—w+

2-61/8(3,5-Port)
G1/4(1-Port)

SPort 2Position Solenoid Valve (Sub-Base)

Single Solenoid
SCE411B-0-P-SC1-CN1-**

315

120.0

2-94.2 Hole
(Manifold Hole)

31.0
27.2

SPort 2Position Pneumatic Valve

Single Pneumatic
SCEZPAQWDf%

CANITARY
315

Single Pneumatic
SCEP4118
2 4

ANITARY
315

Double Pneumatic 20—
SCEP420D-F5 ‘ ‘
2 4 I

figmimpt iy g,
2 4 “ ?%’_W Double Solenoid | | ’+>'M'<}' ‘ “ ?ﬂ }
o £l Y. k External Pilot s [ W
315 SCEzzlzaa—E—P—scw—CNw—n o0
163.0
5Port 3Pasition Solenoid Valve (Manifold) w1 2k 5Port 3Position Peumatic Valve
Closed Center 318 Closed Center
SCE433D-F5-P-SL1-*+ ! SCEP4338 X
P < 2 4 22—
5Port 3Position Solenoid Valve (Sub-Base) SN
R 157.0 Closed Center 315
Exhaust Center SCE4338-0; P-SC1-CH1-+x Exhaust Center ‘ ‘
SOE443D-F5-P-SL1-x iy 4 SCEP4438 L om0 |
o i T AT mms N
T - I i e
315 ‘ il Exhaust Center 375
Pressure Center 175.0 SCEAAC%B{O;P*SCWfCNP" Pressure Center
SCE453D-F5-P-SL1 - o
23 : SCEP4538, ,
515 Pressure Center 5% 1 515
3Port 2Position Solenoid Valz\gg [Manifold) SCE45380,P-SC1-CN1-x+ 5o 3Port 2Position Pneumatic Valve
. . 1 G1/8(2—Port) 28.4
Single Solenoid ﬁgi\ﬂ ISHIVAL i i ©1/8(2-Port)
SCE?&WD—F—P—smw—n 315 ?o'zgiggneumam Vs‘“‘i: Je/ Mo08
2 A EE $E
t
ranim® AN TED
7<’V 3.9
13 1 3 p—
ER
59.0 ‘
2—-G1/8 (1,3—Port)
Manifold Ordering Code
SCB40 SINGLE, DOUBLE MANIFOLD BLOCK
(SCE400 Solenoid & Pneumatic Valve Use) eeel B - B -
Manifold Block Dimension
li’fI: Modular g - SCB4 0 None 0 None MO2 | 2-Station
> Manifold Block Dimension| . sy vae 1 | o S | singe Station Sub Base,  MO04 | 4-Station
2 | NPT 1/4 Port Without Pilot Ports ~ M06 | 6-Station
D Manifold, Port 1/4 MO8 [ 8-Station
Seg?k“‘n%’f;: p=log 210 DB | Double Modular Manifold Block, M10 | 10-Station
i?% 1/4 Port
< ® I
DC8 | Double Modular Manifold Block,
Base Gasket 200 98 Fitting
150), o o1/ D3 | Manifold, Port 1/8 (3/2Way)
%%‘ 4—@4.3|Hole (1,3,5-Port)
2 CRCREACHIE I = e , .
= % ® N L K E Single Station Sub Base
I ‘ ‘ N j ) JT 42 Dimension (SCB41-S)
C L ‘ i ok
o 55, e-ov PeW, B, © E E
24.3 Hole S 2
< 17.0,
& 38.0
050
L Double Modular Sub Base Dimention
B=[19.0n+11.0] 65 mwel 2 4 6 8 10 2-M4x0.7
A=[19.0n+24.0] B | 49.0 | 87.0 [ 125.0] 163.0| 201.0 —
2n—G1/4 P=19.014.3 A 62.0 [ 100.0 | 138.0 | 176.0 | 214.0 7/@
(2.4—Port) —
FEX 3 EE
4 ZAIEE E —19 98
Clelotom
B: |
&2 A=(19.0n+21.0) - J:—;OLL' . . 5—@1/4¢ 5
Manifold Block Dimension (1.2.3,45~Pert) —J
5Port Manifold Block Dimention i -
| 2 6 8 10
= B:D 122.0 | 160.0 ] 198.0 (E:SL{(‘ %iﬁ i B e ?{iéin)
A | 59.0 | 97.0 |135.0 | 173.0 | 211.0 b ) [ ‘ SCB46-BLK Ordering Code Ordering Code
o = Blanking Plate SCB46-BLK SCB40-BLK
3Port Manifold Block Dimention ® ME I EE Blanking Plate Blanking Plate
STz s sw IERCRERT g=—= D (Material : STS304) (Material : STS304)
v [ e 70 Manifold Gasket - S>> Manifold Gasket.
i z:z ;z:.z :iz :g.(ﬂ) 1;?-2 6.5 A=(19.0n+8.0) 6.5 g Manifold Gasket. @ Base Gasket
- B=(19.0n+21.0) 720 (Material : NBR) (Material : NBR)




SCES00. 3/8

CEP533B-F
24

318

*x:Voltage Selection (see page 80)

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION | 5, 3 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 20~10.0
Eff. Sectional Area(mi)-5bar 40.0 30.0
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

30ms or Less 40ms or Less

Max. Working Frequency

5c/sec 3c/sec

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

Holding-AC :5.5VA(60Hz) / DC:2.5W

Transition Capacity Graph

\

-

Qn( 2 /min)
g

\
\

\

LA

S Sl J! 5/2.3/2
——s
==

pressure(bar)

m Spool @ Aluminium
m Seals : NBR
m Spring : Stainless

The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts :

m Cap : Znc Pressure Die-Cast

Glass Filled Nylon
® Armature : Stainless Steel
® Armature Seals : Viton

&Cwo—m
3Port (3,8 Bottom Port Plate

Port Plate Ordering Code (Material : Zinc)

)
<
Sk
& /"/"}
SC500-F5 = §0500-FC5 5C500-8
SPort G3/8 Bottom Port Plate 5Port @10 One—touch Fitting Blanking Plate
<}

e @csoo €
3Pun 310 One~touch Fitiing External Plale

M5%0.8

i
o !(
NG

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

ORDERING NO.
| e

SCEs (1 (1 B - F -
| e —
0 0

8

Solenoid Coil Type

] |
Retum Method Port Type Port Plate & Thread | Manual Operator

SCE5 1 5/2 Single 0 None D[ Manifld F [ @38 0 | None 0 None None None
Solenoid Vlalve 2 5/2 Double 1 Air +Spring B | Sub-Base FN | NPT 3/8 P Push SC2| 3 Pin Connector Coil CN2| Normal Connector A2 | AC 220v
3 5/3 Closed Center 2 Air FC | 10 One-Touch Non-Locking ~ SG2| Grommet/Flying Leads CD2| Connector With LED Al [ AC 110V
SCEP5 4 5/3 Open Center 3 Spring Fitting L | Lever Locking SD2| Grommet/Flying Leads CZz2| Connector With LED A4 | AC 24V
o 5_ 5/3 Pressure Center B_ Blanking End Plate With LED & Surge Suppressor D4 | DC 2V
Preumate Vehe 6 3/2 Normally Closed E External End Plate, % DC 12v
7| 3/2 Normally Open | Plte M5x08

YPC




Solenoid & Pi

t Actuated Spool Valves

@//j YPC
Port Thread 3/8

SPort 2Position Solenoid Valve (Manifold)

Single Solenoid

SCE511D-B-P-SD2-#* 15. 56.0
2 4
g] o ] baN |
Eeve ST TN |
30.5 Lzs_.q

o i
<] of
| !
:EHl
.
< 142.0
a
| 169.0

44.0

Double Solenoid
SCE520B-F-P-SG2-++
2 4 M

SPort 3Position Solenoid Valve (Manifold)

Closed Center
SCE533B-F-P-SG2-+*

315
Exhaust Center

SCE543B-F-P-SG2—#*
2 4

315
Pressure Center

SCE553B-F-P-8G2-+

SCB50 SINGLE, DOUBLE MANIFOLD BLOCK

(SCE500 Solenoid & Pneumatic Valve Use)

Manifold Block Dimension

SCB50-BLK
Blanking Plate

SPort 2Position Solenoid Valve (Sub-Base)

Single Solenoid 159 50

2-04.5 Hole
SCE511B-B-P-SC2-CN2—#* | (Manifold Hole)

4 o &
ERVITAR L Fhlels

145.5

BPort 2Position Pneumatic Valve

Single Pneumatic
SCEP511B-F
2 4

EANIvARS
315

B
Lever|La

Push|Bu
o

tton Override I
cking Ovemde\m rﬁ»
5 : )
‘ M §
g
T

%]

max10.0 205.0

B M5x0.8
Double Solenoid ED* . /

[
External Pilot ‘ ‘L ﬁ—‘ §
SCE520B-E-P-SC2-CN2-++ M‘ f*ffh_i_ﬂﬁ

2 4

max10.0 0
E
o
d
E
d
P
g
Single Pneumatic N
SCEP5118-8 E
2 4
LRNIIVARS KO
max10.0 315
103.0
108.6

Double Pneumatic ‘

Sy | 00

197.5

5Port 3Position Solenoid Valve (Sub-Base)
Closed Center
SCE533B-B-P-SC2-CN2—**

2 4

SCEP5208-F

2 4
>
315

515 |

ul $ i Il
108.0

5Port 3Position Pneumatic Valve

Closed Center
SCEP5328-8
2 4 121.0

max10.0 218.0
315 ‘ ‘

ma‘ w‘ovo w ‘

291.5

;n 5Port Manifold Block Dit
p=27.0|_27.0_|_29.0 o
6.0 B=(27.5n+16.5) 60 B
A=(27.5n+28.5) A

303.5

Single Station

2

145
5

]

@

56.0

5-G3/8
(1,2,3,4,5-Part)

-

2-M4x0.7 DPB.O

Exhaust Center % ﬁ Exhaust Center 3
SCE5438-B-P-SC2-CN2-+x " SCEP5428-8 ”
2 4 o
] _ Q 74 g @_@ 5
AN IIPA s 174
315 315 1330
Pressure Center Pressure Center
SCE5538-B-P-SC2-CN2-+* 105 SCEP5528-8
2 4 ' - 24
315 315
Manifold Ordering Code
SCB5 i - D - M4
J | |_| I—|
[ [
SCB5 0 | None 0 None M02 | 2-Station
SCESQ0 Solenaid Valve 1 | G S Single Station Sub Base, M04 | 4-Station
snkino plate Gasket DOUDIE Mod_ular . 2 [NPT 3/8 Port Without Pilot Ports  M06 | 6-Station
SoB51-Dot0d Sub Base Dimension D | Manifold, Port 3/8 M08 | 8-Station
Manifold Block e st Double Modular Sub Base, ~ M10 | 10-Station
o DB | 3/8 Port Without Pilot Ports
Double Modular Sub Base,
DC10| ¢ 10 Fitting
/Humﬂe End Cover, 3/8 Port
7 o %{j E End Blanking Cover
;ﬁﬁ 3 ) CXe) B
2 ?ﬁm’d o
j “ N2/ DL wf 51
P
g i Sar
i #\ b N 8 imenti
=== \ Double Modular Sub Base Dlmennqgnw
23.8 3-G3/8 TER N 2 4 6 8 10
2505 8 | 83.0 | 137.0 191.0| 245.0 | 299.0
HAG == A | 91.0| 1450 199.0 | 253.0 | 307.0
4.0 B=(27.0n+29.0) |40
A=(27.0n+37.0) Ordering Code
SCB50-BLK
P=27.0  34.0 Blanking Plate
@ (Material: STS304)
n=STATION
NN AN gamf%\d iafket
o =S ase Gaske!
° Ml SCB50-BLK <SS (Material: NBR)
— Blanking Plate
© ‘W = A = A Ordering Code
2n—-G3/8 | SCB51-E
/2443 Hole qas \‘@\\
[ End Cover, 3/8
Base Gasket (Material: Al)
+
E g E Ordering Code Ordering Code Ordering Code
SCB50-DC10 B (R SCB51-D8 SCB50-E8
b b B
f?o onasftouch Double Modular End Blanking
fitting Sub Base, 3/8 Cover‘
(Material: Al) (Material: Al) (Material: Al)







S N (NAMUR) Series

E SN3000
" SN4000

e SN4000
Body Width-23mm Body Width-30mm
Thread-1/4 Thread-1/4

SN3000



SN3000. 1/4

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 20~10.0
Eff. Sectional Area(mi)-5bar 18.0 12.0
Ambient & Fluid Temp. 5~60°C(41~140°F)

SNP3200
2 4

40ms or Less

5c/sec 3c/sec

Response Time(5bar) 30ms or Less

- <+
315

ORDERING NO.

SN3 1
,_l

Max. Working Frequency

Lubrication

Not Required(Use I1SO VG32# )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

Holding-AC :5.5VA(60Hz) / DC:2.5W

Transition Capacity Graph
2000
LT
1600 — — ﬂg
E 1200 — /}— PR
z &0 =T
40 = T —s2 ||
= — == =53
0 ——r—
1 2 3 4 5 6 7 8 9 10
pressure (bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
m Spool : Aluminium m Armature : Stainless Steel
m Seals : NBR m Armature Seals : Viton
m Spring : Stainless
m Cap : Zinc Pressure Die-Cast

Metal Connector
(Material:ZnDC)

CNM2

Ex-Proof cort

3Port Blanking Ring
(Material :Al)

-

SN3000-BLK

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

I—|I—I

| | | | [
| | | | |
PortSize & Thread § Return Method Int/Ext. Pilot Manual Operator | Solencid Coil Type Connector Type
0

Voltage
N3 1| 5/2 Singe 0 [ci/ 0| None I [internal Pt 0 [ None None 0 [ None 0 [ None
Solenoid‘ valve 2 | 5/2 Double 1 | NPT 1/4 1 | Air+Spring P | Push SC2| 3 Pin Connector Coil CN2 [ Normal Connector A2 | AC 220V
3 | 5/3 Closed Center 2 |Ar [ Non-Locking SG2| Grommet/Flying CD2 | Connector With LED Al | AC 110V
_4 | 5/3 Open Center 3 | Spring L | Lever Locking Leads CZ2 | Connector With LED & Surge A AC 24V
SNP3: 5 | 5/3 Pressure Center SD2| Grommet/Flying Suppressor D4 | DC 24v
Preumatic Valve _ Leads With LED Oz Metal Connector D2 | e T2V
CDM2| Metal Connector With LED
C2M2 | Metal Connector With LED &
Surge Suppressor




Solenoid & Pilot Actuated Spool Valves

@gﬁ YP
Namur
Port Thread 1/4

SPort 2Position Solenoid Valve

Single Solenoid 4-05.5 Hole
SN3101-IL-SD2- — yn -
2 4 Y
o
i T | _—
i
315 ) N
+ 1
27.0 ‘ 24.0 ‘ %
22.0 ‘§_§‘
N
e - B 2
& 9 2 &
<
9
Lever Lacking Override et
or Manual Button g
2-05.5 DP3.5 —
7w rupyE
N2 N
“ of o
i o o ol <l
13 0@ - &
2 E R 4
A2
27.0 240 ‘
135.0
3 1 5
o o PN I [
B :\J\%;:LM
16.5 45.0 3-61/4(1,3,5-Port)
148.0
SN3101-IL-SC2-CNM2-»+ Lever Locking Override
2 4 or Manual Button 9
315 -
e -
|
g9 L “h ¢
¥ s H % NS 8
TR T 4
270 | 240
135.0

Double Solenoid 218.5
SN3200-IL-SC2-CNM2-+**
2 4
315 I ﬂ JmL  —
a4
S A R
FAVAS
RN
Ll | &b ¢ T
1915
5Port 3Position Solenoid Valve
Closed Center
SN3303-IL-SC2-CHM2-*+ 2315
2 4
p=n
RaRVIEIVALS oLl
315
Exhaust Center I m |
SN3403-IL-SC2-CNM2-+= o @ N4
2 4 I NN ||
S e
315 2 by ¢ L0
Pressure Center
204.5

SN3503-IL-SC2-CNM2-#*

24
ST
315

Sealing Part Dimension
6.0

(Material : Al)

21.0 ‘

Sealing Area

NAN TR

Thread 1/2

3-Port Blanking Part

SPort 2Position Pneumatic Valve
Single Pneumatic
SNP3101

2 4

AVIIVARS

315

Double Pneumatic
SNP3200

2 4
LSinias
315

5Port 3Position Pneumatic Valve

Closed Center
SNP3303

2 4
315

Exhaust Center

SNP3403
2 4
315

Pressure Center
SNP3503

2 4
315

10.0 Hole #10.0 DP7.0 M5x0.8
j &
1l g9 1
— Ty 5| 3 ¢ 2 B
) J
% R4 24.0 _u;
70.0
35
Single Acting Use Plate
SN3000-BLK SN3000-Plate

4-05.5 Hole

s
=

EE I °
ik —
2-95.5 DP3.5
S
NSRS
9 9 ) (e a
EE LA B
2 e e 4 |
— I
27.0 24.0
97.0

230

-

Tmﬁ/m
—~ =]

16.5

3-G1/4(1,3.5-Port)

R R
) (b
RAN S
+ 2 7 @ < 4 +
o
L YV Yl

Metal Connector (Material : ZnDC)

Thread 1/2

N/

21.0
33.0

CNM2




SN4000. 1/4

SPECIFICATION
SERIES SOLENOID, PNEUMATIC
ITEM FUNCTION 5 Port 2 Position 5 Port 3 Position
Fluids Compressed Air & Inert Gases
Pressure(bar) 1.5~10.0 20~10.0
Eff. Sectional Area(mi)-5bar 32.0 16.0

Ambient & Fluid Temp.

5~60°C (41 ~140°F)

Response Time(5bar)

30ms or Less 40ms or Less

Max. Working Frequency

5c/sec 3c/sec

Lubrication

Not Required(Use 1SO VG324 )

Manual Override

Push Button(Standard), Lever Lock(Option)

Coil Insulation Class

F-Class or Equivalent

Permissible Voltage Variation

+10% of Rated Voltage

Off Min. Residual Voltage

AC:20% or Less / DC:10% or Less

Power Consumption

Holding-AC :5.5VA(60Hz) / DC:2.5W

Transition Capacity Graph

5000
— 4000 e 2
g —— E——
: 3000 //
—~ Lt [ i
< 2000 = =
¢} L e T -1
1000 L —
[
0
1 2 3 4 5 6 7 8 9 10
pressure(bar)
The Material of Parts

m Valve Body : Die-Cast Aluminium m Pilot Parts : Glass Filled Nylon
m Spool : Aluminium m Armature : Stainless Steel
m Seals : NBR m Armature Seals : Viton
m Spring : Stainless
m Cap : Zinc Pressure Die-Cast

Ex-Proof Coil

SP2 SP3 SPT3

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

o 1 -1 [P -sc2 - cN2 - A2
— | —

ORDERING NO.

SN4 1
’_I

| | |
| | |
Comectortype | Vatose
SN4 . 1 | 5/2 Single 0 | G 1/4 0 | None | | Internal Pilot 0 | None 0 | None 0 | None 0 | None
Solenowd' valve 2 | 5/2 Double 1 | NPT 1/4 1 | Air+Spring P | Push SC2| 3 Pin Connector Coil CN2 | Normal Connector A2 | AC 220V
3 | 5/3 Closed Center 2 |Ar | MNon-Locking  SG2| Grommet/Flying CD2 | Connector With LED Al [ AC T10V
4_ 5/3 Open Center 3_ Spring L | Lever Locking Leads CZ2 | Connector With LED & Surge ﬂ AC 24V
SNP4: 5 | 5/3 Pressure Center SD2| Grommet/Flying Suppressor D4 | DC 24V
Preumatic Valve _ Leads With LED 2| Metal Connector D2 [ bC T2v
SP2 [ 22mm WEFY CDM2| Metal Connector With LED
_sP3 mm SEIA 2 | Metal Connector With LED &
SPT3[ 36mm WEFY Surge Suppressor




Solenoid & Pilo’r Actuated Spool Valves Port Thread 1/4

SPort 2Position Solenoid Valve SPort 2Position & 3Position Pneumatic Valve
Single Solenoid 4=95.5 Hole Single Pneumatic 2-95.5 DP3.5
SN4101-IL-SD2- ] T[] — SNP4101 < b
2 4 J | PP ‘ 2 4 o N }j o
ZANIIVA® ] SAVIIVARS EIIBS TS i
315 315 2 4
JASZA| JASZ| © +
‘ |__24.0 | ‘ m]]i E |__s00 24.0
b ‘ 103.0

25.0 jo. ik

[T Tl e
g
& s A
° Il - 9 3 r
3 2
E SsHNSS] J—‘
Lever Locking Override Bl
or Manual Button N 12.0 50.0 3-G1/4(1,3,5-Port)
2-95.5 DP3.5 H [
— 5 b P —
& & Double Pneumatic /A
3 o A\l ElN SNP4200 A
SR e ER 2 4 ) B n
L o6&
2 @ 4 — '”M* | 10.0
300 | 240 e 123.0(137.0) ()erel x4 3-Positiong
142.0

SPort 2Position Ex-proof Solenoid Valve

[ i

e5 T e | I — K EEp
Single Solenoid & ’7’7’ﬁ”
17.0, 50.0
3-61/4(1,35-Port) SN4101-1P-SP2-+
2 4 153.0
3,000410.0
154.5
SN4101-IL-SC2-CNM2-+x Tread 1/2 315 |
2 4 Lever Locking Override, — 2-#5.5DP3.5 ‘[EjE
or Manual Button o
EAVIIA:Y il E
s 2-95.5 DP3.5 || g 5 ch B
= F
T ﬂl g el ) s
4 ol e PR o] ) B [
€ o o 4 § L ©
2 o4 4 - 30.0 240
141.5
30.0 24.0 612
1415 250 10.0_
Double Solenoid SN4101-IP-SP3-
SN4200-IL-SC2-CNM2~++ e B —
ol m - P
2 4 ﬂ;\ / Eﬂ P - 2
E
s = = g
ﬂ R m 2-985.5DP3.5
0\
A7\ pis b °
. E
L @& . o < INV/ZN E
ElE pigisid ik
198.5 —
(e S | |
30.0 24.0
141.5
SPort 3Position Solenoid Valve e
Closed Center SN4101-IP=-SPT3—** EHTH =
SN4308-1L-SC2-CNM2—++ 24 aof ] 1 ~ o
239.5 g?‘ il i A T g
. AN T AR 2
ST ~ ~
315 i | Ej Ej | L ]
3,000+10.0
Exhaust Center — Jj]l J]jL —
SN4403-1L-SC2-CNM2-++ T
o 2 4 5 f@ ﬁt} - 2-95.5DP3.5 =
21e Ll 2eee " | 1 5 o] 2
a3 0\ gE 3
Pressure Center 2125 | E I\ ‘ |
SN4503-1L-SC2-CNM2-+* Loaoe f ol
2 4 30.0 24.0
315
Sealing Part Dimension 3-Port Blanking Part Metal Connector (Material : ZnDC)
(Material : Al)
80,
CHRD (el 910.0 DP7.0 M5x0.8
q
N _f\ | 4 } é Thread 1/2
! I = % o o o 2 1. ] 7=
ANV ik =i 6
| | S I 3 <
L e - ‘ \\J ; )
21.0 t
R4 . 24.0 | ALJ; 32.0 24.0
24.0 26 70.0 52.0
Single Acting Use Plate
Sealing Area SN3000-BLK SN3000-Plate CNM2




Solenoid Coil
Series

SPECIFICATION

FUNCTION
ITEM

SOLENOID COIL

sCl | SC2

Voltage Tolerances

+10% of Rated Voltage

Coil Insulation Class

F-Class or Equivalent

SC1-*x

5~60°C (41~140°F)
ﬁ:’%iz;\/*lm Connector) AC 60Hz 3.5VA 5.5VA
Holding Power 50Hz 4.5VA 6.5VA

DC 2.5W 2.5W

Temperature Range

The Material of Parts

Molding : Glass Pressure Nylon
Lead Wire : AWG-no.22, no.24
Lead Wire Packing : Viton
Yoke : Carbon Iron

Indicator Cap : Polycarbonate

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

SD1-*%
P42
Indicator : LED

SD2-**
P42
Indicator : LED

SL1-*x
P42
Indicator : LED

SM1-*x
P42
Indicator : LED

+*:Voltage Selection
ORDERING NO.

SC1 -
I_l I—I

SCI1 15mm-3 Pin Connector Coll A2 AC 220V
SG1 15mm-Grommet/Flying Leads Al AC 110V
SD1 15mm-Grommet/Flying Leads With LED A4 AC 24V
SL1 15mm-90 Degree Plug-in Wire Assembly LED D4 DC 24V
SM1 15mm-180 Degree Plug-in Wire Assembly LED D2 DC 12v

SC2 | 22mm-3 Pin Connector Coil
SG2 | 22mm-Grommet/Flying Leads
SD2 22mm-Grommet/Flying Leads With LED




Solenoid Coil Series

'/// YPC
15mm Width / 22mm Width

SC1-%x
(3Pin Connector Coil)

8G2-
(3Pin Connector Coil)

[
|

[J;[M/¢7v9 Hole — 7.1 Hole Hm” H m
< : ) o
2-61.5 DP1.O 20.0 150 | %
22.0 \wg.o Hole 29.5 8.1 Hole
SG1-%x 8G2-
(Grommet/Flying Leads) (Grommet/Flying Leads)
2-01.4 i 2-92.4 Wﬁ §
i il ! B3
| /w.e Hole | 7.1 Hole éﬂj L
2-81.5 DP1.0 26.0 150 | ﬁ T

22.0 \ag.o Hale 29.5 8.1 Hole

SD1-% %
(180 Degree Plug—in Wire Assembly LED)

2-01.4

‘ 40010.0

27.2
220

|

i

|

|

|

f

SL1-%x

87.1 Hale

/¢7,9 Hole ﬁ_}%’i

2-91.5 DP1.0

28.5
335

15.0
22.0

SM1-* *
(180 Degree Plug—in Wire Assembly LED)

97.1 Hole

28.5

22.0

%/am Hole = TJ]:.:.
o
o) s
§ 9 B .
—7—91.5 DP1.0 26.0

SD2 -+
(Grommet/Flying Leads With LED)

2-92.4

1
40010.0

g

28.0

22.0 \we.o Hole 20.5 #8.1 Hole

YPC



DIN Connector
Series

SPECIFICATION
FUNCTION Connector

ITEM ONI | ON2
Voltage Tolerances +10% of Rated Voltage
Temperature Range 5~60°C(41~140°F)
Max. Current 2.5A
Protection Class IPE5(With Coil)
Section Conductance Max. 0.75mi | Max. 1.50m

The Material of Parts
m |ndicator : Glass Pressure Nylon, Polycarbonate
m Sealing Packing : NBR
m Jointing Bolt : Carbon Iron

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

*x:Voltage Selection

ORDERING NO.

CD1 -

CN1 15mm-3 Pin Normal Connector A2 AC 220V
CD1 15mm-3 Pin Connector With LED Al AC 110V
CZ1 15mm-3 Pin Connector With LED & Surge Suppressor A AC 24V

D4 DC 24v
CN2 | 22mm-3 Pin Normal Connector D2 DC 12V

CD2 | 22mm-3 Pin Connector With LED

Cz2 22mm-3 Pin Connector With LED & Surge Suppressor
CNM2 | 24mm-3 Pin Metal Normal Connector

CDM2 | 24mm-3 Pin Metal Connector With LED

CZM2 | 24mm-3 Pin Metal Connector With LED &

Surge Suppressor




DIN ConneCTr Series

'/// YPC
15mm Width / 22mm Width

CN1
(Normal Connector)

CD1-% %

(Connector With Connector)

CZ1-%%

(Connector With Connector & Surge Suppressor)

B
E*J:
AN
._!
1
(T

26.0 max10.0

255

M
o

B

CN2
(Normal Connector)

CD2-

(Connector With Connector)

CZ2-

(Connector With Connector & Surge Suppressor)

40.7 mox10.0

]
L]
F=—
LTI
218.0
30.0

21.0

T el T8
I =

CNM2
Metal Connector

CDM2- +
Metal Connector With LED

CIM2-+ =
Metal Connector With LED & Surge Suppressor

Thread 1/2

21.0

[
PO







Y M V/ scries
P M E V scrics
R L\ scrics

I L\/ scries
KM V/ scries
T M V/ scrics

= TSeries

PMEV Series
(5/2, 3/2 Panel Mounted Mechanically Valve)

RLV Series
(5/2, 3/2 Roller Lever Mechanically Valve)

A 5*" FT Series
L Sl (5/2 Foot Treadle
' y Operated Spool
- el \— , Valve)
HLV Series KMV Series TMV Series
(5/2, 5/3, 3/2 Hand Lever (5/2, 3/2 Knob push  (5/2, 3/2 Toggle Lever

Operated Spool Valve) /Pull Manually Valve)  Mechanically Valve)



YMV Series

SPECIFICATION
SERIES YMV310 | YMV410
ITEM FUNCTION 3/2-Way
VMV310-PU Fluids Compressed Air & Inert Gases
ouT
Port Size 1/8 | 1/4
NC NO NC NO
Pressure(bar) 0~8.0
Eff. Sectional Area(mt)-5bar 10.5 | 16.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
Lubrication Not Required(Use 1SO VG32# )

YMV310-FP-3
Transition Capacity Graph
1600
1400
1200 —
£ YMV410 =
S 1000 L |—--—YMV310
= |~
9 800 e P
YMV410-1RP LT e
ouTt 600 - -
L1 -
NC NO 400 L~ L -
T ,—"/
200 =
0
1 2 3 4 5 6 7 8
pressure (bar)
YMV410-FP-3 YMV410-SL-3 YMV410-MT-3 Th |\/| 1‘ A | fP 1‘
out , OUT L UT e Marerial ot Parts
NCNO NC NO NCNO m Valve Body : Die-Cast Aluminium m Switch Parts : Glass Filled Nylon,
m Spool @ Aluminium POM
m Seals : NBR
m Spring @ Stainless
m Button Parts : Stainless Steel, POM

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

ORDERING NO.

s (1 8-

J
[ [ |
Port Size & Thread Switch Type Mounting Holes
o [

YMV3: 1| 3/2- Spring Retun PU_ [ Pushrod 3 [ somm
1/6-Port Bo.dy 1 | NPT 1RP Two-way Plastic Roller Lever
1RB | Two-way Bearing Roller Lever
2RP One-way Plastic Roller Lever
YMV4 : 2RB One-way Bearing Roller Lever
1/4-Port Body FP | Flush, Push Button (R)
SL 2-Position Selector (B)
MS | Mushroom 40mm dia Spring Return (R)
MT Mushroom 40mm dia Turn to Unlock (R)

() Standard Color




Manually & ‘I\/Iechonicolly Actuated Spool Valves

‘/// YPC
Port Thread 1/8,1/4

3/2-Way, Direct Pushrod Operation T1 | Vaid Operaton Dist 3.5m 3/2-Way, Direct Pushrod Operation T+ | Vaid Operaton Dist 3.5m
Thread-1/8 Te | nvaid Operation Dist | 1.0mm Thread-1/4 Te | InVaid Operation Dist | 1.0mm
Fr | Pressure for Vaid Operation 35ke Fr | Pressure for Vaid Operation 35ke
Fa | Pressure for InVaid Operation Fa | Pressure for InVaid Operation
YMV310-PU YMV410-PU
ouT ouT
NC NO NC NO
27.0,
It =
4—M3x0.5
— 28.0 98.0
3 SJ 855 _ 9 % ‘ 95.5 A
J = ‘ | 1
T T = - ;
i m , ‘ $tk . 3-c1/8 | =5 e ﬁ\q
3 o | g | ) o
7 EJ,»«» Nk A® iLe@lFS ]
I 3 i | T o | | i | o
4044 250 || o 30.0
35.3 “’J Smess 40.0
3/2-Way, Direct Roller Lever Operation vaio-1ee | vnaio-zp 3/2-Way, Direct Roller Lever Operation aie-Iee | o
Thread-1/8 v [ Vaid Operation Dist 8.5m | 9.0mn Thread-1/4 o [ Vaid Operaton Dist 8.0m | 9.0m
Tz | InVaild Operation Dist 3.0mm 3.5mm Tz | InVaild Operation Dist 3.0mm 3.5mm
Fr | Pressure for Vald Operation 20ke | 20k Fr | Pressure for Vaid Operation 20ke | 20ke
Fz | Pressure for InVaild Operation) Fz | Pressure for InVaild Operation
YMV310-1RP YMV310-2RP YMV410-1RP YMV410-2RP
YMV310-1RB YMV310-2RB YMV410-1R8 YMV410-2R8
ouT ouT ouT ouT
NC NO NC NO NC NO NC NO
62.5 62.5
55.0 57.0 #17.0 220 o17.0
f e r
217.0
22.5 22.5
= L =
7
o o
1M e d 1M e ;
M \ E = e 89 | 8
o o | o _ | of 8 o
J1o 4| 479D & N o_ 2 |
417 &1 A7) aped & 7
4—p4.4 ‘25_0 3-95.4. ‘ 0.0 354/ |
0.0
3/2-Way, Direct Pushrod & Selector Operation 3/2-Way, Direct Pushrod & Selector Operation
Thread-1/8 Thread-1/4
YMV310-FP-3 YMV310-SL-3  YMV310-MS-3  YMV310-MT-3 YMV410-FP-3 YMV410-SL-3  YMV410-MS-3  YMV410-MT-3
ouT ouT ouT out outr ouT ouT ouT
T [eoeands [sem v\ NGB W\ SN | T ermanos [ssm N\ "N B N by SN
Ne O NE NG NG NG NG NG NG NG NE NG NC NG N NG
Tz | InVaild Operation Dist 1.0mm Tz | InVaid Operation Dist 1.0mm
Flush , Push Button 2-Position Selector Dia Spring Return Turn to unlock Flush , Push Button 2-Position Selector Dia Spring Return Turn to unlock
Fi | Pressure for Vald Operation 35K Fi | Pressure for Valld Operation 35K
Fo | Pressre fr nvald Operetn| - Fo | Pessre for vald Opeton|
37.0 'Q:Du}
37.0 0.
$35.0 235.0
$33.0 $33.0
[ 1" al
o | § S
¢ ] 1. . O . .
g o kil E o 9| : o B E
0 3 HER . 7 = ! 8 i
ol | ER)
° [
E fé & SiE
A @17

it

ol




Series

PMEV260-MS-3
ouT

NC NO

&

2

ORDERING NO.

PMEV 0 - FP -
- o

I—ll_l

SPECIFICATION
\ SERES | PMEVIOD | PMEV200 | PMEVAOD
ITEM FUNCTION 5/2, 3/2-Way
Fluids Compressed Air & Inert Gases
Port Size M5 | 1/8 | 1/4
PMEVI60-MT-2 Pressure(bar) 0~8.0
RN Eff. Sectional Area(mi)-5bar 35 | 1z | 190
Ambient & Fluid Temp. 5~60°C (41~140°F)
Lubrication Not Required(Use ISO VG32# )

Transition Capacity Graph

PMEV400
1300 {——f —--— PMEV20
—T----- PMEV100

Qn( ¢ /min)

1 2 3 4 5 6 7 8
pressure (bar)

The Material of Parts

m Valve Body : Die-Cast Aluminium m Switch Parts : Glass Filled Nylon,
m Spool @ Aluminium POM

m Seals : NBR

m Spring @ Stainless

m Button Parts : Stainless Steel, POM

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

I—I

PMEVT 1 [ 5/2 - Spring Retun o Ja FP Flush, Push Button (R) 2 | zmm

M5 X08-Port Bod 6 | 3/2- Spring Retun IREG SL_ | 2-Position Selector (B) 3 | am
' Y MS Mushroom 40mm dia Spring Return (R)

PMEV?2: MT | Mushroom 40mm dia Turn to Unlock (R)

1/8-Port Body () Standard Color

PMEV4:

1/4-Port Body




- 2

Vi g
(S L) L

v L

5/2-Way, Pushrod & Selector Operation
Thread-M5 < 0.8

OPERATION SPEC.

T | Vaid Operation Dist 5.5mm
T | InVaild Operation Dist 1.0mm
Fr_ [ Pressure for Vaid Operation Skg  PMEVII0-FP-2 PMEVI10-SL-2  PMEVI10-MS-2
F2 | Pressure for InVaild Operation 2 4 42 2 4
BRVIIVAS RN IVAS RNIIVAS)
315 315 315
Flush , Push Button 2-Position Selector Dia Spring Return
(Standard Color : Red) (Standard Color : Black) (Standard Color : Red)
902
Panel Hole Size
@
g
3
2
&

3/2-Way, Pushrod & Selector Operation
Thread-M5 < 0.8

OPERATION SPEC.

T | Vaild Operation Dist 5.5mm

Tz | InVaild Operation Dist 1.0mm

Fr [ Presswe fr Vald Opealin | o\ - PMEVIGO-FP-2  PMEVIBO-SL-2
Fa | Pressure for InVaid Operation

‘/// YPC
Panel Mounting Mechanically Actuated Spool Valves Port Thread M5, 1/8,1/4

LA AT LA

Flush . Push Button 2-Position Selector
(Standard Color : Red) (Standard Color : Black)  (Standard Color : Red)

55

o

Panel Hole Size

101.0

9/2-Way, Pushrod & Selector Operation
Thread-1/8

OPERATION SPEC.

T+ | Vaild Operation Dist 5.5mm

Te | ald Opean Ot 11.0mn oyevpio-pp-3  pMEV210-SL-3 PMEV210-MS-3

Fi | Pressure for Vald Operation 3.0ke 2 4 2 4 2 4

Fe [pesemasoean| WA AE (ATAR AT
3158 3158 315

Flush , Push Button 2-Position Selector  Dia Spring Return

(Standard Color : Red) (Standard Color : Black)  (Standard Color : Red)

@y% :77 J

Panel Hole Size
#33.0
3
2 © "
| = 5 @
5 & N =
g & 4 o
a o [ &
g
% | 4
o T 9 o o
3 § o L
S [ 5
= :
I & H
u.‘ s E o] o
- 1.4 - 180 -
18.0]

3/2-Way, Pushrod & Selector Operation
Thread-1/8

OPERATION SPEC.

Tr | Vaild Operation Dist 5.5mm
Tz | InVaild Operation Dist 1.0mm
Fi | Pressure for Valld Operation

PMEV260-FP-3  PMEV260-SL-3

o

J
9 [
@y% TN

Panel Hole Size ‘

3 Okg ouT ouT ouT
Pressure for Vil Operation| wlT\ H T}_D %T\ H TF\ Nlr\ H J‘D
NCNO NCNO NCNO

Flush , Push Button ~ 2-Position Selector
(Standard Color : Red) ~(Standard Color : Black)

#33.
9
K e
2 B
") 3
2 4
& < e
] B 1A L
B [T
< < &
% i
) )
2 L3 S| 1ol
- 3.9 - 18.
118.Q|

5/2-Way, Pushrod & Selector Operation
Thread-1/4

OPERATION SPEC.

T | Vaild Operation Dist 5.5mm

Te | Ivaild Operaton Dist 1.0mm  pHEVA10-FP-3  PMEVA10-SL-3  PMEVA10-HS-3
F | Pressure for Vaid Operation 2 4 2 4 2 4

F2 | Pressure for Invalld Operation 40ke NJ:Y\LH/T}—D 5#3;\1}3‘1/*}3\ WJ%XWLH/:’}_D

Flush , Push Button 2-Position Selector Dia Spring Return

(Standard Color : Red) (Standard Color : Black) ~ (Standard Color : Red)

o
2
&%/ g

Panel Hole Size

v
2 N
5 5
< i
s ) o
o~ et
A E
o o
=i > R
5 B
o "
S S
20.0
26.5

3/2-Way, Pushrod & Selector Operation
Thread-1/4

OPERATION SPEC.
T | Vaild Operation Dist 5.5mm
Tz | InVaild Operation Dist 1.0mm PMEVA60-FP-3

Fr | Pressure for Vaild Operation ouT ouT ouT
A0k TN by W TR LA
Fz | Pressure for InVaild Operation T T T T T T
NCNO NCNO NCNO
Flush , Push Button 2-Position Selector
(Standard Color : Red) (Standard Color : Black) (Standard Color : Red)
- o .
IR
02 N
&
Panel Hole Size ‘ 32.0 ‘
° 933.0
o 2
s o
T + N
2 N i 5
3 5 > J
~ w|
2| E
— _ g |
o M o =
E o E E
saE =1 24
2 20.0 ‘l& ) i)
= ‘25_5“ ‘ 345 | ¢ L




RLV Series

SPECIFICATION

RLV100

| RLV200 | RLV400

SERIES
ITEM

5/2, 3/2-Way

FUNCTION
Fluids

Compressed Air & Inert Gases

Port Size

M5 | 1/8 | 1/4

Pressure(bar)

0~8.0

Eff. Sectional Area(mi)-5bar

35 | 126 | 19.0

Ambient & Fluid Temp.

5~60°C(41~140°F)

Lubrication

Not Required(Use 1SO VG324 )

Transition Capacity Graph

1800 T 1]
Il 1 I [
RLV400

—--—RLV200
RLV100

RLV260-PU

RLV260-1RP
out

FAninS

NCNO

ouT

ATH

NC NO

]

Qn( ¢ /min)

pressure (bar)

The Material of Parts

Valve Body : Die-Cast Aluminium = Lever Parts : Steel Plate, POM
Spool @ Aluminium m Pilot Parts : Glass Filled Nylon
Seals : NBR m Cap : Zinc Pressure Die-Cast
Spring : Stainless

|
|
|
|
m Button Parts : Stainless Steel

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

ORDERING NO.

RLV1

1
,—I

. B .
Port Size & Thread Operator / Function
0o Ja PU

. 1 5/2 - Spring Return Pushrod
RLVT: 6 3/2 - Spring Return 1 | NPT 1RP | Two-way Roller Plastic Lever
M5 X 0.8-Port Body | S/2 - Spring Retrn -
TRB | Two-way Roller Bearing Lever
2RP One-way Roller Plastic Lever
RLV2: - :
2RB | One-way Roller Bearing Lever
1/8-Port Body
RLVA4:
1/4-Port Body



(! e

MVolves

‘/// YPC
Port Thread M5, 1/8,1/4

5/2-Way, Pushrod & Roller Lever Operation

Thread-M5 < 0.8

RLV110 | RLV110-1RP| RLV110-2RP

—

Vaild Operation Dist

2.0mn 6.0mn 7.0mm

nVaild Operation Dist

1.0mm 2.0mn 2.0mm

Fr | Pressure for Vaild Operation 2.0k 1.0k 1.0k
v .Okg Okg .Okg
Fz | Pressure for InVaild Operation
RLV110-1RP RLV110-2RP
RLV110-PU RLV110-1RB RLV110-2RB
2 4 2 4 2 4
315 315 315
g
3
= 170
d
/¢M.D
I
b
L9t o
L I S
3 9
; &
A hd o b .
| < |
@E{ 4 Q/ = 4
Sami
5

Thread-M5 < 0.8

RLV160-PU
ouT

NCNO

2-M3x0.5

2-62.8 Hole

3/2-Way, Pushrod & Roller Lever Operation

2-02.8 Hale

85

14.0

435

RLV160-1RP| RLV160-2RP
T | Vaid Operation Dist 6.0mm 7.0mm
Tz | InVaild Operation Dist 2.0mm 2.0mm
Fr | Pressure for Vaild Operation 1.0k 1.0k
Fa | Pressure for InVald Operation s s
RLV160-1RP RLV160-2RP
RLV160-1RB RLV160-2RB
ouT ouT
NCNO NCNO
53.0
48.5
45.0 /MA 0
44.0 ao Fl
g A
2

o 17_5‘\5,5

5/2-Way, Pushrod & Roller Lever Operation

3/2-Way, Pushrod & Roller Lever Operation

17.0

345 “ze5 |

Thread-1/8 Thread-1/8
RLV210 | RLV210-1RP| RLV210-2RP RLV260-1RP| RLV260-2RP
1| Vaild Operation Dist 3.0mm 8.5mm 9.5mm Tr | Vaild Operation Dist 8.5mm 9.5mm
Tz | InVaild Operation Dist 1.0mm 2.0mm 2.0mm Tz | InVaild Operation Dist 2.0mm 2.0mm
Fr | Pressure for Vald Operation 25k 15k 1 5k Fr | Pressure for Vald Operation 15k 15k
Fz | Pressure for Ivaid Operation ke oRe oKe Fz | Pressure for Ivaid Operation R oRe
RLV210-1RP RLV210-2RP RLV260-1RP RLV260-2RP
RLV210-PU RLV210-1RB RLV210-2RB ALV260-PU RLV260-1RB RLV260-2RB
2 4 2 4 2 4 ouT ouT ouT
315 315 315 NCNO NENO NENO =
4 aze El
485 o ] 53.0
914.0
% R27.97 122 /,:l 914.0
E § R % L\ iib J 3 g N
Ny | o g g e
| 7 & g t | g ;
-y < Bl 8 R = i E
d [y o3 g 2 R Rl 4 . &Y
i — o= i ¢ adl
G.‘ i‘li ‘ 21.5_f ©f 1) 11431 ‘ K ) -ol8 )
= 13.0 285 | H g 13.0 285 g l1a.0| 9
180 l18.0]
5/2-Way, Pushrod & Roller Lever Operation 3/2-Way, Pushrod & Roller Lever Operation
Thread-1/4 Thread-1/4
RLVA10 | RLVAI0-1RP| RLVA10-2RP RLV460-1RP| RLVA460-2RP
1| Vaild Operation Dist 3.6mm 9.0mm 10.5mm T | Vaid Operation Dist 9.0mm 10.5mm
2 | InVaild Operation Dist 1.0mm 3.0mm 3.0mm Tz | InVaild Operation Dist 3.0mm 3.0mm
F1 | Pressure for Vaid Operation 35k 15k 15k F1 | Pressure for Vaid Operation 15k 15k
Fa | Pressure for InVald Operation OKE e e Fa | Pressure for InVald Operation oXE e
RLV410-1RP RLV410-2RP RLV460-1RP RLV460-2RP
RLV410-PU RLV410-1RB RLV410-2R8 RLV460-PU RLV460-1RB RLV460-2RB
2 4 2 4 2 4 ouT ouT ouT
315 315 315 NCNO NCNO NCNO
g‘x 27.0
R 62.5
57.0 [-#17.0 62.5
55.0 R85~ 223 57.0 |-#17.0
55.0 4
% of 54.2 . . "
o N K 225 /9‘7 ’ ,
3 o] _aB0 3 3 o A .
& : R E 3 g 7 N
= i 2 i i
; 3/ ; i 3 AT | .
t P é, 3 4—D| A e . . 2 7
ey b : RN AERY N
g ] g s Ly
7.0 ‘




HLV Series

SPECIFICATION
SERIES HLV300 HLV400 | HLV500 HLV600
HLV310-5 Single HLV330-D Closed Center
AN ITEM FUNCTION |5/2, 5/3-Way 5/2, 5/3, 3/2-Way 5/2, 5/3-Way
HLV320-D E)égerlded HLV340-D E‘xhaust éé;ter Fluids Compressed Air & Inert Gases
HLV330-S C|3s‘e§ Center HLV350-D Pressureidefmer Port Size 1/8 | 1/4 | 3/8 | 1/2
HLV340-5 Exhaist Center are Pressure(bar) 0~80
Eff. Sectional Area(mi)-5bar 135 | 18.0 | 35.0 | 90.0
HLV350-S Press:’u;eSCemer B B
T Ambient & Fluid Temp. 5~60°C (41~140°F)
o Lubrication Not Required(Use 1SO VG32# )

Transition Capacity Graph

HLV460-S Single HLV410-S Single HLV430-D Closed Center 9000
ouT T 24 3’ ‘ ! l | 1 [ I
NC NO 315 ‘ 315 8000
HLV460-D Detented HLV420-0 Detented HLV440-D Exhaust Center ———-HLV630-S.D A
ouT dﬁ]ﬂﬂ , 2 4 7000 HLV600-S.D o
EANIRL] S| SEANIINIITAE R P veoo_so =
HLV430-S Closed Center HLV450-D Pressure Center £ 6000 —-— HLV400-S.D P
B it S ol | e HLV300-S.0 -7
NTETZH = 5000 : &
315 315 c
HLV440-S Exhaust Center ]
2 3 4000
315
HLV450-S Pressure Center 3000 ———
RIEIZR 2000 — —
1000
. -
1 2 3 4 5 6 7 8
pressure (bar)
HLV560-S Single HLV510-S Single HLV530-D Closed Center
ouT /j) 2 4 /T ) 2 4
HLV560—DNB%%?ded HLV520-D Detented HLV540-D Exhaust Center The Material of Parts
2y ) ) - L )
AN ANIIDAR N LTS m Valve Body : Die-Cast Aluminium ® Cap : Zinc Pressure Die-Cast
NENO HLV530-S o|3s‘e§ Genter HLV550-D Pressureiégfmer m Spool : Aluminium
A RVIIE=IIVAS m Seals : NBR
HLV540-S Exhajzs‘t‘?}emer o m Spring : Stainless
m |ever Parts : Steel, NBR, Plastic

HLV550-S Press?;?ef(:emer

HLV610-S Single x The specification on each item can be amended without any prenotice to improve a performance.

% The specification on each item can be different from actual specification.
315
HLV620-D Dentended
2 4
.

HLV630-S Closed Center HLV630-D Closed Center
2 4 2 4

5
HLV640-S Exhaiist Center HLV640-D Exhaust Center
2 4 2 4
!

HLV650-S Pressure Center HLV650-0 Pressure’ Cénter
2 4 2 4

EERNIEIRVAS

TR TR

ORDERING NO.

o Jo

HLV3 0 -s
I—l

HLV3 1 5/2 Single S Single Spring Return
1/8-Port Body 2 5; 2 Double 1 [wer D | Double Detented
3 5/3 Closed Center
HLV4: e om o
1/4-Port Bocy 4 5/3 Open Center
5 5/3 Pressure Center
HLV5: 6 3/2 Normally Closed
3/8-Port Body -
HLV6:
1/2-Port Body



®
S8 *

Hand Lever Operated Spool Valves

% YPC
Port Thread 1/8, 1/4,3/8,1/2

9/2-Way, Hand Lever Manually Actuated Valve
Thread-G1/8

HLV310-5

SIMGLE

W TTZR

HLV320-D DOUBLE

S TTZH

@

5/3-Way, Hand Lever Manually Actuated Valve
Thread-G1/8

HLV330-S Closed Center HLV330-0 Closed Center
315 315
HLV340-S Exhaust Center HLV340-0 Exhaust Center
315 315
HLV350-S Pressure Center HLV350-D Pressure Center
NIz
315
PPN
IR

5/2-Way, Hand Lever Manually Actuated Valve
Thread-G1/4

HLVA10-5 Single HLV420-0 Double
2 4
MANIIVARY AVIIVARY
31 315
3

5/3-Way, Hand Lever Manually Actuated Valve
Thread-G1/4 Thread-G1/4

HLV430-5 Closed Center HLV430-D Closed Center HLV460-5

315 315

3/2-Way, Hand Lever Manually Actuated Valve

Single

Double

HLV460-D
out

HLV440-S Exhaust Center HLV440-D Exhaust Center
HLV450-S Pressure Center HLV450-D Pressure Center

EE

2-G1/4

5/2-Way, Hand Lever Manually Actuated Valve
Thread-G3/8

HLV510-8 single HLV520-D Double HLV530-D
2 4 2 4
ANIVARY AVIIVAS
315 315
HLV540-D
80
ety
ol o
9 9 HLV550-D
NN Py
g s Lo\ svae

5/3-Way, Hand Lever Manually Actuated Valve

3/2-Way, Hand Lever Manually Actuated Valve
Thread-G3/8

Thread-G3/8

HLV530-8 Closed Center HLV530-D Closed Center

HLV560-S Single HLV560-D Double
2 4 2 4 ouT. ouT
315 315 NC NO NC NO
HLV540-S Exhaust Center HLV540-D Exhaust Center
315 315
HLV550-S Pressure Cente HLV550-D Pressure Cente
315 315 .

1180
180

5/2-Way, Hand Lever Manually Actuated Valve 5/3-Way, Hand Lever Manually Actuated Valve
Thread-G1/2 Thread-G1/2
HLV610-S Single HLV620-D Single HLV630-S Closed Center HLV630-D Closed Center
2 4 2 4 2 4 2 4
e WIZIATH RIET) v NETZH
315 315 315 315
775 ‘ HLV640-S Exhaust Center HLV640-D Exhaust Center
17 HLV650-S Pressure Center HLV650-D Pressure Center
; 2-G1/2
M
X 11 44
o7 O A
20 | ses




KMV Series

SPECIFICATION
SERIES KMV300 KMV400
ITEM FUNCTION 5/2-Way 5/2, 3/2-Way
Fluids Compressed Air & Inert Gases
Port Size 1/8 | 1/4
Pressure(bar) 0~8.0
Eff. Sectional Area(mi)-5bar 135 | 18.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
Lubrication Not Required(Use 1SO VG32# )
KMV310-S-P
3 Transition Capacity Graph
315
KMV310-D KMV310-D-P 1800
2 4 ‘ 2 4 ]600
315 315 . 1400
c
E 1200 —
= 1000 =
c At
S 800 bt
S
600 e
400 LT
=
200
0
1 2 3 4 5 6 7 8
pressure (bar)

The Material of Parts

KMY410-DA KMV460-S m Valve Body : Die-Cast Aluminium = Cap : Zinc Pressure Die-Cast
AptllA (ENIE m Spool : Aluminium m Standing Plate : Steel Plate
KMV410-D KMV410-D~P KMV460-D m Seals : NBR
2 4 e e m Spring : Stainless
315 ER NC NO m Lever Parts : Steel, NBR, Aluminium
KMV460-DA
. ouT
7{>7NE NG

Standing Plate (Material : SCP1)

S

Ordering Code
KMV-P

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

ORDERING NO.

| | —
[ [
S

s = R s [momme T lowww
al 3

1/8-Port Body DA | Push, Ar Retum

KMV4

1/4-Port Body



<

e

@ggy YP
N~
Knob Push / Pull Manually Actuated Valves Port Thread 1/8,1/4

=

)
P

5/2-Way, Spring Return & Push Pull & Air Return Operation

Thread-G1/8 ITEM | KMV310-S [KMV310-D
T 4.0mm 4.0mm
Fi 4.5kg 2.0kg
KMY310-S KMy310-S-P
315 315
KMV310-D KMV310-D-P KMV310-DA
2 4 2 4 |2 4
| |
515 222.0_ 315 > 515
L] i
i
3 0 E 2 $
E 7 3 : g
b o @ 4 9 s
b o 9 Yy
it ) — i
N <
i = &70 < E o d Fg
E E E N E : E
J = 0 ::f}ii 0" E & 0 ::677
5 9 g i N i S E
C 1 A <‘ ; g
18.0 7.0
23.0 34.0 ol éB ‘ ‘
H 61/8
5/2-Way, Spring Return & Push Pull & Air Return Operation 3/2-Way, Spring Return & Push Pull & Air Return Operation
Thread_G”A ITEM KMV410-S | KMV420-D anead_G1/4
KMV460-S | KMV460-D
T 4.0mm 4.0mm
KMY410-S Kiy410-5-P il 4.5kg 2.0kg KMV460-S
2 4 2 4 ouT
315 315 NC NO
KMV410-D KMV410-D-P KMV410-DA KMV460-D KMV460-DA
2 4 2 4 2 4 ouT . out
315 315 st [Wig\N(‘)tTFD *QNE\NL‘):TFD
‘ 222.0 ‘ :\
$22.0, e
| L] |
@
S
5 E E g E . :
B 3 hi ¢ < b 3 2 B
¥ g E o b 9 Al g
& " 3 5 w) i 9| 8 °
P! z° 8 h B
4 N $fj[ 4 = . (\ ﬁ . ] $——Q J & i C i
1 peld johy ik LIS SN B oo |7 Dl
b ) of | v &l . N P
b I St b B ke o o J )
| ] = g E AT E 2
8.0 | i 26.5 | o 20.0 o
20,0 7.0 - - s 26.5
26.5 34.5 3 61/8
4 G1/8




TMYV Series

SPECIFICATION
SERIES TMV200 | TMV400
ITEM FUNCTION 5/2, 3/2-Way
Fluids Compressed Air & Inert Gases
Port Size 1/8 | 1/
Pressure(bar) 2.0~10.0 0~8.0
Eff. Sectional Area(mi)-5bar 9.0 | 18.0
Ambient & Fluid Temp. 5~60°C (41 ~140°F)
Lubrication Not Required(Use 1SO VG32# )
TMV270 TMV270-P Transition CCIpOCITy Gl'Clph
2000 T T T T ] -
= 1600 [ —— 7uvz00 S T A I
= [ | |=—=— TMV400 —" —
§ 1200 ’____’__, ——
g 880 L i
402 A=
1 2 3 4 5 6 7 9 10
pressure(bar)
The Material of Parts
m Valve Body : Die-Cast Aluminium m Cap : Zinc Pressure Die-Cast
m Spool : Aluminium
m Seals : NBR
m Spring : Stainless
TMV410 TMV410-P TMVAE0 TMV460-P m [ever Parts : Steel, NBR, Aluminium
Standing Plate (Material : SCP1)
Ordering Code
TMV-P
% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.
ORDERING NO.

TMV2

B . B
o [

MV2: :3 gg Zit:rgr:ally Closed T | et P S e
1/6-port Body 7 3/2 Normally Open

T™MV4:

1/4-Port Body



o o

3=

Toggle Lever O\@ro’red Mechanically Actuated Spool Valves

‘/1/ YPC

Port Thread 1/8,1/4

5/2-Way, Toggle Lever Manually Actuated Valve

Thread-G1/8

TMV210

3715

— T __p15.0

=

ofr )
2-83.3 Hole e s-c1/8
2-G1/8 !
\4‘*/(2,4—%0 — = Y (35 port)
P T o e
a1 g
= o of <
8 E R §
437 5 | PSS
o L L
s g e E] feli e
= = I =
i 1
2ol 2-95.3 Hole-|| | |-21.5_] A
13.0]| 25.0 180
18.0 285
34.7
2-84.4 Hole
& ¥ I
& &/
o

FO D D
IRSEIEIR
gr$ DD D
T
T DD Dle
Exiery e
2-24.5 Hole-
0.0 P=19.0
6.0 B=[19.0n+9.0] 6.0
A=[19.0n+21.0]

MF2500-4
5 PORT MANIFOLD BLOCK DIMENSION n=STATION
o] 2 4 6 8 10 12 14
8 | 47.0 | 85.0 | 123.0] 161.0] 199.0 | 237.0 | 275.0
A | 59.0 | 97.0 | 135.0] 173.0 | 211.0 | 249.0 | 267.0

3/2-Way, Toggle Lever Manually Actuated Valve

Thread-G1/8

TMV260
L2 e 8150
EANIIE o,
13
/
T™MV270
2
I AN \
13
o
o
opr <
2-833 HO\E\ I
- 2-G1/8(P,R—Port)
1 \L G1,/8(A—Port) !
s=pd e g |
o 1 09 NE
g A g8 T T <
B g P =] a
E i s fl
I 1
s o 2-83.3 Hole /| ‘ 21.5
13.0| 25.0
285
34.7
2—94.4 Hole
& ¥ [
e o
E
E
o | o | o
1 L o‘\
f N
| DD 1D ;
/ g 99 99 79
2-94.5 Hole~ [T i
0.0, P=10.0 -
6.0 5=19.0n+9.0] 6.0 MF2300-4
A=[19.0n+21.0]
3 PORT MANIFOLD BLOCK DIMENSION n=STATION
o] 2 4 6 8 10 | 2 | e
8 | 470 [ 850 | 123.0] 161.0] 199.0 [ 287.0 [275.0
50.0 | 97.0 [ 135.0] 173.0 [ 211.0 | 249.0 | 287.0

5/2-Way, Togale Lever Manually Actuated Valve

Thread-G1/4

915.0
TMV410
L2 4
375 ]
opr ol
9
- 2-G1/8
2-84.5 Hole- 3-G1/4 (1,3,5-Port)
S (z4—Port) i
® 2 v
pri —
o8 9 9 - % < @‘9@
i o g = o )
E @& S g8 BE=a A o e
9|
] =<4 ERlE s
g |k it |
’*7‘J | 9 \-2-04.5 Hole 9 Qﬁ &
t I
200 | _pd ‘E |
i 29.5 26.5
545
545 2-04.4 Hole
¢ K5
o
AL
44.0
50.0°
S
v 7

o
opr [ opr | opr 3 O
DT D =
bl lelele]e [5 J. ,‘J‘mm[ﬂL
§ d ~Ad A9 A9 B=,1 } €8 W\/ IHEES
e S8 N Y q//
s N MF4500-4
20.0 |P=27.] 6—c1/4 0.0
6.0 B=[27.5n+16.5] 6.0 |16.5|
A=[27.5n+28.5] 27.0
62.
5 PORT MANIFOLD BLOCK DIMENSION n=STATION
o] 2 4 6 [ 0 | 12 14
8 | 71.5 | 126.5] 181.5] 236.5 | 291.5 | 346.5 | 401.5
A | 835 | 138.5| 193.5| 248.5 | 303.5 | 358.5 | 4135

3/2-Way, Toggle Lever Manually Actuated Valve

Thread-G1/4

TMV460
L2

13
TMV470
13
2—94.5 Hole-

o
e g I |
G1/4 |
(A=Port)
& a =
— |
J o b
E as L E
o g == ol
o o ISPS o
~| L o ~| [
B \ = i "
l200] 2-sa5mab/| | |25 ECN
| 30.5 26.5
34.5
54.5
2—-24.4 Hole
4 %)
3
$ ®'
44.0

2-C1/4
/(P,R—Port)

o o r
P P PP
d 9 £q £qg
2-95.5 "o
o /| H MF4300-4
5.0_|P=27.9| 6-61/4-f 130
5.5 B=[27.0n+12.0] 55 27.0
A=[27.0n+23.0] 62.3
3 PORT MANIFOLD BLOCK DIMENSION =STATION
o] 2 4 6 8 10 12 14
B 66.0 | 120.0 | 174.0| 228.0 | 282.0 | 336.0 | 390.0
A 77.0 | 131.0 | 185.0 | 239.0 | 293.0 | 347.0 | 401.0

YPC



FT Series

SPECIFICATION

SERIES | FT410-S | FT510-S FT600-S, D
R FUNCTION 5/2-Way 5/2, 5/3-Way
Fluids Compressed Air & Inert Gases
Port Size L 1/2
Pressure(bar) 1.5~8.0 0~8.0
Eff. Sectional Area(mi)-5bar 19.0 | 35.0 90.0
Ambient & Fluid Temp. 5~60C (41 ~140°F)
Lubrication Not Required(Use 1SO VG324 )

Transition Capacity Graph

9000
I [ I
|| == = = =—=FT610,620-5,D
8000 L —
7000 |—1 FT630,640,650-S,D .
-
< 5000 = = =FT510-§ T
€ ] -
= — — = FT410-S -7
= 5000 (— -
c .
-
(SIS -
- r -
3000 — —
. -
2000 -7 P e
r -~ J -t r= — —— =
1000 - — — ——
T | —]
— —— -
o —
1 2 3 4 5 6 7 8
pressure (bar)

The Material of Parts

m Valve Body : Die-Cast Aluminium m Pilot parts : Glass Filled Nylon
® Spool : Aluminium m Foot Upper Plate : Die-Cast
Single m Seals : NBR Aluminium
2t m Spring : Stainless ®m Foot Low Plate : Zinc Pressure
315 m Cap : Zinc Pressure Die-Cast Die-Cast
FT620-D  Detented
2 4
m % The specification on each item can be amended without any prenotice to improve a performance.
FT630-S CI 315 % The specification on each item can be different from actual specification.
osed Center

315
FT640-S  Exhaust Center
2 4

315
FT650-S  Pressure Center

'S

315

| J —
[ [ |
o Jo

ORDERING NO.

FT4: 1 5/2 Single S | spring Retun
aror Bocy 2 5/2 Double 1| et D | Detented
3 5/3 Closed Center
F15: 4 5/3 Open Center
3/8-Port Body 5 5/3 Pressure Center
FT6:
1/2-Port Body



N ‘/1/ YPC
Foot Treadle Operated Spool Valves Port Thread 1/4, 3/8,1/2

5/2-Way, Foot Valve, Air Return Operation
Thread-G1/4

o st BN
[l S

235

550

5/2-Way, Foot Valve, Air Return Operation
Thread-G3/8

315

68.0

STV HHUUHH“ ““

[YONWOO|

|

o 150 M‘
N IR
d J =) DFT od .
q 3 Hoogl]
- LW} —
5/2-Way, Foot Valve, Spring Return & Detented Operation
Thread-G1/2

85.0

FT610-S Single ’—\[
2 4

315 o
FT620-D Double - .
2 4 5.1/2 = )

AVIIVA=Y T ©)

X
|
I
5
-

315
&
. o o S p 5 o
FT630-5 Closed Center FT630-D Closed Center 944 mR g 9 v /] ‘
2 4 24 ERER: E
| [ | 2o L4 | v & g !
345 a6.0 o
315 315 E 42.0 582
FT640-5 Exhaust Center FT640-D Exhaust Center r

315 315 e
FT650-8 Pressure Center FT650-D Pressure Cent N —
1 i [l ]
2 4 2 4 T
|







COMPBPACT CYLINDER serics
SPEED CONTROLLER serics
AlIR SILENCER scrics

AIR HYDRO CONVERTER scrics
BOOSTER CYLINDER serics

P
-

= Nde o7

| &
-« L
’
ey B e
) N
— Speed Controler  Metal Silencer

Plastic Silencer

Direct Compressed Type
Booster Cylinder

Air Hydro Converter

Precompressed Type
Booster Cylinder



YOIDIA2 Series

SPECIFICATION
Fluids Air
Certified Pressure 15bar
Maximum Operation Pressure 10bar
Minimum Operation Pressure 0.5bar (812, @16 : 0.7bar)
Ambient & Fluid Temp. 5~60°C(41~140°F)
Lubrication Not Required(Use ISO VG32# )
Cussion None
YCQ2B-12x5D~YCQ2B-12x300 YCQ2B-12x5DM~YCQ2B-12x300M Rod End Screw Female Nut(standard), male Nut(option)
YCDQ2B-12x50~YCDQ28-12x30D YCDQ2B-12x50M~YCDQ2B-12x300M
(212, 216, 220, 225) (212, 2186, 220, 225) Tolerance of Screw 2nd grade of KS
Allowance of Stroke Distance +1
Supporting Type Standard
Mounting Pierce(Basic), Both Ends Tap(Option)
The Material of Parts
® Tube : Aluminium Extruding m Snap Ring : HSWRI1
YCQ2B-32x50~YCQ2B-32x500 YCQ2B-32x50M~YCQ2B-32x500M m Pistion : Aluiminium ® Hex Nut : Carbon Iron
E«coqza-32x50~Ycooze—az><soo ;«ggozsgazmomwcnQza—aexsoDM ® Piston Rod : @12~ @ 25-STS304 ®m Bush : DU Bush
232, @ 232, 24
e @32~ @ 80-Carbon Iron ® Head Cover : Aluminium
m Seals : NBR ® Magnhet @ Rubber Magnet

#* The specification on each item can be amended without any prenotice to improve a performance.
# The specification on each item can be different from actual specification.

YCQ2B-50x10D~YCQ2B-50x50D YCQ2B-50x10DM~YCQ2B-50x500M
‘YCDQ2B-50x10D~YCDQ2B-50x50D YCDQ2B-50x10DM~YCDQ2B-50x500M
(250, 263, 280) (250, 263, @80)
ORDERING NO.

YCDG2 B - 20 x 30 D M
J J '_J | |l

[ |
Magnet is Attached or Not m Cylinder Siroke Operating Method Rod Type

¥CQ2 | Non Built-in A | Both Ends Tap 12 : 12mm Cylinder diameter Cylinder Stroke(mm) Port Size & Thread D | Double-acting type Nevmated] Nut(Basic)
YCDQZl Built-in B | Pierce 16 : 16mm 912, 816 5,10, 15, 20, 25, 30 V5X08 M Screw of rod tap

20 : 20mm 920, 925 5,10, 15, 20, 25, 30, 35, 40, 45, 50 ) (Option)

25 @ 25mm 632, 040 5, 10, 15, 20, 25, 30, 35, 40, 45, £0, 75, 100 G1/8

32 @ 32mm 850, 963 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100 G1/4

40 : 40mm 980 10, 15, 20, 25, 30, 35, 40, 45, &0, 75, 100 G3/8

50 : 50mm

63 : 63mm

80 : 80mm



YC(D)Q2 Series

Non Built-in Magnet Dimension Non Built-in Magnet Dimension
YCQ2B-00 X 00D(M) 12, p 16, $H20, 25 YCQ2B-00 < 00D(M) 32, H40, P50, 63, D80

+ 1 1
¥ '/\, 1 i
Outside Dimension
Bore Size(mm)[stoe )] A | B [eD[ E [ F H cler[J[w]L]mM[en] w0 B ORI R EEEE e L e
voQe-12 | 5~30 |205]170] 6 |320]50 [ maxos | 6 | - | - | 5 |35[ 22 |35 [6s0p35 [msxos|ios] - [ - [ 25| - | 8 [e0]92] 4 | msxos[140[105
YoQz-16 | 5~30 |220]185] 8 |38.0]55 [ Max07 [ 8 | - [ - | 6 |35[ 28 [35[650p36 [msx0s8[i00] - [ - [ 29| - |10 [100][92] 5 | mMex1.0]155]120
YcQe-20 | 5~50 |240]195] 10 [468]55 | msx08 | 7 | - | - | 8 |45[ 3 |55 [s00p70 [msxos[i0s] - [ - [ 36 | - | 13 [120]150] 5 [mex125[185[ 140
YoQe-25 | 5~50 |275]|225] 12 [520]55 [ mex10 [ 12| - [ - |10 |50 40 |55 s0op70 [msxos[i10] - [ - [a | - |17 [i50[196] 6 |miox1.25]225[ 175
veQe-32 | 5~100 [300]230] 16 [450] 75 [Mex1.25] 13 | 60 {45 14 |70 [ 34 |55 [soop 70| ci/s [105]aas] - | - [ 18] 22 [205[254] 8 [miaxi15]285[235
YoQe-40 | 5~100 [365]295] 16 [52.0] 80 [mex1.25] 13 [ 69 50| 14 [ 7.0 40 | 55 [s0op 70| cis [1ao]sio] - | - [ 18] 22 [205]254] 8 [miaxi5] 285235
vcQ2-50 | 10~100 [385]305] 20 [6a.0 105 miox1.5] 15 [ 86 [ 70| 17 |80 [ 50 |66 [1100rs0| Gi/a [11s5]mo] - | - [ 22 27 [260]315] 11 [misxi15]335]285
YCQz-63 | 10~100 |44.0]360] 20 [77.0]105 | miox1.5] 15 [103 | 7.0 | 17 |80 [ 60 | 90 [1400p 105| Gi/a [150]sa0] - | - | 22| 27 [260[312] 11 [misx15] 335285
YcQz-80 | 10~100 [530]435] 25 |98.0 125 miex20] 21 [132 [ 60| 22 [100] 77 [11.0]im50p 135] G3/8 [160]ioa0] - | - [ 26 | 32 [325[370] 13 [ Meex15] 435 355
Built-in Magnet Dimension Built-in Magnet Dimension
YCDQ2B-00 X 00D(M) p12, 16, 20, 25 YCDQ2B-00 X 00D(M) 32, 40, 50, H63, P80
i f . oA
=t 7 | | X
& & ' i
1
1
Outside Dimension
Bore Size(mm)[swoe Ragelom) | A | B [#D[ E | F H cleiJy kL[ M]en] w0 B OB R R R R ORI e e ECh e
YcDQe-12 | 5~30 |315[280] 6 [320]| 50 [ m3x05| 6 | - | - | 5 [35] 22 [35 [ 6s0p35 | msx0s [105]355 195 25 | - | 8 [90[92] 4 [ mMsxos [140[105
YcDQ2-16 | 5~30 |34.0[300] 8 [38.0] 55 [max07| 8 | - | - | 6 [35] 28 [35[650r36 | M5x08 [10.0]a15[225] 29 | - |10 [100] 92| 5 | mex1.0 [155[120
YcDQ2-20 | 5~50 |36.031.5] 10 [46.8] 55 [msx08 | 7 | - | - | 8 [45] 36 [ 55| 900p70 [ msx08 [10.5]4s02a5] 36 | - | 13 [120]150] 5 [ Mex1.25 [185] 140
YoDQe-25 | 5~50 |375[325] 12 [52.0] 55 [Mex10 12| - [ - [ 10 [50] 40 [55][900p70 [ msxo08 [11.0]535 275 a0 | - |17 [150]196] 6 [miox1.25]225[ 175
veDQ2-32 | 5~100 |40.0[330] 16 [450] 7.5 [M8x1.25] 13 [ 60 [ 45| 14 [7.0] 34 [ 55 [a0op70 | ci/8 [105]585[315] - | 18 | 22 [e05]254] 8 [ miax15 [285[235
YoDQ2-40 | 5~100 [465[39.5] 16 [52.0] 8.0 [Mex1.25] 13 [ 69 [50] 14 [ 7.0 40 [ 55 [90op70 | ci/s [120]e60as0] - [ 18| 22 [e05]254] 8 [ miax15 [285[235
YcDQ2-50 | 10~100 [485[405] 20 [e4.0]105[mi0x1.5] 15 [ 86 [ 7.0 17 [8.0] 50 [ 66 [n00pso]| ci/a [11.5]s00far0] - [ 22| 27 [260]31.5] 11 [ misx15 [335[285
YCDQ2-63 | 10~100 |54.0 [46.0] 20 [77.0|105[mi0x1.5] 15 [103[ 7.0 | 17 [8.0] 60 [ 9.0 [1400p 105] G1/a [15.0| 90 [a75] - | 22 | 27 [260(31.2] 11 [ misx15 [335]285
YCDQ2-80 | 10~100 [635]535] 25 [98.0]125[miex25] 21 [132]60 | 22 [100] 77 [110[1750p135] c3/8 [16.0]n2s[s7.5] - | 26 | 32 [325]37.0] 13 [ Mezx1.5 [435[355
Male Screw Outside Dimension
Both Ends Tap Dimension
12, d16, $20, $25 $32, $40, $50, D63, D80 Bore Size 0 R
12 | Maxo07 10
16 | M4x07 10
Wi 25 | M6x1.0 17
= 30 M6 X 1.0 17
. 2 | M6x1.0 17
™ ‘ —— 0 | M6x10 17
| \ t f e | R 50 M8 X 1.25 20
{ il I C Both Ends Type 63 MI10X% 1.5 20
= t Oa— 80 |M12x175| 25




YSC Series

SPECIFICATION
SERIES YSC02
R PORT SIZE 1/8 | 1/4
Inside Pressure(bar) 15.0
Pressure Range(bar) 0.5~9.9
Ambient & Fluid Temp. 5~60°C (41~140°F)
Rotation Frequency 8 Cycle
YSC02-1 Weight(g) 80
Free Flux(NI/min) 340
Flowing | Effective Profile Area mi 5
Control | Flux(NI/min) 250
Flowing | Effective Profile Area mi 3.7
Applicable Sylinder Diameter( 8 ) 12, 16, 20, 25, 32, 40, 50, 63, 80
The Material of Parts
m Valve Body : Zinc Pressure m Lock Nut : Brass
Die-Cast m Seals : NBR
m Housing : Brass
m Controll Bar : Brass
m Hex Nut : Carbon Iron

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

YSC02-2

ORDERING NO.

YSC02 -

i G1/8
YSC 02 T o
3 | wTis
P G




YSC Series

1/8,1/4

Pipe Type Speed Controller
Thread- 1/8

Spanner Size

21.0
8.0
3 HH M14x1.0
J go YSC02-1:1/8
q =V
e =2
s o
5 b A@ﬂ ¢ 5 &
18.0 175 18.0
25.5
Pipe Type Speed Controller
Thread- 1/4
Spanner Size
21.0
98.0
< HH M14x1.0
o oo YSC02-2:1/4
g 58 /
f=amm
ol of
] g e A b o 1
. IR 1€

17.5 18.0
25.5

PANEL HOLE




Air Silencernr
Series

SPECIFICATION
METAL SILENCER
PORT SIZE WEIGHT DIAMETER
Type
PT (e) A B © D
ASS 1000 M5 2 4 18 7 7
ASS-1000
ASS 2000 1/8 6 7 24 8 11
ASS 4000 1/4 17 8 32 10.5 15
sos)
ASS 5000 3/8 28 10 39 12 19
’ ASS 6000 1/2 35 14 44 15 22
AS5-2000 AS-2000 PLASTIC SILENCER
T PORT SIZE WEIGHT DIAMETER
, ype
SO PT (8) Al s | c | o
o AS 2000 1/8 5 40 16 14 7
AS 4000 1/4 14 65 21 20 10
ASS-4000 A8=4000 AS 5000 3/8 22 85 25 22 13
AS 6000 1/2 32 95 26 26 14
@ The Material of Parts
m Metal Silencer m Plastic Silencer
ASS-5000 * Body : Copper * Body, Cap : POM
* Element : Powder * Resin Element

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

2

ASS-6000 AS-6000

ORDERING NO.

ASS - 1000

ASS! 1000 | M5x08
Metal Silencer 2000 | PT1/8

4000 | PT 1/4
AS: 5000 | PT 3/8
Plastic Silencer 6000 | PT1/2




w &) %/ YPC

i@ @ e,
Air Silencer Series MS5,1/8,1/4,3/8,1/2

A D
A ) —_
L ‘ ‘
© + 8 C JC ]
, lj leme=se==
PT
PT
PORT SIZE WEIGHT DIAMETER PORT SIZE WEIGHT DIAMETER
MODEL NO. MODEL NO.
T ) A B c D PT (2) A $B | C D
ASS 1000 M5 2 4 18 7 7 AS 2000 1/8 5 40 16 14 7
ASS 2000 1/8 6 7 24 8 11 AS 4000 1/4 14 65 21 20 10
ASS 4000 1/4 17 8 32 10.5 15 AS 5000 3/8 22 85 25 22 13
ASS 5000 3/8 28 10 39 12 19 AS 6000 1/2 32 95 26 26 14
ASS 6000 1/2 35 14 44 15 22




Series

SPECIFICATION
Usage Pressure 3~Tbar
Guaranteed Internal Pressure 10.5bar
Ambient & Fluid Temp. 5~50C
Fluid Tubin Oil, Hydercting Diameter(40~ 100cst)
The Material of Parts
m Base : Die-Cast Aluminium ® Nut Part : STS304
m Tube @ Aluminium Extruding
m |ndicator Tube : Polycarbonate
m Floot : Bubble Resin
m Tie Rod : Carbon Iron

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.
YCT 63x100

YCT 100x100

YCT 160x100
ORDERING NO.
Diameter of Converter
63 63mm
100 100mm
160 160mm
Standard Effective Stroke(Str)
50 100 150 200 250 300 350 400 500 600 700 800
63 [e] O ] @) O @) O 6] O X X X
100 X [®) o @) o @) (6] @) (6] 6] X X
160 X X X @) ] O O [©) O O O O

xExcept to the above stroke statements, stroke design can be according to a quotation.



'/// YPC

Air Hydro Converter

o
[
PR Air—Pipeing
\ \ =
I [auns!
I !
o
(€]
4
4=M6 il Pipeing
4—-M5
@4& o
P T + 2
b E
= T L o —
x J
c
£
MODEL NO.\ITEM AR PIPE (PT) OIL PIPE (PT) A c DA DB DL E
YCT 63 3/8 3/4 104 64 86 89 53 72
YCT 100 1/2 1 139 92 17 124 61 100
YCT 160 3/4 1.1/4 202 144 180 183 59 100
MODEL NO.\ITEM F G H K NL P QB QL T w X Y
YCT 63 36 72 36 45 28 3 86 31 11 6 35 35
YCT 100 40 72 36 65 33 5 118 32 13 6 53 45
YCT 160 40 72 36 93 29 0 180 48 18 6 44 44
'L’ Dimension
MODEL NO.\STROKE 50 100 150 200 250 300 350 400 500 600 700 800
YCT 63 224 294 344 394 444 494 544 594 694 - - -
YCT 100 - 304 354 404 454 504 554 604 704 804 - -
YCT 160 - - - 414 464 514 564 614 714 814 914 1014




Booster Series

SPECIFICATION
SERIES YNBH3-40 YNBH3-60
Direct Compressed Type ITEM YNPH3-40 YNPH3-60
YNBH3-40 (11:1) Heavy Pressure Rate 1M1 25 1
YNBH3-60 (25:1)
Overflowing Oil Gauge 70cit (70cc) 70crt (70cc)
Overflowing Oil Pressure at the Time of 5 5
App\icationg Maximun air Pressure Temperature T7kgf/ crt 175kgf/ cri
Ambient & Fluid Temp. 5~60°C (41 ~140°F)
Operation Oil Cosmorniter 10(cosmo gasolin), Tough spendux oi(made in Aukwang Tongsan Co.)
Fluid Air
Air Oil-Feeding Not Require
Pressure
Department | Pressure 3~Tbar
Oil Tubin oil, Oil Equivalent to ISO VG 32#
Weight(direct pressure) 8.0kgf 10.0kgf
Precompressed Type

YNPH3-40 (11:1)
YNPH3-60 (25:1)

The Material of Parts

m Rod Cover : Die-Cast Aluminium m Tie Rod : Carbon Iron
m Head Cover : Die-Cast Aluminium ®m Hex Nut : Carbon Iron
m Tube : Aluminium Extruding

% The specification on each item can be amended without any prenotice to improve a performance.
% The specification on each item can be different from actual specification.

Air Hydro Converter

YNPH3-40 (11:1)
YNPH3-60 (25:1)

Hydro Cylinder

(©) Compressed Air

( Direct Compressed Type ) ( Precompressed Type )

Heavy Pressure Rate Overflowing

YNBH3[ Direct Compressed Type o [ () 70 [ 7cc
YNPH3|  Precompressed Type 60 | (51) 100 | 1o0cc

ORDERING NO.




‘/// YPC
11:1,25:1

OilHole
4
o 2-G3/8
Air Pipeing | | [
2
=| AL}
G mo} 11.0 1.0 [’H.O
F [of B
A
MODEL NO. A B © F G J K L M
ynera-s0-70 | 378 | 188 Jiezs| o f | ] o | e | s
YNBH3-40-100 | 478 | 238 [212.5
ynera-60-70 | 378 | 188 J1e2s| o [ o o | 137 | e | 1s
YNBH3-60-100 | 478 | 238 [212.5
MODEL NO. A B © F G J K L M
Precompressed Type YNPH3-40-70 | 378 | 188 | 1625
YNPH3-40-100 | 478 | 238 |212.5| o0 | 130 | 196 | 136 | 60 | 14
ynpHa-60-70 | 378 | 188 J1625] o [ o L | s | 9o | 16
YNPH3-60-100 | 478 | 238 |212.5
®5.5HOLE
89.0DP5.5
100.0
#6.5HOLE
®11.5DP7.5 \ 72.0 ol
<l g
2@@ HiH —— h
g@@ 2-G3/8
| AirPipeing -
479511.0& |
G 11.0 11.0 1.0 "H.
F C B
A

p Ending stroke

After finished work, compressor of oil cylinder has been
restored to air pressure by converting valve, and all the
stroke is returned original state, then is prepared to

travel stoke.

=7

T
Vs
;]
[

[SOL 1 OFF / SOL 2 OFF]

SoL1 2| |a
L

m I

SOL 2

» Precompressed Travelling stroke

By using compressor, high compressed oil should be
traveiied to the hydraulic to get output.

» Traveling stroke

By using common converter it has been changed from
“low-compressed air pressure” to “oil pressure” at the

time of 1:1 pressure.

T 7y

2
ANIY

1

® 502

=™ [SOL 1 ON / SOL 2 ON]







	0.Cover letter_2010
	1.YSV series_2010
	YPC_1 10.pdf
	YPC_1 11.pdf
	YPC_1 12.pdf
	YPC_1 13.pdf
	YPC_1 14.pdf
	YPC_1 15.pdf
	YPC_1 16.pdf
	YPC_1 17.pdf
	YPC_1 18.pdf

	2.MCS series_2010
	YPC_1 19.pdf
	YPC_1 20.pdf
	YPC_1 21.pdf
	YPC_1 22.pdf
	YPC_1 23.pdf
	YPC_1 24.pdf
	YPC_1 25.pdf
	YPC_1 26.pdf

	3.SF series_2010
	페이지_ 3.SF series_2010.pdf
	28~39p.pdf
	페이지_ 3.SF series_2010-2.pdf

	4.SIV_SIE series_2010
	5.MCS series_2010
	YPC_2 8.pdf
	YPC_2 9.pdf
	YPC_2 10.pdf
	YPC_2 11.pdf
	YPC_2 12.pdf
	YPC_2 13.pdf

	6.SC_SCE series_2010
	7.SN series_2010
	YPC_2 28.pdf
	YPC_2 29.pdf
	YPC_2 30.pdf
	YPC_2 31.pdf
	YPC_2 32.pdf

	8.Coil Connector series_2010
	YPC_2 33.pdf
	YPC_2 34.pdf
	YPC_2 35.pdf
	YPC_2 36.pdf
	YPC_2 37.pdf

	9.Mechanical series_2010
	YPC_2 38.pdf
	YPC_2 39.pdf
	YPC_2 40.pdf
	YPC_2 41.pdf
	YPC_2 42.pdf
	YPC_2 43.pdf
	YPC_2 44.pdf
	YPC_2 45.pdf
	YPC_2 46.pdf
	YPC_2 47.pdf
	YPC_2 48.pdf
	YPC_2 49.pdf
	YPC_2 50.pdf
	YPC_2 51.pdf
	YPC_2 52.pdf
	YPC_2 53.pdf

	10.ETC series_2010
	페이지_ 10.ETC series_2010.pdf
	102~103p.pdf
	페이지_ 10.ETC series_2010-2.pdf




